f y z
»
. =




— ——— —— ——— -

————— e —— —

BO1

EOF LDZDEBREDOM | | 00010000 770413 POP10 41l

I: VIFICATION

PRODUCT CODE: MAINDEC-1 1-DVKRC-B8-D
PRODUCT NARE: LSI-11 FIS INSTRUCTION TESTS
DRTE: MARCH, 1977

MAINTAINER: DIRGNOSTIC GROUP

AUTHOR : PERVEZ R. ZRKI

MOOIFIED BY: ALAN W. BOSTICK

DATE MODIF IED: JANURRY 1977

oM A S] COMPUTER SYSTEM AND MAY BE COPIED ONLY WITH

™ 1 OM OF THE COPYRIGHT NOTICE. THI

SN € mmomcops?mor MAY NOT BE PROVIDED

OR 0V _ISE MADE AVAI O ANY OTHER PERSON EXCEPT
AND TO ONE WMO AGREES TO THESE

S SUBJECT TO CHANGE
RUED RS R COMMIT-

x
&
23
=
o
bm
g
%5
-

3

HE USE OR RELIABILITY
NOT SUPPLIED BY

$AHDR10VKACBSEQ

00010000

770413

SeQ 0001




M £ W
(] W N e

“9"9‘0‘0‘
[ 7% B o V I

8.1
8.2
8.3
8.4
8.5

CONTENI§
RBSTRACT
REQUIREMENTS
EQUIPMENT
STORAGE
PRELIMINARY PROGRAMS
LOADING PROCEDURE
STARTING PROCEDURE
CONTROL SWITCH SETTINGS
STRARTING RDORESS
PROGRAM AND/OR OPERATOR ACTION
OPERATING PROCEDURE
OPERATIONAL SWITCH SETTINGS
SUBROUTINE ABSTRACTS
ERRORS
ERROR PRINTOUT
ERROR RECOVERY
ERROR COUNTER
RESTRICTIONS
MISCELLANEOUS
EXECUTION TIME
STARCK POINTER
PASS COUNTER
TEST NUMBER
POWER FRIL
PROGRAM DESCRIPTION

COl




- —— A————

2.1

2.2

2.3

4.1

DOl

RBSTRACT

TR S 18 Kot B SO

REGISTER RT LERST ONCE RS THE STRCK

M”"' gy i | *%*%“’3* e

SENVH 8BYTE IS HIGH ). THE

'ffﬁn Forrer il et RTRE e ﬂ?ﬁ”" ’?nc

mvt n sw um TTY REGISTERS HMAVING ADORESSES OF msso-ss
1 T vscrong"gr FOR RECEIVER FOR 1-
. UNDER SUCH A CONDITION IT WILL ALSO BE REQUIRED TO CHANGE
THE RUN TIME OF FIRST PRSS FROM 5 SECONDS TO THE TIME GIVEN
IN SEC. 8.1, AND THE RUN TIME FOR THE LONGEST TEST FROM 3
SECONDOS TO 30 SECONDS.
REQUIREMENTS
EQUIPMENT

LSI-11 STRNDARD COMPUTER WITH FIS OPTION
RAND 4K OF MEMORY

STORRGE
PROGRAM STORAGE - THE ROUTINES USE MEMORY 0 - 17500

PRELIMINARY PROGRAMS
NONE

LORDING PROCEDURE
USE STRANDARD PROCEDURE FOR RBS TRPES.

STARTING PROCEDURE

CONTROL SWITCH SETTINGS
SEE S.1.1 (RLL LOW FOR WORST CARSE TESTING)




4.2

4.3
4.3.1

4.3.2

5.1

5.1.1

EOL
STARTING ADORESS

1 110 8RNI VARV 1id PR2E RolhHBA® e TRE BhoChed ™

BE RESTARTED AT LOCATION RESTRT [I.E. 222) OTHERWISE THE
PROGRRH Cﬁl BE RESTARTED AT 200

PROGRAM AND/OR OPERATOR ACTION

STAND ALONE
1) LONJPROGRMINOHE USIGQBSLORDE
2) SET SWITCHES (SEE SEC S.1.1) ALL LOW EXCEPT BIT 7 FOR WORST
3) TYPE 2006
4) THE PROGRAM WILL LOOP AND “END PRSS™ WILL BE TYPED
AFTER COMPLETION OF EVERY PRSS. HOWEVER TYPE OUT
WILL BE SUPPRESSED IF BIT S OF LOCRTION SENW‘I IS HIGH
S) R MINIMUM OF TWO PARSSES SHOUL DRLMYSBER

UNDER APT

LORD THE PROGRAM, SET THE SWITHES (SEE SEC. S.1.1) AND START

WHEN UNDER APT. WITH BIT S OF SENVM LOW IT WILL BE REQUIRED TO

HAVE A SLU WITH TTY REGISTERS HAVING RDDRESSES OF 176560-66
INTERUPT VECTORS OF 70 FOR RECEIVER AND 74 FOR TRANSMIT-

TER. UNDER SUCY R CONDITION IT WILL ALSO BE REQUIRED TO CHANGE

THE RUN TIME OF FIRST PRSS FROM 5 SECONOS TQ THE TIME GIVEN

IN SEC. 8.1, AND THE RUN TIME FOR THE LONGEST TEST FROM 3

SECONDS TO 30 SECONDS. THE TEST TIMES AND PARSS TIMES ARE SUGGESTED

WITH BIT 7 OF SSWREG. LOW, IF IT IS DESIRED TO ENRBLE THE ITERATIONS

THEN THE TIMES SHOULD BE MULTIPLIED BY R FACTOR OF 256

OPERATING PROCEDURE

OPERATIONAL SWITCH SETTINGS

ALL SWITCHCS LOW EXCEPT SW<11> IS WORST CASE TESTING. WITH BIT
11 OF THE LOCATION SSWREG (I.E. LOCATION 422), HIGH EACH SUBTEST
WILL BE LOOPED UPON UNTIL COMPLETION OF 256 PRSSES OF THAT
SUBTEST. ~END PASS" WILL BE TYPED UPON COMPLETION OF A PASS
?Fa?ri SErTmns PROGRAM. ALTERNATE PASS WILL RUN WITH THE

SWITCH SETTINGS ARE:

R 16 BIT LOCRTION CALLED SSWREG (I.E.
USED TO GIVE THE FOLLCWING OPTIONS BY
RESPECTIVE POSITIONS

]

SEC D004
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l 5.2

| 5.2.1

5.2.2

5.2.3

{ 5.2.4

GOl

BIT s OCTAL VALUE FUNCTION

1S 100000............ HALT ON ERROR

1M 040000............ SCOPE LOOP

13 020000............ INHIBIT PRINTOUT

12 010000............ INHIBIT TRACE TRAPPING

11 004000............ ENABLE ITERATIONS OF SUBTEST

10 002000. ........... BELL ON ERROR

09 001000............ LOOP ON ERROR

08 DOOMXX. .oeevvennn. LOOP ON TEST IN BITS 7 THRU O

AN B BIT BYTE SENVM [I.E. LOCATION 4211 HAS BEEN USED TO DEF INE

THE OPERATING MODE. ALL TYPEOUTS CAN BE SUPPRESSED BY MAKING
Eé&?l% 5;55 SENVM HIGH, IN OTHER WORDS BY PLCING A 20000 IN

SUBROUTINE ABSTRACTS

SCOPt

THIS SUBROUTINE CALL (VIA A TRAP INSTRUCTION) IS PLACED
BETWEEN EACH SUBTEST IN THE INSTRUCTION SECTION. IT RECORDS
THE STARTING RDDRESS OF ERCH SUBTEST RS IT IS BEING ENTERED
IN LOCATION “LADS™. IF A SCOPE LOOP IS REQUESTED, THE
CURRENT SUBTEST WILL BE LOOPED UPON. Sk<ll> IS R'1 INHIBITS
ITERATION OF SUBTESTS. THE CONTENTS OF “LADS™ MAY Bf USED
TO DETERMINE THE LARST SUBTEST SUCCESSFULLY COMPLETED.

HT

THIS ROUTINE (CALLED BY AN EMT INSTRUCTION) PRINTS OUT AN
ERROR MESSAGE (SEE b6.1.). IF SW<9 IS A 1 AND A HLT IS
EXECUTED, THE SUBTEST WILL BE LOOPED UPON UNTIL 256
CONSECUTIVE GOOD PRSSES ARE COMPLETED. T0 INMIBIT TYPEOUTS,
MAKE SW<13> A 1, TO RING THE BELL ON AN ERROR, MAKE SuW<10>
A 1. R HIGH BIT S IN LOCATION SENVM WILL INHIBIT ANY

. TYPEOUTS AND RINGING OF BELLS

T BIT TRAP

IF SW<12> 1S A O, THE T-BIT WILL BE SET ON ALTERNATE
PASSES. WHEN THE T-BIT 1S SET, THE PROCESSOR TRAPS AFTER
EACH INSTRUCTION. THE FIRST INSTRUCTION EXECUTED UPON
TRAPPING IS AN “RTT” WHICH RETURNS TO THE INTERRUPTED
SEQUENCE OF INSTRUCTIONS. THIS SEQUENCE IS CONTINUED UNTIL
THE END OF THE PROGRAM 1S REACHED.

TRAP CATCHER

SEG 000S

—




5.2.85

6.1

6.2

HO1

R ".+2" - "HALT" SEQUENCE IS REPERTED FROM 0-?76 TO CATCH
ANY UNEXPECTED TRAPS. _THUS ANY UNEXPECTED TRARPS OR
INTERRUPTS WILL HALT AT THE VECTOR +2.

FLORTING ERROR TRARP (TO 244)

IF A FLOATING POINT ERROR (QVERFLOW, UNDERFLOW, OR DIVIDE BY
ZERO) WRS EXPECTED, THE VECTOR WILL POINT TO A UNIQUE ISR
WITHIN THE SUBTEST WHERE THE ERROR OCCURRED WHICH CHECKS THE

DATA ON THE STACK(S). IF AN ERROR WAS NOT ANTICIPRTED, AN
ERRONEOUS TRAP WILL BE DETECTED IN TRAPER.

NOP

A NOP IS PLACED JUST BEFORE ERCH FIS INSTRUCTION. THIS ALLOWS
THE OPERATOR TO PATCH IN A HALT FOR DEBUGGING PURPOSES

ERRORS
ERROR PRINTOUT

THE FORMAT IS AS FOLLOWS:
ERRNM ADR PSSP ANS1I ANS2 ANS3 ANSH  ANSS  ANSH

WHERE

ERRNM = ERROR NUMBER

ADR = RDDRESS OF ERROR HLT

PS = PROCESSOR STATUS

Sp = CONTENTS OF STACK POINTER REGISTER

ANS1-6 = ERROR DRTR RERD FROM THE STACK(S). FROH 0706 OF
THESE MAY ¥£ TYP;D ospsnoxnc ON THE NUMBER
FOLLOWING THE HLT+3 WOULD TYPE ANS1 THRU
ANS3. HLT (BY ITSELF) HOULD STOP RFTER ERRNM, RAOR,
PS, AND SP.

TO FIND THE FRILING TEST, LOOP AT THE LISTING ABOVE THE

ADDRESS TYPED. 1IN MOST éng S THE COHHENT Exgé0§ THE HLT

TELLS WHAT WAS BEING CHECKED AND WHAT WA ¢ ED ALL

PRINTOUTS WILL BE SUPPRESSED WHEN BIT S OF LOCATION

SENVM IS HIGH. WHILE RUNNING UNDER APT THE DIARGNOSTIC

WILL NOT SUPPORT SPOOLING OF CONSOLE OUTPUTS.

ERROR RECOVERY

SEQ 0006




6.3

8.4

8.5

101

ERROR COUNTER

AN ERROR COUNT IS KEPT IN LOCATION “"ERRORS™. IT CAN ONLY
BE CLERRED FROM THE CONSOLE OR 8Y RELOADING THE PROGRAM.
RESTRICTIONS

NONE

MISCELLANEOUS

EXECUTION TIME
DUE TO THE RANDOM CHARACTERISTIC OF THE INTERRUPT TESTS THE
EXECUTION TIME CAN BE HALF A MINUTE OR MORE. HOMEVE

NORMALLY “END PASS™ WILL BE TYPED WITHIN 40 SECONDS utm ALL
SMITCHES DOWN. EXECUTION TIME WILL INCRERSE BY R FACTOR OF 256
WHEN ITTERATIONS OF EACH SUBTEST ARE ENABLED.

STACK POINTER

STACK IS INITIALLY SET TO 600

PASS COUNT

A 16 BIT LOCATION *$2ASS™ (I.E. LOCATION 406) IS USED TO KEEP

PRSS COUNT. IT CAN HE CLERRED BY RESTARTING THE PROGRAM AT 200
TEST NUMBER

R 16 BIT LOCATION “STESTH™ (I.E. LOCQTION 404) IS USED _TO KEEP TRARCK
OF THE TEST MNUMBER, UFrSR BYTE OF THIS LOCATION GIVES THE ITERATION
NUMBER AND THE LOWER BY(E THE TEST THAT WAS BEING EXECUTED

POWER FAIL

ERCH TEST CAN BE POWER FRILED WITH NO ERRORS. TO USE,

START THE TEST RS USJRL AND POWER DOMN THEN UP AT ANY' TIME.

THE PROGRAM SHOULD TYPE "POMER™ AND CONTINUE TO RUN FROM WHERE

THE POWER FAIL INTERRUPTED WITH NO OTHER ERROR TYPEOUTS.

PROGRAM DESCRIPTION

THIS PROGRAM TESTS ALL THE FIS INSTRUCTIONS OF THE LSI-11
(FRDD, FSUB, FMUL, AND FDIV). ALL REGISTERS ARE CHECKED TO SEE

SEG 0007




JO1

IF THEY FUNCTION PROPERLY RS THE STRCK POINTER. THE PROGRAM
m’:f'c’!r?w SUBTESTS (THE CODE BETTIEEN ETSC(T)PE ;S‘E%Eﬂsg%%T
ST SE YD A oRoses eayAleltr to'le R 226 11
SW(9> SET TO A 1 ENAQBLES LOOP ROR. THE LOCRTJON SICNT
CONTRINS THE &TERRTIM COU'!T FN) HE LOCATION STSS N

CONTRINS T N.t?i LT STS SHOULD Bt
RUN St P?FI.LY BY STARTING RTW BY STARTING AT THE

ascxmmc OF THE SUBTEST. TO LOOP ON R PRRTICULAR suarssr
PUT THE TEST NUMBER (SEE LISTING) IN THE RIGHT BYTE OF THE
LOCATION SSWMREG AND SW(B> SET TO A 1. THIS TEST WILL BE LOOPED
UPON UNTIL SW(B> IS SET TO A O OR THE RIGHT BYTE IS CHANGED.
62 UAEE TEST IS NON-EXISTENT, THE PROGRAM WILL BE RUN RS

SEG 0008
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DWACB MACYLl 27(1006) 17-JRAN-77 15:1M

DVKRCB.P11

R

e

RIS

REGREaa0se

LIY 2%

Y 4

13-JAN-77 15:28 TRBLE OF CONTENTS

SHITCH OPTIONS AND ARSSIGNMENTS

ACT11 HOOKS
VECTOR AREA, STACKS, ANSWER AREAR, AND SETUP ROUTINE

APT MAILBOX-ETABLE
RPT PARAMETER BLOCK
?TMT%ENS;TG' THE PROGRAM

O
-
-
2

TEST FLOATING RDD INSTRUCTION WITH UNDERFLOW
TEST FLORTING ADD INSTRUCTION WITH OVERFLOW
FSUB TEST SECTION

TEST FLOATING SUB. INSTRUCTION WITH UNDERFLOW
TEST FLOATING SUB. INSTRUCTION WITH OVERFLOW
FMUL TEST SECTION

TEST FLOATING MUL. INSTRUCTION WITH UNDERFLOW
TEST FLOATING MUL. INSTRUCTION WITH OVERFLOW
FDIV TEST SECTION

TEST FLOATING DIV. INSTRUCTION WITH UNDERFLOW
TEST FLOATING DIV INSTRUCTION WITH OVERFLOW
TEST FLOATING DIV. INSTRUCTION FOR DIVIDE BY ZERO

TEST OF ALL FIS RT ONCE
SS_ERROR

RDORE TEST
INTERUPT ABORT TEST SECTION
END OF PRSS ROUTINE

POP SUBROUTINES
NE (ERROR TYPEOUT)

SEQ 0009
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DVKARC8 MACY1l 27(1006) 17-JAN-77 1S:14 PRGE 3
DVKRCB.P11  13-JAN-77 15:28
g
y rx TLE ovxnca
g ,!COPYRIGHT C) AUGUST 1975
b ,:oxc TAL EQUIPMENT CORP.
g * MAYNARD, MRSS. 01754
13 wnocann BY PERVE? ZRKI
11 mus PROGRAM WAS RSSEMBLED USING THE PDP-11 MAINDEC SYSMAC
ig ;pncmcs (MAINDEC-11-0ZQRC-8), JULY 11,1975.
14 000001 hn =1
{g 160000 $SWR=160000 : sHALT ON ERROR, LOOP ON TEST, INWIBIT ERROR TYPOUT
17
18
19
20
21
22
23
24
25
26
27
28
29
30
3]
R
g : SWITCH USE
35 : 8 LOOP ON TEST IN SW<7:0)
3% : ] LOOP ON ERROR
37 : 10 ! -
38 : 11 INHIBIT 1 Emnons
39 : 12 INHIBIT TRACE TRAP
40 ; 13 INHIBIT ERROR TYPEOUTS
Y] : 14 LOOP ON TEST
:g : 15 HALT ON ERROR
44 : ERROR MESSAGE FORMAT:
::56 :  ERRNM ADR PSW SP ANS1 ANS2 ANS3 ANSY ANSS ANSH
Y7 ' WHERE ERRNM= ERROR NUMBER
48 : ADR = ADDRESS OF “HLT* INSTRUCTION + 2
49 : PSW = PROCESSOR STATUS WORD
50 : SP =  STACK POINTER
: RIS e R LSS i o e
53 : NUMBER noozos?o THE "HLm"' Syt Al NE 5% n8"
sg ; “HLT+1" TYPES ANS1, “HLT+2" TYPES aNS1 AND ANS2, e’rc
25 104000 HLT=  EMT
57 000000 RO= %0




DVKRCB

MRCY11

DVKRCB.P11

20 RBBIRREBREBISIAAZINNISEIGHELRZE S8

i 3

e7(1006) 17-JAN-?7 1S:14 PAGE Y4
13-JAN-77 15:78 SWITCH OPTIONS AND RSSIGNMENTS

000001 Ri= %1

000002 Re= %2

000003 R3- %3
RS- %S

00000S TTY= %5

000006 SP= “b

000007 gﬁ; c Z'-?{

204400 CROPES. Trop

100000 SW1S= 100000

040000 SHiY= 40000

020000 Ski3= 20000

m SHie= .0000
SWll= 4000

002000 SWi0= 2000

001000 SHO9= 1000

00 SKO8= 430

000004 TYyPE= 10T

000001 = 1

000001 SF= 1
s EEEHHHHHEEEE NI I3 3

000000 .= 0 : TRRP CATCHER FROM 0 - 776
s SHHEEIHHHHEEHE I HEHHNEHHHHHEEH I HHEEE I HHE R R R R RN
.SBTTL ACT1] HOOKS
:HOOKS REGQUIRED BY ACTI1

001000 $SVPC=. :SAVE PC

000046 =46

g%g SESNDFDE :31)SET LOC.46 TO ADDRESS OF SENDRD IN .SEOP

000000 WORD O ,,E)SET LOC.52 TO ZERO

001000 .=SSVPC RESTORE PC

SEQ 0012
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DVKACB MACY1l 27(1006) 17-JAN-?? 15:14 PAGE § SEe 0013
DVKRCB.P11  13-JAN-77 15:28 VECTOR ARER, STACKS, ANSWER AREA, AND SETUP ROUTINE
95
% 000400 .z 400
?’Z ' F 905096 30 38 38 95 98 36 98 38 3538 36 38 698 96 96 96 34 36 96 96 3638 36 38 36 3 8 3698 3036 36 36 36 36 6 36 36 36 9% 3 9 9 30 3 3 0 36 % 3 03 % % % ¥ % %
133 .SBTTL APT MAILBOX-ETABLE
101
102
103 .EVEN
104 000400 SMAIL : < :APT MAILBOX
105 000400 000000 $MSGTY: .WORD  AMSGTY ;;MESSAGE TYPE CODE
106 000402 000000 SFATAL: .WORD AFATAL ;:FATAL ERROR NUMBER
107 0OOMON 000000 STESTN: .WORD ATESTN ;;TEST NUMBER
108 00006 000000 SPASS: . MWORD ¥ COUNT
109 000410 000000 SDEVCT: .WORD ADEVCT ;:DEVICE COUNT
110 000412 000000 SUNIT: .WORD AUNIT ::I1/0 UNIT NUMBER
111 000414 000000 SNSGRD: . WORD : | MESSAGE ADDRESS
112 000M16 000000 SMSGLG: .WORD AMSGLG ::MESSAGE LENGTH
113 0O0N20 SETABLE s tAPT ENVIRONMENT TASLE
114 000420 000 SENV: .BYTE (D ;;mxmt BYT
115 00042l 000 . .BYTE RENVM ;;ENVI T MODE BITS
116 000422 000000 SSWREG: .WORD ASWREG ::APT SWITCH REGISTER
117 000424 000000 . .WMORD RUSWR ;:USER %rcms
118 000426 000000 SCPUOP: .WORD ACPUOP ::CPU TYPE,OPTIONS
119 S ¥ 3175 15-11=CPU TYPE
120 ‘% 11/04=01, 11/05=02, 11/20=03, 11/40=04, 11/45=05
121 ‘% 11/70=06.PDQ=07, =10
122 1y BIT 10=REAL TIME' CLOCK
123 ‘% BIT C=FLOATING POINT PROCESSOR
124 ‘¥ BIT B=MEMORY MANRGEMENT
125 000430 $ETEND:
126 JEXIT
{ Eag H Z 34 533 33 2635 303 36 96 30 96 36 35 96 96 3 96 3% 34 36 96 36 9696 36 3% 36 3% 36 9 36 35 96 3¢ 36 3% 36 3¢ 9 36 3 3 3 3 ¥ 38 3 3 36 3 3¢ 3 3 3 3% %
129 .SBTTL APT PARAMETER BLOCK
130 :SET LOCATIONS 24 AND 4 RS REQUIRED FOR APT
131 lll!“lﬂ!!lllll“llll“!“llli!lllli!lill!!ll!ll!lllii!i!**!*!
132 000430 .$X=.  ;:SAVE CURRENT LOCATION
133 000024 =4 ;:SET POMER rnn. T0 POINT TO START OF PROGRAM
134 000024 000200 eoo iFOR APT START LP
135 000044 :POINT TO APT INCIRECT noonsss PNTR.
136 000044 NO0Y30 snpnoa,,Po NT TO APT HEADER BLOC
137 DO0430 §X ::RESET LOCATION COUNTER
138 !l!!llﬂ!!!!muilllllll“l&ili&“llll!llﬂl!llll!l!llllil!!!ill
139 :SETUP RPT PRRAMETER BLOCK RS DEFINED IN THE APT-POP1l DIAGNOSTIC
i:? : INTERFRCE SPEC.
12 000430 SAPTHD:
143 000430 000000 SHIBTS: .WORD O ::TWO HIGH BITS OF 18 BIT MAILBOX ADOR.
144 000M32 000400 SMBAOR: .WORD SMAIL  ;:RODRESS OF APT MAILBOX (BITS 0-15)
145 000434 000003 §TSTM: .WORD 3 ::RUN TIM OF LONGEST TEST
14 000N36 000005 . SPASTM: .WORD § }iRUN TIME IN SECS. OF 1ST PRSS ON 1 UNIT (QUICK VERIFY)
147 00OM40 000000 SUNITM: .WORD 'RDDITIONAL RUN TIME (SECS) OF A PASS FOR EACH ADOITIONAL UNIT
148 00OMM2 000014 "WORD  SETEND-SAAIL./2 » LENGTH MAILBOX-ETABLE (WORDS)
149 000430 ‘= $APTHD
150 000430 HLTADS :
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| DWRCB MACY!l 27(1006) 17-JAN-77 1S:14 PRGE b
DVKRCB.P11 13-JAN-77 15:28 RPT PRRAMETER BLOCK

151 000432 .= HLTRDS+2
152 000432 SPSW:

183 000434 .= $PSK+2
1SN 000434 $SP:

155 000436 .= $SP+2
1S6 000436 ANS1:

157 000440 = ANS1+2
1S58 000440 ANS2:

159 000442 .= ANS2+2
160 0002 ANS3

161 000444 .= ANS3+2
162 0004 000000 ANSY: O

163 000446 000000 ANSS: 0

164 0004S0 000000 ANSe: O

165 % 000000 000000 0C0000 o,0,0,0

166 000000

167 000462 000000 ORS: O

168 000464 00024 FISVEC: 2%

169 000466 000246 FISLVL: 246

170 000NM70 000000 LARDS: O

171 000 RETURN: .RSCIZ <l&><¢1S

8
n
:

172 000475 0.~ 020012 020040 SPACE: .ASCIZ (<1S»<l»”
173 000SC2 oy

174 000S03 Uo0 SICNT: .BYTE O
175 .EVEN
176 000SOM 000007 $BELL: _WORD 7
177 000506 000000 SAVTPS: O

178 000S10 000000 STRCKO: O

179 000Si2 000000 STACK2: 0

180 000S14 000000 STACKY: 0

181 000516 000000 STACKG: 0

182 000520 000000 000000 000000 STRCKB: 0,0,0,0,0
183 000526 000000 000000

184 000532 000000 STAK10: O

185 000511 STRCK1 = STARCKO+1
186 000S34 000000 TEMP: O

187 000536 000000 TIMES: O

188 000S40 000000 TYPCNT: O

189 000S42 000006 YESRT: RTT

190 000000 .PR: 0

191 000S46 000064 TTYOUT: b4

192 000SS0 177564 $TPS: 177564
193 000552 177566 $TPB: 177566

; PROCESSOR STATUS WORD
; STRCK POINTER
; FIRST ANSWER (SEE CODE)

:NON-%6 STACK BUFFER

;FIS TRAP VECTOR RDDRESS

;RETURN AND LINEFEED
sRETURN AND 3 SPACES

;RING R BELL

:LOC TO SAVE TELEPRINTER STATUS
NON %6 STARCK NORMAL LIMIT

*NON-7%6 STACK BUFFER

;RETURN FROM TRACE TRAP
:COUNT AND SWITCH

; TTY PRINTER STRTUS REG.
:TTY PRINTER BUFFER REG.

SEQ 0014
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000214
000220

000222

000330

000014
000024

0000Qu
000420

14 Pngs 7
RPT PARAMETER BLOCK
¢ IR I I I I I I R R R R R R R R RN E
.SBTTL STARTING OF THE PROGRAM

= 200
MOV 81, TIMES ;NUMBER OF ITERATIONS IN THE FIRST PRSS=1
MoV O?QEVCT,RO ;PREPRRE TO INITIALIZE THE PROGRAM
2s: CLR =(RU)
CMP sSMAIL,RO
BNE 2s

RESTRT: JMP BEGIN ; JUMP TO STARTING RDDRESS OF PROGRAM

3

BEGIN: MOV 8BEGIN, SP : INIT TACK PQINTER

MOV ceigﬁv, 1Y 5&5* iﬁk&i‘:inp vsc?oa
MOV eSTYPE, 9820  ;SET UP VECTOR 20
MOV sSPURON ,3824  :SERVICE POWER OOWN ROUTINE FOR ANY FUTURE

: POWER DOWN
130 RO 'SET RO TO VECTOR 30
MOV siLts, (0)+  ;SET EMT VECTOR
MOV 83490, (0)+
MOV $SCOPES, (0)+  ;SET TRAP VECTOR
MOV 83490, ' (0)

18: MOV 86, I :RESTORE TIME-OUT VECTOR
BITB 81 ¥SENV *ARE WE UNDER RPT ?
BEQ 2 :IF NOT THEN GO _TO 28
MOV $$TPB+2, R0 : OTHERWISE SET FOR THE OTHER SLU
MOV 8176566, - (RO)
MOV 8176564 - (RO)
MOV 874, -(R0)
2s: CLR STESTN

CLR LADS ; CLERR LOOP RDDRESS

Ste 0015
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| DVKACB MACYIl 27(1006) 17-JAN-77 1S:14 PAGE 8 SEQ 0016
| DVKACB.P11  13-JAN-77 15:28 FROD TEST SECTION
!
§§ lillI'Illllillll!llllll!l"lllll!I!lll!llllll!lﬂl!lll!l!!{llll!lil!iiill
235 :TEST 1: FROD u.sx 11 n.om§§§ IN m% Eom
&5 i Rg0003,q00000 + 0R0A St §8°°8°
g% ; SEBEHREIEIE T I 3633323 03869636 36 3 35 3 3 38 3 3596 369 369 3 3 3 3 3% 3 3 3 3 3 3 45 3 9 3 3% 3 % 3 % % %2 %% E ¥ X
240 SCOPE
241 000E uc;gg TST1: JSR RS PUSHR  ;PUSH 4 WORDS ONTO !;0 STACK, SET PRIORITY
545 ROO7S8 - HORB 888888'888%8 SO0 QPERAND O I0F
244 000736 - WORD Paocg Rgga PR*ORITY LEVEL
245 %;u”o " WORD mnpsn 340 FIS
2239 MOV eSTACKG, RO UP STACK POINTER
248 000750 NOP
egg 000752 FROD RO FLORTING ADD ON THE RO STACK
261 000754 004767 015244 JSR PC POPR op (D
262 000760 010067 177450 MOV $SP VE« gncx POINTER“
253 000764 122767 000004 177440 CHPB 0009 $PSUW (EXCEPT T BIT)
254 000772 001402 BEQ
265 000774 104000 HLT PSNOTEOURL 70 0OY
aegs_}mnmmx 1 :THE ERROR NUMBER 1S 1
258 001000 022767 000514 177426 CMP $STACKY, SSP :CHECK THE STACK POINTER (RO)
259 001006 001402 BEQ o3 :BRANCH IF OK
260 001010 104000 HLT ! STACK POINTER (RO) NOT EQUAL TO 8STACKY
S‘gé 001012 000002 2 :THE ERROR NUMBER IS 2
263 001014 DOS767 177416 ST ANS1 : CHECK FIRST HALF OF ANSWER
264 001020 001402 BEQ .46 :BRANCH IF OK
265 001022 104002 HLT+2 nn51 NOT EQUAL TO 000000
aeggoowaqoomoa 3 : THE ERROR NUMBER IS 3
268 001026 005767 177406 ST ANS2 crccx sgcom HALF OF ANSWER
g;g 001032 001402 BEQ .46
001034 104002 HLT+2 nnsa NOT EQUAL TO 000000
S;é 001036 000004 4 : THE ERROR NUMBER IS Y
273 DO10M0 122767 000001 177336 ENDI: CMPB ol STESTN ; CHECK T!i TEST NUMBER
274 001046 001402 BEG .+b :BRANCH IF
275 001050 104000 HLT ' WRONG resr' PC MUST HAVE FOULED UP.
g;g; 001052 (00000S 5 ! THE ERROR NUMBER IS S
278
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| 279
280 l!llll!l!lll!l!ll!llINIllil!l"l!l*i!I'l!iil!ll!!ll!!!!llll!!lllll**l!lill*
281 STEST 2: FADD (LSI-11 FLOATING ADD INSTRUCTION)
282 : 000000, 000000 + 152626, 052524 = 152625, 052524
283 : PS = 0i0 smcx POINTER = R3
% i*llllllil!!ll!ii!l"lli!lllnlIIl!!l!l!l!llll!ll!l!lllllllﬂlll!ll!!ll!llll!
286 001054 104400 SCOPE
287 001056 004567 015110 1ST2: JSR RS PUSHR  ;PUSH 4 WORDS ONTO R3 STACK, SET PRIORITY
288 001062 152626 (052524 _MORD  152525,052524  ;SECOND OPERAND ON TOP
289 001066 000000 .WORD  0DOODCO,000000 ;FIRST ON BOTTOM
290 001072 0000M0 JHORD  0MO :PROCESSOR PRIORITY LEVEL
291 001074 016442 000340 "WORD  TRAPER, 340 :FIS TRAP VECTOR
% 001100 012703 000S10 MOV 8STACKO, R3 :GET UP STACK POINTER
294 001104 000240 NOP
g 001106 075003 FROD  R3 :FLOATING ADD ON THE R3 STACK
297 001110 0ON767 015110 JSR PC POPR THE ANSWER 3
298 001114 010367 177314 MOV §SP snvs =STACK POINTER
299 001120 122767 000010 177304 CMPB colo $PSH  ;CHECK PS (EXCEPT T BIT)
300 001126 0014G2 BEQ :BRANCH IF OK
30] 001130 104000 HLT :PS NOT EQUAL TO D10
% 001132 000006 b : THE ERROR NUMBER IS 6
304 001134 022767 000SI4 177272 CMP 8STACKY, SSP :CHECK THE STRCK POINTER (R3)
305 001142 001402 BEQ .46 ' BRANCH IF 0K
306 001144 104000 HLT 'STACK POINTER ma) nor EQUAL TO #STACKY
ﬁ 001146 7 : THE ERROR NUMBER
309 001150 022767 152525 177260 CMP 8152525, ANS1 : CHECK FIRST HALF OF ANSMWER
310 001156 001402 BEQ .+ *BRANCH IF OK
311 001160 104002 HLT+2 'ANS1 NOT EQUAL TO 152525
315 001162 000010 10 : THE ERROR NUMBER 15 10
314 DO116M 022767 0S2524 177246 CMP 8052524, ANS2  ;CHECK SECOND HALF OF ANSWER
315 001172 001402 BEQ .46 BRANCH IF OK
316 001174 104002 HLT+2 :ANG2 NOT EQUAL TO 052524
gig 001176 000011 11 : THE ERROR NUMBER IS 11
319 001200 122767 003002 177176 END2: CMPB &2 STESTN ;CHECK THE TEST NUMBER
320 001206 001402 BEQ .+b *BRANCH IF
321 001210 104000 HLT : WRONG rssr' PC MUST HRVE FOULED UP.
ggg 001212 000012 12 ' THE ERROR NUMBER 15 12
324
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ll!ll!ll!l!llllllllllllll"lll!!!lllllll!lllllll!ll!lillll!&iilllllil!*
s TEST 3 rnoo (LSI 11 FLOATING ADD INSTRUCTION)
: 0200,000000 = 040400, 000000
: obo STACK POINTER = Rl
!l!!lllIINI!l!!l'i!!!lllll!“llllllllll!ll!l!lll!l*lllll*l*l!*lllllll!lli
104400 SCOPE
004S67 014750 TST3:  JSR RS PUSHR  ;PUSH 4 WORDS ONTO n1 STACK, SET PRIORITY
040200 000000 .WORD  040200,000000 ;SECOND OPERAND ON
0N0200 000000 .WORD (040200,000000 ;FIRST OPERAND on eorron
.WORD  0MO : PROCESSOR PRIORITY LEVEL
016442 000340 .WORD  TRAPER, 340 'FIS TRAP VECTOR
012701 000S10 MOV 8STACKD, R1 :SET UP STRCK POINTER
000240 NOP
075001 FROD Rl :FLORTING ADD ON THE Rl STACK
004767 014750 ISR PC POPR  ;POP THE ANSWER
010167 177154 MOV §SP :SAVE “STACK POINTER“
105767 177146 1618 sPSu :CHECK PS (EXCEPT T BIT)
001402 BEQ :BRANCH IF OK
104000 HLT PS NOT EQUAL TO 000
000013 13 : THE ERROR NUMBER IS 13
022767 000514 177134 CMP $STACKY, $SP : CHECK THE STACK POINTER (R1)
001402 BEQ .46 *BRANCH IF OK
104000 HLT srncx POINTER (R1) NOT EQUAL TO #STACKY
000014 14 ' THE ERROR NUMBER IS
022767 040400 177122 CMP 040400, ANS1 : CHECK FIRST HALF OF ANSWKER
001402 BEQ .46 :BRANCH IF OK
104002 HLT+2 nnsx NOT EQUAL TO 040400
000015 15 : THE ERROR NUMBER IS IS
005767 177112 ST ANS2 : CHECK SECOND HALF OF ANSWER
001402 BEQ . +6 BRANCH IF OK
104008 HL . +2 *ANS2 NOT EQUAL TO 000000
000016 16 ' THE ERROR NUMBER IS 16
122767 000003 177042 END3: CMPB 83 $TESTN ;CHECK THE TEST NUMBER
001402 BEQ ped *BRANCH IF OK
104000 HLT WRONG TEST! PC MUST HAVE FOULED UP.
000017 17 : THE ERROR NUMBER IS 17
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.37l
372 lll!iilil!l!llll!llIlllll!llllllll!l!!il!!llillllllll!!!!!l!lilll!ll!l!
373 s TEST 4: FAOD (LSI-11 FLOATING ADD INSTRUCTION)
7 : 077777 177777 + 177772, 177777 = , 000000
375 : o0y STACK POINTER = %uuuu
% lllli!llllilll!ill!l!ll!lll!!i!!!l*!!il!l!*!l!lllllll}l!l!Illll»llli!!!l
378 001350 104400 SCOPE
379 001352 004567 014614 TST4:  JSR PUSHR  ;PUSH 4 WORDS ONTO R2 STACK, SET PRIORITY
380 001366 177777 177777 WORD 177777 177777  ;SECOND OPERAND ON TOP
381 0013 077777 177777 .WORD Q77777.177777  FIRST OPERAND ON BOTTOM
382 0013%6 000100 .WORD 100 : PROCESSOR PRIORITY LEVEL
383 001370 016442 000340 - WORD mapsn 340 :FIS TRAP VECTOR
g 001374 012702 000S10 MOV $STACKD, R2 'SET UP STACK POINTER
386 001400 000240 NOP
% 001402 075002 FAOD  R2 :FLOATING ADD ON THE R2 STACK
389 00I140M DOY767 Ol4614 JSR PC POPR  ;POP THE ANSKER
390 001410 010267 177020 MOV §SP s SAVE “STACK PO;NTER“
391 001414 122767 000004 177010 CMPB .ooq §PSW  ;CHECK PS (EXCEPT BIT)
392 001422 00[4C2 BEQ :BRANCH IF
393 00142% 104000 HLT :PS NOT EounL T0 004
g 00i426 000020 20 : THE ERROR NUMBER IS 20
39% 001430 022767 000514 176776 CMP $STACKY, §SP s CHECK Tl-E STACK POINTER (R2)
397 00143 001402 BEQ pea BRANCH IF OK
398 001440 104000 HLT : STACK POINTER (R2) NOT EQUAL TO #STACKY
% 001442 000021 21 : THE ERROR NUMBER IS 21l
401 001444 00S767 176766 ST ANS1 :CHECK FIRST HALF OF ANSWER
Y32 001450 001402 BEQ +b :BRANCH IF 0K
403 001452 104002 HLT+2 “ANS1 NOT EQUAL TO 000000
:& 001454 (000022 22 THE ERROR NUMBER 1S 22
406 001456 005767 176756 18T ANS2 s CHECK SECOND HALF OF ANSWER
407 001462 001402 BEQ +b :BRANCH IF OK
408 001464 104002 HLT+2 :ANS2 NOT EQUAL TO 000000
3(113 001466 000023 23 :THE ERROR NUMBER 1S 23
411 D0IM70 122767 000004 176706 ENO4: CMPB M STESTN ;CHECK THE TEST NUMBER
412 001476 001402 BEQ L +b *BRANCH IF OK
413 001500 104000 HLT 'WRONG TEST! PC MUST HAVE FOULED UP.
:{g 001502 000024 24 ' THE ERROR NUMBER IS 24
416
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417
418 Ill!l!!lli!llll!l!!!l!l!!l!!!!!!!ii!lll!ll*!l!l!!illil!l!lilliii!!ll!!l
419 *TEST S: FAOD (LSI-11 FLOATING ADD INSTRUCTION)
420 : 052525, 062525 + 152525,062524 = m%oo 000000
42l : PS = 200 STACK POINTER =
:sg ll!!lillliil*!%‘!*!ii*!!*l&li*ll!!l!ll!ill*lliillll'!llllllll*ll!lll*l!l
424 00I1S0M 104400 SCOPE
42S 001506 Q04567 014306 TSTS:  JSR PUSHS :PUSH 4 uonos ONTO STACK, SET PRIORITY
426 001512 152626 052524 JHORD 152625, oseseu :SECOND OPERAND ON
:eag m{sm osasi:'; 052525 .ﬁono osesas 052525 rxngr OPERAND o?TeoEESEL
~ :gg %1?53 Biésqa 000340 :u8§8 ?&npsn 340 S‘FWVE“{SS
431 D01S30 000240 NOP
:g 001532 (075006 FRDD  SP :FLORTING RDD ON THE STACK
434 Q0I5 767 014320 ISR POPS n-g
435 001540 022706 000H00 CHP catcm SP crccx rz smcx POINTER
g — 5w, 5 ponge
438 1 104000 HLT ' Rﬁcﬁo?m R FOULEE uP
439 001559 000025 25 R IS
m 001556 000421 BR ENDS sxxp R£ST or TEST
442 001560 122767 000200 176644 TSAS: CMPB 8200, SPSW  ;CHECK PS (EXCEPT T BIT)
443 001566 001402 BEQ 46 : BRANCH % 0K
444 001570 104000 HLT 'PS NOT EQUAL TO 200
m 001572 &mes 26 ! THE ERROR NUMBER IS 26
447 001574 022767 044600 176634 CMP 8044600,ANS1  ;CHECK FIRST HALF OF ANSWER
y4g 001602 001402 BEQ .46 ENgncu } 0K
449 001604 104002 HLT+2 EQUAL TO D44600
:g} 001606 27 : THE ERROR NUMBER IS 27
452 001610 005767 176624 ST ANS2 : CHECK SECOND HALF OF ANSWER
453 001614 001402 BEQ 46 :BRANCH IF OK
4S54y 001616 104002 HLT+2 :ANS2 NOT EQUAL TO 000000
% 001620 000030 30 : THE ERROR NUMBER IS 30
457 001622 122767 000005 176554 ENDS: CMPB a5 STESTN ;CHECK THE TEST NUMBER
001630 0014G2 BEQ .+b :BRANCH IF OK
001632 104000 HLT !WRONG TEST! PC MUST HAVE FOULED UP.
00 000031 3l ! THE ERROR NUMBER 15 31
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463
464
465
466
467
468
469
470 001636
471 001640
472 00164
473 001650
474 1
475 1
476
47?7 1662
478 1664
479
480 001666
481 001672
482 001676
483 001700
484 001704
485 001706
486 001710
487
488 001712
489 001720
430 00!72¢
431 001724
432
493 001726
Y4 0017M
495 001736
43% 001740
497
498 001742
439 001746
S00 001750
S01 001752
502
503 001754
SO4 001762
S0S 001764
S06 001766
S07
508

27(1006) 17-JAN-77 15:14 PAGE 13 SEG 0021
13-JAN-77 15:28 FADD TEST SECTION
ll!l!l!i!!!!llll!l!l!!llllll!l!lll!liil!lll!Iill!lil!ll!l!l*lll{»ll!ii!!
:TEST & %ou.ssaél FLOATING RDD INSTRUCTION)
: gs 30 177 3 = u 200, 000000
: 2l STACK POINTER =
!!!!llllllllI!lill!llllllli!ll!lllili!!ll!l!lillllll!lilll{*l{llilll}li
mmwog 014154 ‘?;E?EE 4 WORDS ONTO STACK, SET PRIORITY
826177 177777 .HORD 032177 177977 % 0592% OR?
125209 000000 - WORD 1252007 '000000  ;FIRST opsmm O?TQOEESEL
81C8~+43Ea 000340 258% ?Snpen,auo n?“iﬁ&?“ VEC %
09550 PR
FROD  SP sFLORTING ADD ON THE STACK
004767 014166 JSR POPS  ;POP THE ANSWER
022706 000600 cHP netcm SP : CHECK TH" STRCK POINTER
001405 BEQ TSA6 BRANCH IF 0K
012706 000600 MOV 8BEGIN, SP *RESTORE STACK POINTER
104000 HLT :STACK POINTER FOULED UP
32 s THE ERROR NUMBER 1S 32
000421 BR END® :SKIP REST OF TEST
122767 00021C 176512 TSA6: CMPB 8210, SPSW  ;CHECK PS (EXCEPT T BIT)
001402 BEQ .+6 'BRANCH IF OK
104000 HLT PS NOT EQUAL TO 210
000033 33 :THE ERROR NUMBER IS 33
022767 117200 176502 CMP $117200, ANS1 ;CHECK FIRST HALF OF ANSWER
001402 BEQ _+b *BRANCH IF OK
104002 HLT+2 msx NOT EQUAL TO 117200
34 THE ERROR NUMBER 15 34
005767 176472 ST ANS2 -CHECK SECOND HALF OF ANSWER
001402 BEQ 46 :BRANCH IF OK
104002 HLT+2 ANS2 NOT EQUAL TO 000000
s : THE ERROR NUMBER IS 35
122767 000006 176422 ENDb: CMPB 86 $TESTN ;CHECK THE TEST NUMBER
001402 BEQ 46 *BRANCH IF OK
104000 HLT :WRONG TEST! PC MUST HAVE FOULED UP.
000036 36 : THE ERROR NUMBER IS 36

——
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;Eg;l;i!*lll!llll!ll:tg;!l}l;:la?llllggllllllll?;sagiilll!llllllllliil
: 136753 meqa+1& gaLaNe 2 a?&ﬂﬁmw
: 210 STACK ﬁoxursn
l*llllll!lill!lilﬂl!ll!ll!lillI'Ill!llli!lll*llll*l!*!ilii!i!li*ll!ll!!!!
SCOPE
014174 1ST7:  JSR PUSHR  ;PUSH Y4 uonggﬂgnro RS STACK, SET PRIORITY
052525 . WORD xomas 0S2525  SSECOND OPE
024642 .WORD 135753 024642 rxngr opsnggoog?TeolgegL
000340 Iuggg ¥gnPER 340 g $323R *
000510 MOV $STACKO, RS se uP srncx POINTER
NOP
FRDD RS :FLOATING RDO ON THE RS STACK
O;qé7q %33 gc, Po?“ ACK POINTER™
8838 176370 CHPB 0310. e 3H¥E« as (sx025 e
BEQ . +6 *BRANCH 1
HLT :PS NOT E 70 210
37 : THE ERROR NUMBER IS 37
000514 176356 CMP 8STRCKY, $SP :CHECK THE STRCK PINTER (RS)
BEQ e :BRANCH IF OK
HLT :STACK POINTER (RS) NOT EQUAL TO 8STACKY
40 :THE ERROR NUMBER IS 40
135753 176344 CMP #135753,ANS]  ;CHECK FIRST HALF OF ANSWER
BEQ . +b :BRANCH IF OK
HLT+2 :ANS1 NOT EQUAL TO 135753
Y1 : THE ERROR NUMBER IS 41
024642 176332 CMP 8024642, ANS2  ;CHECK SECOND HALF OF ANSWER
EE$+2 -+6  BrANCH IFEO T0 oaqsqa
s G2 Nl Edln 4
000007 176262 END?: CMPB  #7 STESTN ;CHECK THE TEST NUMBER
BEQ .+b - BRANCH IF OK
HLT 'WRONG TEST! PC MUST HAVE FOULED UP.
43 : THE ERROR NUMBER IS 43

-
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FROD TEST SECTION

o 343 SIS IS I SHHHHHHHHHEHHHHHHEHHHHHHHHHHHHHEHEHHHHEHHEHHHHHH
FRDD (LSI-11 FLOATING ROD INSTRUCTION)

TEST 10:

104400 SCOPE
00MSH7 014034 TST10: JSR
001357 Oe4b4e . HORD
0000S2 1esase . HORD
000257 .WORD
0i16442 000340 . WORD
012701 000510 MOV
000240 NOP
075001 FROD
004767 014034 JSR
010167 176240 MOV
122767 176230 cMeB
001402 BEQ
104000 HLT
000044 Y4
022767 000S14 176216 cHP
001402 BEQ
104000 HLT
000045 45
022767 001357 176204 cHP
001402 BEQ
104002 HLT+2
000046 46
022767 Oe24e42 176172 cHP
001402 BEG
104002 HLT+2
000047 4?7
122767 000010 176122 ENDIO: CMPB
001402 BEQ
104000 HLT
S0 SO

oooose 1e5ese + 001357 024642 = 0013S7,024642

STACK POINTER = RI
!!l!l!llilll!Il‘ll"lliil“l!l'll'l!l!!llﬂlli*ll!!lﬂlil!llllll!l!!!llliil!l

PUSHR
001357 024642
000052, 126252

257
TRAPER, 340
8STACKD, R1

Rl
PC POPR
oabo $PSM

#STACKY, $SP
.+6
#001357, ANS]
.46
8024642, ANS2
. +6

$10, STESTN
.46

; PUSH 4 WORDS ONTO 1 STACK, SET PRIORITY
,SE COND OPERAND ON T

;FIRST OPERAND ON BOTTOH

,PROCESSM PRIORITY LEVEL
;F1S TRAP VECTOR
'SET UP STACK POINTER

;FLORTING RDD ON THE Rl STRCK
; POP_THE ANSWER
: GAVE "STACK

: CHECK PS (EXCEPT
i BRANCH IF

PSNOTEMTOEOO
s THE ERROR NUMBER IS 44

;CHECK THE STARCK POINTER (R1)

; BRANCH IF 0K

;STRCK POINTER (R1) NOT EQUAL TO SSTARCKY
[HE ERROR NUMBER IS 45

POINT ER"
BIT)

s CHECK FIRST HALF OF ANSWER
tBRANCH IF 0K

:ANS1 NOT EQUAL TO 001357

: THE ERROR NUMBER IS 46

;CHECK SECOND HALF OF ANSWER
: BRANCH

IF 0K
sANS2 NOT EQUAL TO 024642
: THE ERROR NUMBER IS 47

;CHECK THE TEST NUMBER

:BRANCH_IF 0K
*WRONG TEST! PC MUST HAVE FOULED UP.

: THE ERROR NUMBER 1S 50

SEQ 0023
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| &0l
% !i!ll!i!lllil!ll!l!l!ll!!ﬂlllll&lﬂl!lil!l!lllllill!liil!l!l!llliililili
603 s TEST “wm FRDD (&sx 11 OELommc ADD xnsoamcuom
605 ! oglouuunuu mnlunnggg &202 70000C
% l'l*lllill!l'lll!i!l!!!!!!i“lllllll!IlllIvll*llilll!!!illll!ll!!ll!!ll!ll
COPE
ﬁ %3;3 681229 013674 TSTI1L: ?sn RS Puggg m WORDS °“53 ngp STACK, SET PRIORITY
b1l % &ncumon o nnoomE Iuom)c 0385%%000 s FIRST mm BOTTOM
bl2 002306 140 . HORD : PROCESSOR PRIORITY LEVEL
613 002310 0l6442 000340 - WORD rmn 340 'FIS TRAP VECTOR
g{g 002314 012705 0005.0 MOV #STARCKD, RS :SET UP STRCK POINTER
616 002320 000240 NOP
Eh?a 002322 075005 FROD RS :FLORTING ROD ON THE RS STACK
619 002324 0OM767 013674 JSR PC POPR  ;POP THE ANSWER
620 002330 010567 176100 MOV $SP s GAVE “smcx POINTER"
b2l 0023 122767 000010 176070 CHPB oolo $PSW ;c cx &cm T BIT)
LT B % :
0L | ML ! PS nor QUAL TO 010
g 002346 0000S1 Sl : THE ERROR NUMBER IS 51
7 0D0OOSI4 17605 NP 8STARCKY, SSP oK T ACK POINTER (RS)
£53 Gesies 000SI4 178056 e sRas i EhRH TF O
628 002360 104000 HLT :STACK POINTER (RS) NOT EQUAL TO 8STACKY
% 002362 000052 52 :THE ERROR NUMBER IS S2
631 002%M 022767 100200 176044 CMP $100200,ANS]  ;CHECK F RST HALF OF ANSMER
632 002372 001402 BEG .+6 :BRANCH IF 0K
633 00374 1040020 HLT+2 ANS1 NOT EQUAL TO 100200
&mammmsa 53 :THE ERROR NUMBER IS S3
66 002400 005767 176034 ST ANS2 :CHECK SECOND WALF OF ANSWER
637 m 001402 BEQ +b *BRANCH JF OK
638 104002 HLT+2 :ANS2 NOoT EQUAL TO 00C0OD
% 002410 0000SY o4 :THE ERROR NUMBER IS 54
Y 7 764 : CMP 811,  STESTN Hecx THE TEST NUMBER
& %‘5 m 000011 175764 ENDLL BEQB _1&, ES c r;
B43 002422 104000 HLT unom TEST' PC MUST HAVE FOULED UP.
E:g 002424 000055 5S ' THE ERROR NUMBER IS S5
b46




NO2

DVKACB MACY1l 27(1006) 17-JAN-77 15:14 PRGE 17 SEQ 0025
DWACB.P1l  13-JAN-77 15:28 FRDD TEST SECTION
647
:g lllll!ll!llllllll!llll!lllllllll!lllll!!llll!llll!lllll{ll!l!liilllllll
Esn STEST 12: FADD (LSI-11 FLOARTING ADD INSTRUCTION)
; 000425, 052525 + 100252, 125252 = oooaoo 000000
E% PS = STACK POINTER =
llllllllllilil'l‘llllllm'llHlnllllllm{lllllll!lllllll!l!llllllllilill
654 002426 104400 SCOPE
655 002430 004567 01353% TST12: JSR RS PLSHR  ;PUSH 4 WORDS ONTO R4 STACK, SET PRIORITY
656 0N3:34 1002S2 125262 .WORD  1002S2, 126262  ; SECOND opsmo ON TOP
RET 002440 mm:le; 052525 - WORD ooou? 25.052526  ;FIRST OPERAND A neoLze"zL
e R BEL oo BB eeman RN
% 0024s2 012704 000510 MOV 8STRCKO, RY :SET UP STRCK POINTER
bb2 002456 000240
ga 002460 07S00M FRDD  RY :FLORTING ADD ON THE R4 STACK
665 002462 00M767 013536 JSR PC, POPR  ;POP T _
&; m 0l0N67 175742 MOV RY $SP SAVE “STACK POINTER
122767 600200 175732 ggma "320' §PSW  ;CHECK PS (EXCEPT T BIT)
0'?‘.0 ' .
5 Inc I§m§g&imgg??g 56
000514 175720 CMP 8STACKY, SSP cK T"f TRCK POINTER (R4)
BE .+ § 98
HL ACK POINTER (RY) NOT EQUAL TO 8STACKY
gg 002520 (0000S7 57 n~: ERROR NUMBER IS 57
77 002522 7 000200 175706 CMP 000200, ANS1 cnecx rmsv HALF OF ANSKER
78 --—*1- 1402 as%e .46 ; 00200
1 17X 7
E?i ik gb Qﬁ E%OR NUNMBER Ig S
682 ma'.;:«,e nus-fe.l 7 175676 EEE nr:ga s CHECK ssgono HALF OF ANSWER
Eg @4 % HLT+2 m* egxum. T0 oooooo
% 4 [ bl : THE ERROR NUMBER IS b
687 00PS50 122767 000012 175626 ENDI2: CMPB  #12,  STESTN ;CHECK T TEST NUMBER
b8 00 .56 001402 BEQ prta : BRANCH [
689 002560 104000 HLT : WRONG rssr- PC MUST HAVE FOULED UP.
23? 002562 000062 b2 : THE ERROR NUMBER IS &2

l
!
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63
)
635
6%
697
698
699
700 002Se4
701 002566
702 002572
703 002576
704 00ct0e
705 002604
706
707 002610
708 0026l
709
710 002614
711 002620
712 006
713 00262h
714 002632
715 0026
716 002636
717
718 002640
719 002646
720 002650
7¢l 002652
722
723 002654
7e4 002662
725 002664
726 002666
727
7e8 002670
729 002674
730 002676
731 002700
732
733 002702
73 002710
735 002712
73 002714
737

BO3

s SRRSO I O I U 0 S0 R I R R IR S R N R RN R R R R

FRDD (LSI-11 FLORTING ADD INSTRUCTION)
000000

125eSe = 100200,

STACK #oxmen = Gp

lI§I!!l!llIllll‘!ll!llllllilll!iilill!ili!**i!*l*l*lili*lll*l!*lll!l!!l

17-JAN-77 15:14 PAGE 18
13-JAN-77 15:28 FROD TEST SECTION
:TEST 13:
: mm 062525 +
: 210
104400 SCOPE
004S67 013226 1ST13: JSR
000252 126252 .WORD  0002S2, 1asésa
100426 052625 .WORD 100425, 052525
000307 "WORD 307
016442 000340 'WORD  TRAPER, 340
000240 NOP
075006 FADD  SP
004767 013240 ISR POPS
000600 cHP setcm SP
001405 BEQ TSA13
012706 000600 MOV 8BEGIN, SP
104000 HLT
000063 63
000421 BR END13
122767 000210 175564 TSA13: CMPB 210, SPSW
001402 BEQ . +6
104000 HLT
000064 64
022767 100200 175554 CMP #100200, ANS!
001402 BEQ .+b
104002 HLT+2
000065 65
00S767 175544 ST ANS2
001402 BEQ 4B
104002 HLT+2
000066 66
122767 000013 175474 END13: CMPB  #13,  STESTN
001402 BEQ .46
104000 HLT
000067 67

PUSH 4 WORDS ONTO STACK, SET PRIORITY
: SECOND OPERMJ ON TOP

:FIRST OPERAND ON BOTTOM

: PROCESSOR anonm LEVEL

'FIS TRRP VECTOR

;FLOATING AOD ON THE STARCK

; POP THE ANSKER
:CHECK THE STACK POINTER
:BRANCH IF 0K

s RESTORE STACK POINTER
STRCK POINTER FOULED UP
; THE ERROR NUMBER_IS b3
sSKIP REST OF TEST

; CHECK PS (EXCEPT T BIT)
: BRANCH

IF
:PS_NOT EQLHL T0 210
: THE ERROR NUMBER 1S 64

;CHECK FIRST HALF Of ANSKER
iBRANCH IF 0K

f-lNSl NOT EQUAL TO 100200

; THE ERROR NUMBER IS 65

; CHECK SECOND HALF OF ANSKER
:BRANCH IF 0K

:ANS2 NOT EQUAL TO 000000
:THE ERROR NUMBER 1S 66

; CHECK Tlif TEST NUMBER

BRRNCH F 0K
:WRONG TEST! PC MUST HAVE FOULED UP.
: THE ERROR NUMBER IS &7

SEQ 0026
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739
740
741
742
743
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002716
002720
002724
002730
002734
002736
002742
002746
002752
00275b
002,50
002754
002770
002772
003000
003002
003004
003006

003014
003016

000073

122767
001402

104000
000074

Co3

17-JAN-77 15:14 PAGE 19

15:28

013074

Q77777

177777

0ol 014

FRDD TEST SECTION

;RRRAENNR R AR RRRERERRERERE AR R R R AR R R AR ERRRRRRRRRERRRARRRRRRRRRRRRER AR

STEST 14; FADD (LSI-11 FLOATING ADD INSTRUCTION)
: 077652, 125252 + msa ;séz = Q77777,177777
: PS = TACK #o INTER = SP
liI!llllil!!l!lil!llllll!!iill!!lll!l!!!ll*!ll!*l!!illili!l!!!lllill!ll
SCOPE
TST14: JSR PUSHS :PUSH 4 WORDS ONTO STRCK, SET PRIORITY
JMORD 077452 1asésa - SECOND OPERAND ON TOP
.WORD 077652.125262 :FIRST OPERAND on BOTTOM
.WORD 257 : PROCESSOR PRIORITY LEVEL
.HORD  TRAPER, 340 ‘FIS TRAP VECTOR
NOP
FROD  SP -FLOATING ARDD ON THE STACK
JSR POPS  ;POP THE ANSMER
CHP natcm SP :CHECK THE STACK POINTER
BEQ SA1Y *BRANCH IF OK
MOV oescm SP RESTORE STACK POINTER
HLT smcx POINTER FOULED UP
70 :THE ERROR NUMBER IS 70
BR END1Y :SKIP REST OF TEST
175432 TSAI4: CMPB  #200, SPSW  ;CHECK PS (EXCEPT T BIT)
BEQ .+6 ' BRANCH IF OK
HLT :PS NOT EQUAL TO 200
71 : THE ERROR NUMBER IS 71
175422 CHP 8077777 ,ANS1  ;CHECK FIRST MALF OF ANSWER
BEQ .46 ' BRANCH IF 0K
HLT+2 :ANS1 NOT EQUAL TO 077777
70 : THE ERROR NUMBER 1S 72
175410 CMP 8177777 ANS2  ;CHECK SECOND HALF OF ANSWER
BEQ _46 :BRANCH IF OK
HLT+2 :ANS2 NOT EQUAL TO 177777
73 ' THE ERROR NUMBER 15 73
175340 ENDI4: CMPB  #14,  STESTN ;CHECK THE TEST NUMBER
BEQ 46 *BRANCH IF OK
HLT :WRONG TEST! PC MUST HAVE FOULED UP.
74 ' THE ERROR NUMBER IS 74

SEQ 0027
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78S

Rt R R SRR EE RS

€0 0D 0 0D 0D (O 4D DD D
oo et us uud e u e
OOV N LWN—O

SERRERRLRER

000514

177777

177777

000015

FROD TEST SECTION

Rl iadd il i el i sttt tdisitieltaisltistatisttiatiiiadatititlssslsss

‘TEST 15: FROD (LSI-11 FLOATING noo xnsrnucrlou)
: mwsa 125252 + 177652 1es§sa 77777
: = 210 STACK POINTER =

llilil!llllllllil!lll!'ll!‘illl!!!lll!illl!!illlliil*!!liilili!!!!*li!l

SCOPE
TST1S: JSR RS PUSHR  ;PUSH 4 WORDS omo R4 STACK, SET PRIORITY
_HORD  177652,126252 :SECOND OPERAND ON TOP
- WORD 1msa,1asesa :FIRST OPERAND ON BOTTOM

.WORD 357 : PROCESSOR PRIORITY LEVEL
"WORG  TRAPER, 340 :FIS TRAP VECT
MOV 8STACKO, RY 'SET UP STACK POINTER
NOP
FRDD R4 :FLOATING ADD ON THE R4 STACK
JSR PC POPR  :POP THE ANSMWER
MOV §SP 'GAVE “STACK POINTER™
175306 CMPB salo §PSW  :CHECK PS (EXCEPT T BIT)
BEQ :BRANCH IF OK
HLT 'PS NOT EQUAL TO 210
75 ' THE ERROR NUMBER 1S 75
175274 CMP $STACKY, $SP s CHECK THE STACK POINTER (RY)
BEQ .+b :BRANCH IF OK
HLT :STACK POINTER (R4) NOT EQUAL TO 8STACKY4
76 :THE ERROR NUMBER IS 76
i75262 CMP 8177777 ,ANS1  ;CHECK FIRST HALF OF ANSWER
BEQ _+b BRANCH IF OK
HLT+2 ANS1 NOT EQUAL TO 177777
77 : THE ERROR NUMBER 1S 77
175240 CMP 8177777 ,ANS2  ;CHECK SECOND HALF OF ANSWER
BEQ . +6 *BRANCH IF OK
HLT+2 :ANS2 NOT EQUAL TO 177777
160 : THE ERROR NUMBER IS 100
75200 END!S5: CMPB 815,  STESTN ;CHECK THE TEST NUMBER
BEQ .+b ' BRANCH_IF OK
HLT :WRONG TEST! PC MUST HAVE FOULED UP.
i0l : THE ERROR NUMBER IS 101
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DVKACB.P11l  13-JAN-77 15:2f FRDD TEST SECTION

831

832 !I!Iﬂl!l!llill!ll!llllll!l"lllll!illl!!llllll!!l!l!ll!lllill!lil!l!llll

833 : TEST 15 moo (LSI -11 FLommc ADD_INSTRUCTION)

8N : + 104000, | = 000401, 000000

835 : obo STACK bomren = PC

% ll!llll!!llllll‘!lli!ll!lll!llll!lllll*!iil!llll!!l!lli!ll!l!lll!llli!l

838 003212 104400 SCOPE

839 003214 004567 013124 TST16: JSR PUSH?  ;PUSH 4 WORDS ONTO STACK, SET PRIORITY

840 003220 0032 . WORD sn’us :TOP OF STACK

B4l 003222 104000 104000 CWORD 104000, 104000 ;SECOND OPERAND ON TOP

842 003226 105004 -WORD omooo 105004 :FIRST OPERAND ON BOTTOM

843 003232 00014 CWORD 144 ' PROCESSOR PRIORITY LEVEL

% 003234 Ole442 000340 "WORD  TRAPER, 340 'F1S TRAP VECT

84 003240 000240 NOP

847 003242 075007 FROD  PC :FLOATING ADD ON FOLLOWING 4 WORDS

848 003244 104000 STK16: 104000 :SHOULD CONTRIN 104000

849 00324 104000 104000 }SHOULD CONTRIN 104000

850 003250 004000 004000 ' BEFORE FADD, 004Y0DD; AFTER, 00040l

EE}_. 003252 105004 105004 :BEFORE FROD, 105004; AFTER, 000000

853 003254 004767 013114 JSR PC POP?  ;POP THE ANSWER

854 003260 105767 175146 7578 $PSW :CHECK PS (EXCEPT T BIT)

855 (003264 001402 BEQ 4B i BRANCH IF 0K

856 003266 104000 HLT :PS NOT EQUAL TO 000

g 003270 000102 102 : THE ERROR NUMBER IS 102

859 003272 022767 104000 175136 CMP $104000,ANS1  ; CHECK rxnsr HALF OF INPUT DATA (STKIG)

860 003300 001402 BEQ .46 :BRANCH IF

861 003302 104002 HLT+2 :ANS1 NOT eounL 70 104000

%32 003304 000103 103 :THE ERROR NUMBER 1S 103

864 003306 022767 104000 175124 CHP $104000,ANS2  ;CHECK sscom HALF OF INPUT DATA (STK1B+2)

865 003314 001402 BEQ .+b :BRANCH IF OK

866 003316 104002 HLT+2 ANS2 NOT EQUAL TO 104000

% 003320 00010¥ 104 :THE ERROR NUMBER IS 104

869 003322 022767 000401 175112 CMP $000401,ANS3  ;CHECK FIRST HALF OF ANSKER

870 003330 001402 BEQ jpea :BRANCH IF OK

871 003332 104004 HLT+4 :ANS3 NOT EQUAL TO 0OCHOL

% 003334 000105 105 : THE ERROR NUMBER IS 10S

874 00333% 005767 175102 ST ANSY . CHECK SECOND HALF OF ANSKER

875 003342 001402 BEQ .+b :BRANCH IF OK

876 003344 J0400M HLT+Y4 :ANSY NOT EQUAL TO 000000

g;; 003346 000106 106 : THE ERROR NUMBER IS 106

879 003350 122767 000016 175026 END16: CMPB  #16,  STESTN ;CHECK THE TEST NUMBER

880 003356 001402 BEQ rta ' BRANCH IF OK

881 003360 104000 HLT :WRONG TEST! PC MUST HAVE FOULED UP.

% 003362 000107 107 : THE ERROR NUMBER I5 107

oc

886 ; EREREEFERERETEIEEE KRN0 5 033603030332 U333 03 OGO ¥ 2 %

-—— —— e -
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DOVKARCB.P11  13-JAN-77 15:28 TEST FLOARTING ADD INSTRUCTION WITH UNDERFLOW
88?7 ; TEST 17 FROBO(L56 11 FLORTING ADD INSTRUCTION)
888 =) UNDERFLOW
gga PS(ON érncx) 012 srncx POINTER = R3
841 !lllll!!l!!llllll!!llllliilli!l!!ill!ll!li!l!ililllillllllilll!l!!l«l!ii!
892 00334 104400 SCOPE
ggg 38339; u;;;oo TST17: JSR PUSHR  ;PUSH 4 WORDS ONTO R3 STACK, SET PRIORITY
177777 - HORD 000377 177777  :SECOND OPERAND ON T
895 003376 100200 000U00 .WORD  100200,000000 :FIRST OPERAND ON aorron
896 003402 000157 "MOR0 157 *PROCESSOR PRIORITY LEVEL
897 00340M 003436 000000 -WORD ISRl? 000 'FIS TRAP VECTOR
ggg 003410 012703 000510 MOV $STACKO,R3 'SET UP R3 AS STACK POINTER
14 10 NOP
Eﬁz 833315 892553 FADD  R3 :FLOATING RDD ON THE R3 STACK
903 003420 00M767 012600 RTAL7: JSR PC, POPR  :POP T ~nn R*
904 883353 010367 175004 MOV R3! §SP ' SAVE STRCK POINTER (R3)
305 1 HLT+2 :FI1S TRAP DIDN'T OCCURE!
906 003432 000110 110 : THE ERROR NUMBER IS 110
ggg 00MM BR END17
909 003436 004767 012612 ISRI7: JSR PC, POPER  ;POP RLL DATA OFF THE STACKS
31 boxde 100er 1m7es e Sew E&%KSE*&FT’E%"E% {Rap
912 003452 08?332 BEQ 46 ?
913 DO3454 633000 HLT PS nr R FIS TRAP NOT EQUAL TO 00O
3i§ 003456 111 114 ' THE ERROR NUMBER IS 111
916 003460 022767 000510 174746 CMP 8STACKO, SSP cnzcx THE STACK POINTER (R3)
917 003466 001402 BEQ e g 3 9«
918 003470 104000 HLT TACK POINTER (R3) NOT EQUAL TO #STACKO
3%3 003472 000112 112 : THE ERROR NUMBER IS 112
921 003474 022767 003420 174734 CMP ¥RTAL7, ANSI :CHECK FIS TRAP RETURN ADDRESS
952 003502 001402 BEQ .46 :BRANCH IF OK
323 003504 104001 HLT+1 !FIS TRAP AT WRONG ADDRESS
ggg 003506 000113 113 ' THE ERROR NUMBER IS 113
9% 003510 022767 000012 174722 CMP 8012, ANS2  ;CHECK PS BEFORE FIS TRAP
927 003516 001402 BEQ e :BRANCH IF OK
928 003520 104002 HLT+2 :PS AT FIS TRAP TIME NOT 012
353 003522 (00114 114 : THE ERROR NUMBER IS 114
93] 003524 (022767 000377 174710 CMP 8000377 ,ANS3  ;CHECK DATA FROM THE STACK
932 003532 001402 8EQ .+6 BRANCH IF OK
933 003S™ 104004 HLT+4 :DATA ON STACK (000377) CHANGED
ggg 003536 000115 115 THE ERROR NUMBER IS 115
936 00340 022767 177777 174676 CMP 8177777 ANSM  ;CHECK DRTR FROM STACK
937 003%46 001402 BEG +b 'BRANCH IF OK
938 003550 10400M HLT+4 :DATA ON STRCK (177777) CHANGED
333 003552 000116 116 "THE ERROR NUMBER IS 116
941 (003554 022767 100200 174664 CMP #100200,ANS5  ;CHECK DATR FROM STACK
942 003562 001402 BEG .+b :BRANCH IF OK

SEC 0030
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660117

00S767 174654
001402
104006

120

122767 000017
001402
104000
goolel

17-JAN-77 15:14 PAGE 23

GO3

TEST FLORTING RDD INSTRUCTION WITH UNDERFLOW

174574 ENDI?:

HLT+6
117

157
BEQ
HLT+6
120

CMPB
BEQ
HLT
el

RANSH
. +b

07,
.+6

STESTN

;DATR ON STARCK (100200) CHQNGED
: THE ERROR NUMBER 1S

; CHECK DRTQ FROﬂ STACK

1 BRANCH IF

:DATA_ON STRCK (000000) CHANGED
: THE ERROR NUMBER IS 120

;CHECK THE TEST NUMBER
:BRANCH_IF OK

:WRONG TEST! PC MUST HAVE FOULEC UP.

: THE ERROR NUMBER IS 121

SEG 0031
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957
958
959
%0

F
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mlele
s pn
n—o

003754
003762
by
bb

003770
003776
004000
004002

104400
004567
100377

B34

004767

000122
012706
000463

004767

00140S
012706

104000
000123
000451

122767
001402
104000
000124

022767
001402
104001
000125

022767
001402

000126

022767
001402

660127

022767
001402
104C0M
000130

15:2

012174
177777
000000

000340

012206

000600

012222
000600

000600

000340

003646

000212

100377

177777

174514

174504

174472

174460

174446

17- gQN =77 15:14 PARGE 24

HO3

TEST FLOARTING RDD INSTRUCTION WITH UNDERFLOW

lIilll*l!!ll!l!l!llllll!lllilllllllllllll!llllll!lllillllllll{!llli‘illl

TEST 20

TSTe0:

RTAR20:

ISR20:

1SR20:

HLT+Y4
130

FSSSO(L5106§ FLORT;;; UNBESPCTION)

PS (ON érncx) = 212
lllll!lli!llllll!l!l!!lli‘!lil!l!!l!lllllll!ll!l!l!llll!l!llllllililliii

PUSHS
10&377 177777
000200 000000
f2%20, 340
SP
PC, POPS
8BEGIN, SP
END20

PC POPES
$8EGIN, SP
15A20

$BEGIN, SP
END20

8340, SPSW
.+b

RTA20, ANSI
.+
8212, ANS2
.+
#100377,ANS3
.46

8177777, ANSY
.46

STACK POINTER = SP

;PUSH 4 WORDS ONTO STARCK, SET PRIORITY
SE OND OPERAND ON TOP
:FTRST OPERAND ON BOTTOM

PSRRI

;FLORTING ROD ON THE STACK
;POP THE ™ R~
:FIS TRAP DION'T OCCURE!

: THE_ERROR NUMBER IS 122
tRESTORE THE STACK POINTER

;POP ALL DATA OFF THE STACK
s CHECK THE STACK POINTER
:BRANCH IF OK

RESTORE THE STRCK POINTER
: STACK POINTER FOULED UP

: THE ERROR NUMBER IS 123
;SKIP REST OF TEST

;CHECK PS AFTER FIS TRRP
:BRANCH IF 0K

:PS AFTER FIS TRAP NOT EQUQL T0 340
i THE FRROR NUMBER IS 124

;CHECK FIS TRAP RETURN RDDRESS

P ?Rﬂs R?KHRONG RDDRESS

THE ERROR NUMBER IS 125

s CHECK PS BEFORE FIS TRARP

s BRANCH_IF 0K

:PS AT FIS TRAP TIME NOT 212
: THE ERROR NUMBER IS 126

;CHECK DATA FROM THE STACK
BRRNCH IF 0K

ATA ON STACK (100377) CHANGED
: THE ERROR NUMBER 1S 127

; CHECK DATA FROM STARCK

:BRANCH IF_OK

:DATA ON STACK (177777) CHANGED
' THE ERROR NUMBER IS 130

SEC 003¢




DVKARCB MACY11 27(1006)

DVKRC8.P11

1013
1014
1018
1016
01?7
1018
019
g20
02l

l
l
1
l
1022
1023
l
l
l
l
l

024
025
026
027
0es

004004
12

004016
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022767 000200

1402
006
000131

00S767
001402
104006
000132

122767
001402
104000
000133

174424

000020

15:14 PRGE 25
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TEST FLOARTING ADD INSTRUCTION WITH UNDERFLOW

174434

174344 END20:

CMP
BE?
HLT+6
131

TST
BEQ
HLT+6
132

cMPB
BEQ
HLT
133

8000200, ANSS

. +b

RANSE

.+b

%20, STESTN
. 46

CHECK DATA FROH STACK

: BRANCH IF

:DATA ON ST CK (000200) CHANGED
THE ERROR NUMBZR IS 131

; CHECK DATR FROM STRCK

:BRANCH IF 0K

:DATA ON STACK (000000) CHANGED
:THE ERROR NUMBER IS 132

;CHECK THE TEST NUMBER

s BRANCH_IF 0K

'WRONG TEST! PC MUST HAVE FOULED UP.
: THE ERROR NUMBER 1S 133

SEG 0033
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TEST FLOATING ADD INSTRUCTION WITH OVERFLOW

13-JAN-77 15:28

012116

188523

000s10
004102
000002
177652

125252

174274

174262

174250

174236

174224

174212

JO3

ety Y L bt -betdetmbadbbbeintatatababatatat L2 22 2 2 22 1
FRDD (LSI-11 FLOATING RDO INSTRUCTION)
177452, 125253 + 177652, 125252 ==) OQVERFLOW

TES

TS721:

RTAR2!:

ISR21:

el:

PS(ON 8TACK) = 002
!ll!l!lilllllll!i!lllll'!

J&e

HLT+4
141

CHP

HLT+4
142

?S 5

ISREI 252
8STACKO, R1

Rl

PC, POPR

RI) §SP

END21

POPER

SC’ P
0552, ggsu
.+b

8STRCKO, SSP
.46

SRTAR21, ANSI
.46

8002, ANS2
.46
$177652,RNS3
.4b

8125252, ANSH
.+b

STRCK POINTER = Rl

ill!lll*il!i!llli**!!lill!il!*l!l!!lll!!lllll!!

;PUSH 4 WORDS ONTO Rl STACK, SET PRIORITY

??SS"" ORERAND 0N BOTTON

:PROCESSOR PRIORITY LEVEL
:F1S TRAP VECTOR
:SET UP R1 RS STACK POINTER

; FLORTING RDD ON THE R1 STACK

POP_THE “ANSKER"™

SRVE STACK POINTER (R1)
tFIS TRAP DIDN’T OCCURE!
' THE ERROR NUMBER 1S 134

; POP RLL DARTR OFF THE STACKS

FARE SRR IS Thie

1BRANCH IF OK
'PS AFTER FIS TRAP NOT EQUAL TO 252
: THE ERROR NUMBER IS 135

; CHECK THE STARCK POINTER (Rl)

gTRC P%IN?ER (R1) NOT EQUAL TO #STACKO
THE ERROR NUMBER IS 136

SSSNE Fi? TRAP RETURN RODRESS

FIS TRAP RT WRONG RDDRESS
; THE ERROR NUMBER 1S 137

s CHECK PS BEFORE FIS TRAP
BRRNCH IF OK

:PS RT FIS TRAP_TIME NOT 002
; THE ERROR NUMBER 1S 140

;CHECK DATA FROM THE STACK
:BRANCH IF 0K

:DATA ON STACK (177652) CHANGED
i THE E]ROR NUMBER IS 14l

;CHECK DATA FROM STACK

:BRANCH IF OK

:DATA_ON STACK (125252) CHANGED
: THE ERROR NUMBER IS I42

SEQ 00M
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00N2Se
00N2SY
00Nebe
0042b4

00N266

004270
004276
004300
004302
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2767
1402
104006
000143

022767
001402
104006
000144

122767
001402
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15:2
177452

125253

000021
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TEST FLORTING ADD INSTRUCTION WITH OVERFLOW
8177452, ANSS
.46

174200

174166

174106 END2!L:

cHP
BEQ
HLT+6
143

CHP
BEQ
HLT+6
144

CMPB
BEG
HLT
145

8125253, ANSE
.46

e,
. +6

S$TESTN

; CHECK DRTR FROM SIACK
tBRANCH IF 0K

:DATA ON STACK (177452) CHANGED
: THE ERROR NUMBER IS 143

; CHECK DATA FROM STACK

s BRANCH IF 0K

sDATA ON STACK (125253) CHANGED
: THE ERROR NUMBER IS 144

;CHECK THE TEST NUMBER
: BRANCH_IF 0K

: WRONG TEST! PC MUST HAVE FOULED UP.

s THE ERROR NUMBER IS 145

SEQ 0035
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15:28 TEST FLORTING RDD INSTRUCTION WITH OVERFLOW

S BB BE B ISR A I3 0006000 0 B 330000 0SS S I I B B I 3 2 M
s TEST 22; FROD (LSI-11 FLOATING ROD INSTRUCTION)
; 077652, 125253 + 077452, 125252 ==) OVERFLOW

PS(ON STRCK) = 002 STACK POINTER = SP
l!ll!lllllll!!!l*l!ll!lllililllll!llll!ll!!l!lllll!li!{l!!!ll!ll!lill!l!

SCOPE
011506 TST22: JSR PUSHS  ;PUSH 4 WORDS ONTO STACK, SET PRIORITY
126262 . WORD oﬁwsa 126262  :SECOND OPERAND ON TOP
126253 JMORD  077652.125263 ;FIRST OPERAND ON BOTTOM

"WORD 003 :PROCESSOR PRIORITY LEVEL
000344 .WORD ISR22, 344 :FIS TRAP VECTOR

NOP

FROD  SP sFLORTING RDD ON THE STACK
011520 RTR22: JSR PC, POPS  ;POP THE “ANSWER"

HLT+2 'FIS TRAP DIDN’T OCCURE!

146 : THE_ERROR NUMBER IS 146
000600 MOV 8BEGIN, SP SRESTORE THE STACK POINTER

BR END22
011534 ISR22: JSR POPES  ;POP ALL DATA OFF THE STACK
000600 CMP oetcm SP : CHECK THE smcx POINTER

BEQ 1SR22 s BRANCH IF
000600 MOV $BEGIN, SP s RESTORE nc STACK POINTER

HLT :STACK POINTER FOULED UP

147 : THE_ERROR NUMBER IS 147

BR ENDR2 :SKIP REST OF TEST
000344 174026 ISA22: CMPB 8344, SPSW  ;CHECK PS RFTER FIS TRAP

BEQ .+b 'BRANCH IF 0K

HLT :PS AFTER FIS TRAP NOT EQUAL TO 344

150 : THE ERROR NUMBER 1S 150
004334 174016 CMP 8RTR22, ANSI  ;CHECK FIS TRAP RETURN RDDRESS

BEG .+ 'BRANCH IF OK

HLT+1 :FIS TRAP AT WRONG ADDRESS

151 : THE ERROR NUMBER 1S 151
000002 174004 CMP 8002, ANS2  ;CHECK PS BEFORE FIS TRAP

BEQ _+6 : BRANCH IF OK

HLT+2 :PS AT FIS TRAP TIME NOT 002

1582 : THE ERROR NUMBER 1S 152
077452 173772 cHP 8077452 ,ANS3  ;CHECK DATA FROM THE STACK

BEQ . +6 :BRANCH IF OK

HLT+4 :DATA ON STACK (077452) CHANGED

153 : THE ERROR NUMBER IS 153
126252 173760 CMP 8125252,ANSH  ;CHECK DATA FROM STACK

BEQ P2 *BRANCH IF OK

HLT+4 :DATA ON STACK (125252) CHANGED

154 : THE ERROR NUMBER IS 154

s -y

SEQ 0036




—— . ——— it W it e

DVKRCB MACYILl 27(1006) 17-JAN-77 15:14 PRGE 29
TEST FLORTING ARDD INSTRUCTION WITH OVERFLOW

OEE?BSE,RNSS ; CHECK DATAR FROM STARCK

DVKRC8.PL11 13-JAN-77 15:28

001402
104306
004504 0001SS

AR

14 001402
16 104000
004520 000156
004sSee 122767 000022
004530 001402
004532 104000
004534 000157

Pt et Pt ot Bt Pt ot Pt P o Pt Pt Pt Pt P Pt
A SSHSFRELR

004472 022767 077652 173746
004500
004506 022767 125253 173734

173654 ENDEe:

CHP
BEQ
HLT+6
155

CMP
BEQ
HLT+6
156

CMPB
BEQ
HLT
157

MO3

' BRANCH IF Ok
:DATA ON STRCK (077652) CHANGED
i THE ERROR NUMBER IS 1S5

IIESES3,RNSB s CHECK DATR FROM STACK
4

82,
.tb

:BRANCH IF 0K
:DATA ON STACK (125253) CHANGED
: THE ERROR NUMBER 1S 156

STESTN ;CHECK THE TEST NUMBER
: BRAN

: WRON T%ST' PC MUST HAVE FOULED UP.

THE ERROR NUMBER IS 157

SEQ 0037
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DVKACB MACY1l 27(1006) 17-JAN-77 15:14 PRGE 30 SEG 0038
DVKACB.P11  13-JAN-77 15:28 FSUB TEST SECTION

i};a H SHERRRERIE TR 00 0000300000800 0008 608 30 08 9 30 38 3 3 9% 36 98 30 9% 3 3 3 3 98 0% 36 0 3 3 % 36 % 3 3 3 % % % % % %

ﬁg s TEST aais 8557%2 (Lsi-u F:%HEN? ;uzmncv 6'{?},&”‘3”0”’

11 : : =5231 ?33'(52 NTER = Rl >0,

{i;g H !llll!!lI"lI"lilii'IINI!l*!Ilii!llilllllll!lll*lll!llllll!ll!!llll!lllllI!l

1180 0O453% 1044 OPE

HED 5% 0N o v FE s mumm e s woms avo mLsTack, seT PRIORIT

ﬁg nnurzcsw5 claomqn 017552 :30028 tlm : ;g@s% PRIORO?TEOIESEL

1185 w%gm 16442 000340 "WORD  TRAPER, 340 5r1§ TRAP VECTOR

Hgg 12701 000510 MOV 8STACKB, RL :GET UP STACK POINTER

1188 00OMS66 000240 NOP

Hgg 00MS70 075011 FSUB Rl :FLORTING SUBTRACT ON THE R1 STACK

1131 004572 004767 011426 JSR PC, POPR  ;POP THE ANSWER

1132 004576 010167 173632 MOV RI $SP ' GAVE “STACK POINTER™

nga mwisaam t111?_275,H 05 000010 173622 85"89 '951,0' $PSW ;%crxumf}(gﬁcm T BIT)

1195 004612 104000 HLT ' :PS NOT EQUAL TO 010

H?}' 004614 000160 160 : THE ERROR NUMBER 1S 160

1138 DOM616 022767 000514 173610 CMP 8STACKY, SSP :CHECK THE STACK POINTER (R1)

1199 004624 001402 BEQ .46 : BRANCH IF OK

1200 004626 104000 HLT ' STACK POINTER (R1) NOT EQUAL TO SSTACKY

}aa% 004630 161 161 :THE ERROR NUMBER IS 161

{%‘3 m muaaﬂgg 177520 173576 8{"’5 sig?sao,msx ‘Sg'fﬁﬂ'és&( HALF OF ANSWER

1205 004642 104002 HLT+2 ANS1 NOT EQUAL TO 177520

{% 004644 000162 162 ' THE ERROR NUMBER 15 162

iﬁ mmusg moaz?sw 0; 017552 17356M ggs oggsse,nnsa 385'%“5520& HALF OF ANSWER

1210 004656 104002 HLT+2 tANS2 NOT EQUAL TO 017552

i%i‘ 004660 000163 163 : THE ERROR NUMBER IS 163

iS{q Wmm éoa%; 000023 173514 END23: ggsa ugg, STESTN ‘%%ﬂ T?E (T)Esr NUMBER

1218 72 633000 HLT ] :WRONG TEST! PC MUST HAVE FOULED UP.

{ai‘? 74 164 164 THE ERROR NUMBER IS 164

1218

L .-



BOX

DVKRC8 MRCYL11 27(1006) 17-JAN-77 1S5:14 PRGE 31 SEQ 0039

DVKRCB.P11  13-JAN-77 15:28 FSUB TEST SECTION
1219
1220  SHJEIE 036 06 00006 0 06003006 0 000030 0000030 00300000003 S 000030 30003000 000 3 0 30 0
1221 STEST 24: FSUB (LSI-11 FLOATING SUBTRACT INSTRUCTION)
1222 ; 126262, 126262 - 126252, 126263 = 017400, 000000
1223 PS = ooo smcx #onm:n z RO
iaag l!!!il!l*i&!l!!‘!Ilﬂll!llll{Il!I!llIll!llll*lliilllll**li*l!ll'll»!!l!ll*!
1226 004676 104400 SCOPE
1227 004700 004567 011266 TST24: JSR PUSHR  ;PUSH 4 WORDS ONTO RO STACK, SET PRIORITY
1228 0ON70N 125252 125263 . WORD 125352 126263  :SECOND ON TOP
1229 004710 126252 126262 .WORD 126262)126262 :FIRST ON BOTTOM
1230 00M714 (000047 .MORD ON7 : PROCESSOR PRIORITY LEVEL
1231 00M716 Ole442 00030 WMORD TRAPER, 340 :FIS TRAP VECTOR
igaag 004722 012700 000S10 MOV 8STACKD, RO 'SET UP STACK POINTER
1234 00N726 000240 NOP
%g 004730 075010 FSUB RO :FLOATING SUBTRARCT ON THE RO STACK
1237 00M732 DOMN767 011266 ISR PC POPR  ;POP THE ANSKER
1238 004736 010067 173472 MOV §SP {SAVE “STACK POINTER"
1239 00M792 105767 17346M4 TSTB spéu c»:cx PS (EXCEPT T BIT)
1290 004746 001402 BEQ H IF 0K
1241 004750 104000 HLT PS NOT EQUAL TO 000
}agg 00M752 000165 165 :THE ERROR NUMBER IS 165
1244 0OM7SN 022767 000SI4 173452 CMP BSTACKY, SSP -CHECK THE smcx POINTER (RO)
1245 004762 001402 BEQ pea :BRANCH IF OK
1246 004764 104000 HLT :STACK POINTER (RO) NOT EQUAL TO #STACKY
i% 00M766 000166 166 :THE ERROR NUMBER IS 166
12499 004770 022757 017400 173440 CMP 8017400,ANS!  ;CHECK FIRST HALF OF ANSWER
1250 004776 001402 BEQ .+b s BRANCH IF OK
1251 00S000 104002 HLT+2 *ANS1 NOT EQUAL TO 017400
i% 005002 000167 167 ' THE ERROR NUMBER IS 167
1254 00S00M 005767 173430 ST ANS2 s CHECK szcoro HALF OF ANSWER
1255 005010 001402 BEQ . +6 ' BRANCH IF OK
1256 005012 10M002 HLT+2 :ANS2 NOT EQUAL TO 000000
ig 005014 000170 170 : THE ERROR NUMBER IS 170
1269 00S016 122767 000024 173360 END24: CMPB  #24,  STESTN ;CHECK THE TEST NUMBER
1260 005024 001462 BEQ .46 'BRANCH IF OK
126] 005026 104000 HLT :WRONG TEST! PC MUST HAVE FOULED UP.
i% 005030 000171 171 : THE ERROR NUMBER 15 171




Cco4

DVKRCB MACYLl 27(1006) 17-JAN-7? 1S:14 PARGE 32 SEQ 0040
DVKRCB.PI1  13-JAN-77 15:28 FSUB TEST SECTION

1265

1266 ll!illlllll!!l!!!!!l!!!!!“!llll!lll»lllllil!!llllllilll!llllllil!l&l*l!

1267 : TEST 25; FSUB (LSI-11 FLOATING SUBTRACT INSTRUCTION)

1268 ; ooa%u 123456 - 100177,177777 = 002460, 123456

1269 000 STRCK #omm = 6P

}22;? !!llll!il!llil!i!l!ll!!!l“lllli!l!!l!lllllll"l!ll!i!l!l!lllill!lill}i

1272 005032 104400 SCOPE

1273 005034 004567 010760 TST2S: JSR RS PUSHS  ;PUSH 4 WORDS ONTO STACK, SET PRIORITY

1274 DOSONO 100177 177777 JWORD  100177,177777  ;SECOND OPERAND ON TOP

1275 0OSOMM 002460 123456 JMORD 002460, 123456 ;FIRST OPERAND ON BOTTOM

1276 005050 15 JWORD  01S : PROCESSOR PRIORITY LEVEL

{% 005052 016442 000340 _MORD TRRPER, 340 :FIS TRAP VECTOR

1279 00S0SH NOP

{% 00S060 075016 FSUB  SP :FLORTING SUBTRACT ON THE STACK

1282 00S0B2 OQON767 010772 ISR PC POPS  ;POP THE ANSWER

1283 005066 022706 000600 cHP $BEGIN, SP : CHECK THE STACK POINTER

1264 00S072 0O0I40S BEQ TSA25 *BRANCH IF 0K

{eeg 005074 012706 000600 MOV #BEGIN, SP ! RESTORE STACK POINTER

1287

1288

1789

1290

1291 00S100 104000 HLT smcx POINTER FOULED UP

1282 005102 000172 172 ! THE ERROR NUMBER 1S 172

{qua 00S10M 000422 BR END2S :SKIP REST OF TEST

1295 00S106 122767 000000 173316 TSA2S: CMPB 8000, SPSW  ;CHECK PS (EXCEPT T BIT)

1296 005114 0O0I402 BEQ .46 BRANCH IF OK

1297 00S116 104000 HLT :PS NOT EQUAL YO 000

ig 005120 000173 173 :THE ERROR NUMBER IS 173

1300 005122 022767 002460 173306 CMP 8002460,ANS!  ;CHECK FIRST HALF OF ANSWER

1301 005130 00I4C2 BEQ .46 BRANCH IF OK

1302 005132 104002 HLT+2 :ANS1 NOT EQUAL TO 002460

i% 005134 000174 174 :THE ERROR NUMBER 1S 174

1305 005136 022767 123456 173274 CMP #123456,ANS2  ;CHECK SECOND HALF OF ANSWER

1306 0OS144 001402 BEQ .46 ; BRONCH_IF K

1307 005146 104002 HLT+2 :ANS2 NOT EQUAL TO 123456

ng 005150 000175 175 ' THE ERROR NUMBER IS 175

1310 005152 122767 000025 173224 END2S: CMPB  #25,  STESTN ;CHECK THE TEST NUMBER

1311 005160 001402 BEQ res ' BRANCH IF OK

1312 005162 104000 HLT 'WRONG TEST! PC MUST HAVE FOULED UP.

i%ii’. 005164 000176 176 : THE ERROR NUMBER IS 176

1315

- — ———— - - -



OVKACB MACY1Ll 27(1006)
DVKRCB.P11 13-JAN-77
1316
1317

W
—
JO 00

ittty 22 2 2 22 Ep A L e

Pmn s Pt Pt Pt Pt Pt s Pt Pt Pt Pt Pt Pt Pt Pt Pt Pt Pt Pt Pt Pt Pt P Pt Pt Pt Pt et P Pt Pt Pt Pt Pt Pt Pt Pt Pt P Prnct Pt Pt Pt

&

3 R

5‘

005767
001402

S % I

005310
005316
005320
005322

122767
001402
104000
000203

17-JAN-77 15:14 PAQGE 33
FSuB TEST SECTION

15:28

010776
12525e

000340
000510

010776
173202
000200

000S 1Y
000200

173136

000026

DOH

s JE R BRI 00 0 00 I B S R R R RN RN R R Y
TEST 26

TSTeh:

173172

173160

173146

173066 END26:

FSUB (LSI-11 FLOATING SUBTRACT INSTRUCTION)
26, 052625 - 126282 = oooaoo,oooooo
ebo STACK #01NTER =
!!l!IIlI*l!l~llI&l!l!!llllHlil!I!lIlllilll!lllill!li!!llliil!lillil{l!l

SCOPE
ISR RS PUSHR  ;PUSH 4 WORDS ONTO R4 STACK, SET PRIORITY
_WORD  000262,125262  :SECOND OPERAND ON TOP
. WORD oooqas 062525 FIRST ON BOTTOM
- WORD ; 3ﬂp PRIORITY LEVEL
"MORD TRAPER, 340 FIS T
MOV 8STACKD, RY :SET UP srncx POINTER
NOP
FSUB RY :FLOATING SUBTRACT ON THE R4 STACK
e RI eep NTER™
CMPB nabn sgsu E“VEx 35 (Exces § BIT)
azg annncu IF 0K
e TR CRROA NOMBER T8 177
gEP oggncxu,ssp Hccx THE STACK POINTER (RY)
HL | g¥h£§ PSIN?ER (R4) NOT EQUAL TO 8STACKY
200 :THE ERROR NUMBER IS 200
CMP 000200, ANS1 s CHECK F%RST HALF OF ANSWER
BEQ _+6 s BRANCH IF OK
HLT+2 nnsx NOT EQUAL TO 000200
201 : THE ERROR NUMBER 1S 201
TST ANS2 + CHECK secono HALF OF ANSWER
BEQ .46 : BRANCH ¥r
HLT+2 ANS2 NOT EQUAL TO 000000
202 : THE ERROR NUMBER 1S 202
CMPB %26, STESTN ;CHECK THE TEST NUMBER
BEQ _+6 :BRANCH_IF OK
HLT 'WRONG TEST! PC MUST HAVE FOULED UP.
203 : THE ERROR NUMBER IS 203

SEQ 004l




OVKACB MACYLL 27(1006)

DVKRCB.Pl11

1363

1381

SERSRIM IR AT 2AE He RN

52833

00300

005376

005400
00S406
00S410
oos412

OOS41Y4

00S424
00S426

0o0S430
D0S436
00S440
005442

DOSH44
005452
005454
005456

EOH

17-JAN-77 15:14 PRGE 34

13-JAN-77 15:28

s

077652
177452
0003S7
016442
000240
075016

822706
001405
012706

104000
000204
000422

122767
001402
104000
000205

022767
001402
104002
000206

022767
001402
104002
000207

122767
001402
104000
000210

010466
125252
12sese

000340

ol

000600

000210
177777
177777

000027

FSUB TEST SECTION

s RRERREEEHERERERRRERERERRRIHER R ERRERERERARRERERERRRRRRRRRRRRRRERFRERRRRE

' TEST 27: FSUB (LSI-11 FLORTING SUBTRACT INSTRUCTION)
: 177 125252 - 077652,125252 = 177777,177777
: alo STRCK Poxnrsn = Sp

l!illll!ill!lll‘llllil!ll!lIlllill!l!l!'lI!l!!lilll!li!!llil!!iillillll

C

15127: ?sgpi PUSHS  ;PUSH 4 WORDS ONTO STRCK, SET PRIORITY
. HORD or#ssa 125262  :SECOND OPERAND ON TOP
"WORD 177462126262 :FIRST OPERAND ON BOTTOM

.WORD 357 Pnocssson Paxonrrv LEVEL
"WORD  TRAPER, 340 FIS TRAP VECTOR
NOP
FSUB  SP :FLOATING SUBTRACT ON THE STACK
JSR POPS : POP TH§
CHP uatcxN SP :CHECK THE srncx POINTER
BEQ TSR27 :BRANCH IF OK
MOV 8BEGIN, SP :RESTORE STACK POINTER
MLT :STACK POINTER FOULED UP
204 : THE ERROR NUMBER IS 204
BR END27 'SKIP REST OF TEST
173024 TSR27: CMPB 8210, SPSW :CHECK PS (EXCEPT T BIT)
BEQ .46 :BRANCH IF OK
HLT :PS NOT EQUAL TO 210
205 : THE ERROR NUMBER IS 205
173014 SEE '1%7777'9"51 ; CHECK F%RST HALF OF ANSWER
HLT+2 RNSI NOT EQUAL TO 177777
206 : THE ERROR NUMBER IS 206
173002 CMP 8177777, ANS2 s CHECK sscouo HALF OF ANSWER
BEQ .+6 :BRANCH IF OK
HLT+2 nnsa NOT EQUAL TO 177777
207 : THE ERROR NUMBER IS 207
172732 END27: (MPB 827, STESTN ;CHECK THE TEST NUMBER
BEQ s : BRANCH IF OK
HLT : JRONG TEST! PC MUST HAVE FOULED UP.
210 : THE ERROR NUMBER IS 210




Fo4

DVKRCB MACYIl 27(1006) 17-JAN-77 15:14 PAGE 35 SEQ 0043
DVKRCB.P11  13-JAN-77 15:28 FSUB TEST SECTION

1413

1414 llliiililllllllill*llll!!llllllil!llilllilll!lll!l!llllllllllll!ll!ll!l

1415 :TEST 30: FSUB (LSI-11 FLORTING SUBTRACT INSTRUCTION)

141 : 035152, 125252 - 043125,062525 = 143125, 052524

141 : PS = 010 STRCK POINTER = R3

l‘ilg lllll!lli!lilli‘!l!lill!llilllillill!ll!ll!llil!!l!ll!l!lllll!i*llllill

141

1420 %:g 104400 SCOPE

1421 004567 010504 TST30: JSR PUSHR  ;PUSH 4 WORDS ONTO R3 STACK, SET PRIORITY

1422 nosw% 0N3125 (052525 . HORD 0"5125 052525  :SECOND OPERANO ON TOP

1423 DOS472 035152 126252 "WORD 035152 126252 rmsr OPERAND ON BOTTGM

1424 005476 000147 - WORD * c;gzga m*onm LEVEL

1425 016442 000340 "WORD TRAPER, 340 rrs

i:aeg 012703 000510 MOV 8STRCKD, R3 'SET UP STACK POINTER

1428 00SS510 000240 NOP

izg 00S512 075013 FSUB  R3 :FLORTING SUBTRACT ON THE R3 STRCK

1831 0OSSIM DOM767 010504 JSR PC POPR  ;POP THE ANSKER

1432 005520 010367 172710 MOV $SP SAVE "STRCK POINTER"

1433 DOSS&M 122767 000010 172700 CMPB ooio §PSW  :CHECK P? (EXCEPT T BIT)

1434 005532 001402 BEQ ' BR 0K

1435 00SSM 104000 HLT 'PS NOT EQUAL TO 010

{:33,5} 00SS36 000211 211 : THE ERROR NUMBER IS 211

1438 00SS40 022767 000514 172666 cMP $STACKY, 5P ;CHECK THE STACK POINTER (R3)

1439 00SS4 001402 BEG .+b BRANCH IF OK

1440 NOSSSO 104000 HLT smcx POINTER (R3) NOT EQUAL TO #STACKY

i::é 005552 000212 212 s THE ERROR NUMBER IS 212

1843 00S554 022767 143125 172654 CMP $143125,ANSI s CHECK FIRST HALF OF ANSWER

1444 005562 001402 BEQ .46 BRANCH IF 0K

1445 (00SS6M 104002 HLT+2 *RNS1 NOT EQUAL TO 143125

im 005566 (000213 213 ' THE ERROR NUMBER IS 213

1448 00S570 022767 052524 172642 CMP 8052524,ANS2  ;CHECK SECOND HALF OF ANSWER

1449 00S576 001402 BEQ . +6 : BRANCH IF OK

1450 % 104002 HLT+2 :ANS2 NOT EQUAL TO DS2524

i@ 000214 214 ' THE ERROR NUMBER IS 214

1453 00S6O4 122767 000030 172572 END30: CMPB %30,  STESTN ;CHECK THE VEST NUMBER

1454 00S612 001402 BEQ 46 :BRANCH IF OK

1455 (Q0S614 104000 HLT 'WRONG TEST! PC MUST HAVE FOULED UP.

%:Ssg 005616 000215 215 THE ERROR NUMBER IS 215




DVKACB MACY1l 27(1006)
13-JAN-77

OVKRCB.P11

17-JAN-77 15:14

15:28

000S1Y

143325

052525

000031

GO4
PAGE 36
FoUB TEST SECTION

SOOI IS0 0 0 0000 000 0000 000 00 00 00 06 36 06 30 06 31 06 S 00O R N R RHRERERRRHRHHRH R R R

‘TEST 31: FSUB (LSI-11 rLonTxnc SUBTRACT INSTRUCTION)
: 143325 062625 - 135152,125252 = 14332%,052525
: 2lo STACK POINTER = RO
l!I!lll!!llliliilllllllllllllllll!ll!illll’llllll!ll!llllilliil!ll!llll
SCOPE
TST31: JSR PUSHR :PUSH 4 WORDS ONTO RO STACK, SET PRIORITY
. HORD 13%1 SECOND OPERAND ON TOP
WORD 143325 osesas :FIRST OPERAND ON BOTTOM
JWORD 243 PR°°$R98“ PR%ORITY LEVEL
"WORD  TRAPER, 340 iFIS
4OV 8STACKD, RO 1SET UP STARCK POINTER
NOP
FSUB RO :FLORTING SUBTRACT ON THE RO STACK
JSR PC POPR THE ANSHER
MOV §SP snvt “STACK POINTER"
172540 CMPB calo $PSW  :CHECK PS (EXCEPT T BIT)
BEQ - BRANCH é 0K
HLT :PS NOT EQUAL TO 210
216 : THE ERROR NUMBER IS 216
172526 CMP 85TACKY, §5P :CHECK THE STACK POINTER (RO)
BEQ pea ‘BRANCH IF OK
HLT srncx POINTER (RO) NOT EQUAL TO #STACKY
217 :THE ERROR NUMBER IS 217
172514 CMP #143325, ANS| : CHECK FIRST HALF OF ANSWER
BEQ e :BRANCH IF 0K
HLT+2 :ANS1 NOT EQUAL TO 143325
220 : THE ERROR NUMBER IS 220
172502 CMP ¥052525,ANS2  ;CHECK SECOND HALF OF ANSWER
BEQ e ‘BRANCH IF OK
HLT+2 :ANS2 NOT EQUAL TO osesas
221 : THE ERROR NUMBER 1S 221
172432 END3l: CMPB  #31,  STESTN ;CHECK THE TEST NUMBER
BEQ 46 : BRANCH IF OK
HLT :WRONG TEST! PC MUST HAVE FOULED UP.
2202 ' THE ERROR NUMBER 15 222

]

SEC 0044




DVKRCB MACY1l 27(1006)
DVKRCB.P11

1505
1506
1507

28

v iAo
Pt et Pt Pt et Pt Pt Pt Pt Pt
OOV NLEW—0O

R RS R R R R RS S

Smt Pt Pt Pt Pt Pt Pt P
FHRESHES

006102

006104
0obl12
006114
00tllib

13-JAN-77

022767
001402
104002
000226

122767
001402
104000
000227

17-JAN-77

15:28

e

125252

000340
000S10

010204
172410
000200

000514
043325
052525

000032

1S:14 PAGE 37

HOY

FSUB TEST SECTION

3 I S S S R R R R AR R R R R R R R NI R R R R RN
FSUB (LSI-11 FLOATING SUBTRRCT INSTRUCTION)
é%S‘SS 125252 - 143325,05¢525 = Q43325,052525

STACK POINTER = RS
l!l!llll!l!llilil!l!lili*l*!llllllllll!l!!!ll!lllllllllllllll!lllllllll

TEST 3e:

TST13¢2:

172400

172366

172354

172342

172272 END32:

SCOPE
JSR

. WORD
. WORD

PUSHR
143325 052525
égsu;a 125262

TRAPER, 340
8STRCKO, RS
RS

PC POPR

$SP
sabo $PSW

8STACK4, SSP
.46
#043325,ANS1
. b
8052525, ANS2
. +6

832, STESTN
. +6

P Y WORDS ONTO RS STACK, SET PRIORITY
COND OPERAND ON TOP

FIRST OPERAND ON BOTTOM

;PROCESSOR PRIORITY LEVEL

iFIS TRAP_VECTOR

:SET UP STACK POINTER

; FLORTING SUBTRACT ON THE RS STARCK

SRVE HETRCK OINTER"
:CHECK PS_(EXCEPT T BIT)
:BRANCH IF OK

:PS NOT EQUAL TO 200
:THE ERROR NUMBER 1S 223

;CHECK THE STRCK POINTER (RS)
:BRANCH IF 0K

STRCK POINTER (RS) NOT EQUAL TO #STACK4
; THE ERROR NUMBER I

; CHECK FIRST HALF OF ANSKWER

i BRANCH IF OK

R 1 _NOT EQUAL TO 043325
ERROR NUMBER IS 225

; CHECK SECOND HALF OF ANSWER
s BRANCH IF 0K

:ANG2 NOT EQUAL TO 052525

i THE ERROR NUMBER IS 226

;CHECK THE TEST NUMBER

; BRANCH IF OK

HRONG TEST! PC MUST HAVE FOULED UP.
: THE ERROR NUMBER IS 227

SEG 0045

-




DVKRCB MACY11 27(1006)
JAN-77

DVKRCB.P11

R ERERGE BR RRARRER
& IJITEZ KB FSHRIRE

£ B

§ RS

13-

001402
000233

122767

1402
104000
000254

17-JAN-77

15:28

010044
125252
052525

000340
000510

0%0044
172250
172242

000S14
043125
052524

000033

15:14 PAGE 38
FSUB TEST SECTION

104

5 S0 I 0T 0HIEIEIEIE I I3 B HEHHHHHEEEHHHEHHHHHHHE R R R R Y
FSUB (LSI-11 FLOATING SUBTRACT INSTRUCTION)

$TEST 33:

TST33:

172230

172216

172204

172134 END33:

poizg geeses —Gpiee e ool e

!lill!ll!*!lllli!illIlllllllllfllllllll!!lllll!l!li 11222822222 2222222 2"

SCOPE
JSR

. WORD
.WORD
. WORD
. WORD
MOV

NOP
FSUB

JSR
MOV
TSTB
BEQ
HLT
230

CMP
BEQ
HLT
231

CHP
BEG
HLY+2
232

CMP
BEQ
HLT+2
233

CMPB
BEQ
HLT
234

035152 12532“
043125, 052525
040

TRAPER, 340
8STACKD, R2

R2

PC, POPR
R2 §SP
$PSW
.+6

#STACK4, §SP
.+b
#043125,RANS1
. +b
8052524, ANS2
. +b

833, STESTN
.+b

;PUSH 4 ONTO R2 STRCK, SET PRIORITY
:SECOND OPERAND ON TOP

FIRST OPERAND ON BOTTOM

: PROCESSOR PRIORITY LEVEL

'FIS TRAP_VECTOR

;SET UP STACK POINTER

;FLOATING SUBTRACT ON THE R2 STARCK

SSCE HETQ

:CHECK PS (EXCEPT T

i BRANCH IF OK
:PS_NOT EQUAL TO 00O
s THE ERROR NUMBER IS 230

; CHECK THE STRCK POINTER (R2)

:BRANCH IF OK

STRCK POINTER (R2) NOT EQUAL TO 8STRCKY
; THE ERROR NUMBER [S 231

; CHECK FIRST HALF OF ANSWER
s BRANCH IF OK

:ANS1 NOT EQUAL TO 043125

: THE ERROR NUMBER 1S 232

s CHECK SECONO HRLF OF ANSKER
'BRANCH IF OK

:ANS2 NOT EQUAL TO 052524

: THE ERROR NUMBER IS 233

;CHECK T BEST NUMBER

:BRANCH I
HRONG TEST! PC MUST HAVE FOULED UP.

: THE ERROR NUMBER 15 234

OINTER”
BIT)

SEG 0046
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1697

1598 l!lil!ll!l!llllll&llli!lll*ll!l!ll!!lllllllll!l!llllllll!!lllllllllllll

1599 TEST 34: FSUB (LSI-11 FLOATING SUBTRACT INSTRUCTION)

1600 . 000000, 000000 - 000000, 000000 = 000000, 000000

1601 : PS = 204 STRCK POINTER = RO

i% l&l!lil!!l!llllilllill!l!“lill!l!llll!l!l*lﬂl!lii!Illl!lll!llil!i!lllil

1604 006256 104400 SCOPE

1605 006260 004567 007706 TST34: JSR RS PUSHR  ;PUSH 4 WORDS ONTO RO STACK, SET PRIORITY

1505 006264 000000 000000 _WORD  000000,000000 :SECOND OPERAND ON TOP

L 006270 oooooo" 000000 . WORD oooooo,oooooo FIRST opsmmm O?TQOH:OVEL

1(@ &Si‘é 164942 000340 15838 ?rﬁnpea 340 *8%339“ {82

{E{? 006302 012700 000510 MOV STACKY, RO :SET UP STACK POINTER

161 NOP

igiu M 8923}'8 FSUB RO :FLOATING SUBTRCT ON THE RO STACK

el e G oo I Y

121 %3&5 1 ? 608%4 172102 CMPB .Soq, igsu S (Exc% BIT)

{gfg moi% Sﬁ +6 anmm; é&:gf 70 2

i%%? %ggqe ﬂneas 235 ' THE ERROR NUMBER ?E 235

1622 00633 022767 000514 172070 CMP §STRCKY, §SP : CHECK THE smcx POINTER (RD)

1623 006344 001402 BEQ .46 BRANCH IF

1624 006346 104000 HLT : STACK POINTER (RO) NOT EQUAL TO #STACKY

{% 006350 000236 236 : THE ERROR NUMBER IS 236

1627 006352 005767 172060 15T ANS1 : CHECK FIRST HALF OF ANSWER

1628 006356 001402 BEQ 46 *BRANCH IF OK

1629 006360 104002 HLT+2 *ANS1 NOT EQUAL TO 000000

{ggtl] 006362 0GJ237 237 : THE ERROR NUMBER IS 237

1632 006364 DOS767 172050 1ST ANS2 c%w s§com HALF OF ANSKER

1633 00270 001402 BEQ . +6

1634 006372 104002 HLT+2 ANS2 NOT EQUAL TO 000000

{& 006374 000240 240 : THE ERROR NUMBER IS 240

1637 %m 122767 000034 172000 END34: CMPB 834, $TESTN ;CHECK THE TEST NUMBER

1638 4o4 OOI4 BEQ +6’ 'BRANCH IF OK

1639 06406 104000 HLT ‘WRONG TEST! PC MUST HAVE FOULED UP.

ig:? 0Ue410 000241 241 : THE ERROR NUMBER IS 24l
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006412
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000514

Q777277

177777

000035

FSUB TEST SECTION

S IR I I IS IO I I I R R R R R R RS R Y
FSUB (LSI-11 FLOATING SUBTRACT INSTRUCTION)

TEST 35

oooooo %77777 177777 =
TRCK POINTER =

2277?77 177777

'llll!!!l!lll!l*‘!l!l!lll*llll*lllll!lllllll!llliilll!l*i!llllllll!!ll!I

TST3S:

171736

171724

171712

171642 END3S:

S
JSR

Ianpsn 340
8STACKD, R2

R2

PC, POPR
R2 $SP
$PSu

.+b

#STACKY, SSP
.+b
8077777, ANS]
.46
8177777, ANS2
.+6

835, STESTN
.+b

;PUSH 4 WORDS ONTO RE STARCK, SET PRIORITY
:SECOND OPERAND ON T
FIRST OPERAND ON BOTTOH

gCIERSR PRIORITY LEVEL

SET uP STQCK POINTER

;FLORTING SUBTRACT ON THE R2 STRCK

VEK gS (EXCE&TT R;IT)

BRANCH
:PS_NOT EQURL 0 000
:THE ERROR NUMBER IS 242

; CHECK THE STRCK POINTER (R2)

:BRANCH IF 0K

:STRCK POINTER (R2) NOT EOURL TO #STRCK4
; THE ERROR NUMBER IS 243

; CHECK FIRST HALF OF RNSWER
:BRANCH IF OK

:ANS1 NOT EQUAL TO 077777

: THE ERROR NUMBER IS 244

; CHECK SECOSE HALF OF RANSKER

: BRANCH I
:ANS2 NOT EQUAL TO 177777

: THE ERROR NUMBER IS 245
; CHECK THE TEST NUMBER

:BRANCH_IF 0
s WRONG TEST' PC MUST HAVE FOULED UP.

: THE ERROR NUMBER IS 246
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EEREERRRER

NNN
Vs pe
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1713

13-JAN-

122767
001402
104000
000253
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FSUB TEST SECTION

007242
1727777
000000

000340

007254
000600

000600

000210

177777

177777

000036

LOY

RIS R I I I I I 0 I S0 I IO 3330 03I 30 23 3 2 A
FSUB (LSI-11 FLOATING SUBTRACT INSTRUCTION)

;TEST 36:

077777177227 = 57777 177777
STACK POINTER =

!llllll!ll!lllli!l!*lﬂlllll*l‘lil!l!lllllilll!l!i«li*ll!lllil!l!llll*liiil

TST36:

171600

171570

171556

171506

TSR36:

END36:

0000 000000 -
2l0

SCOPE

ISR PUSHS
. WORD 07?777 1777727
-WORD 000000 000000
.WORD 217

-WORD YRRPER N0
NOP

FSUB  SP

ISR POPS
cHP cetcm SP
BEQ TSA36

MOV 8BEGIN, SP
HLT

247

BR END36

CMPB  #210, SPSW
BEQ .46

HLT

250

CMP 8177777 ,ANSL
BEQ .46

HLT+2

251

cHP 8177777 ,ANS2
BEG .+6

HLT+2

262

CMPB 836,  STESTN
BEQ .+b

HLT
253

;PUSH 4 WORDS
s SECOND OPERAND 0
sFIRST OPERAND o8 BOTTOM
; PROCESSOR JCRIORITY LEVEL
'FIS TRAP VE

; FLORTING SUBTRACT ON THE STACK

;POP THE ANSKER

: CHECK THE STRCK POINTER
: BRANCH_IF 0K

RESTORE STRCK POINTER

; STRCK POINTER FOULED UP
: THE_ERROR NUMBER IS 247
;SKIP REST OF TEST

; CHECK PS (EXCEPT T BIT)
s BRANCH IF

:PS_NOT EQURL T0 210
; THE ERROR NUMBER IS 250

; CHECK FIRST HALF OF ANSWER
:BRANCH IF 0K

sANSL NOT EQUAL TO 177777

; THE ERROR NUMBER 15 251

; CHECK SECOND HALF OF ANSWE v
sBRANCH IF 0K

ANS2 NOT EQUAL TO 177777

: THE ERROR NUMBER 1S 252

;CHECK THE TEST NUMBER
:BRANCH_IF OK
WRONG_TEST!
:THE ERROR NUMBER 15 253

KORDS ONTO SggCK SET PRIORITY

PC MUST HAVE FOULED UP.

b

L)

SeqQ 0049
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1740
1741 !!lll!llliill*I'I!I!ll!lll!l!i!lIlllllll!lilllilllllilll!l!ll!lll!l!!llll
g:g sTEST 37: FSUB (LSI-11 FLommc sugmcr R’I_ESTRUCTION)
l 2=
179 : 8_9,30,4 s?ﬁ% )i- axg ﬁ Pon# 8
i% !llll!llllll!lll 1.!lll‘illhli!lllll!llillll!llllil*l*lﬂl!l!!!l’lll!!!!!!il

7
3 B 2

gl
8
Rl
g
H 3

SEERRRERRRE
:
3
;
oR2

&
J
3

007022 104001
000257

007026 (022767
001402
007036 104002

000260

ReEsegd

1786 007042 022767
1787 007050 001402

1789 007054 000261

1791 007056 022767
1792 007064 001402

78] 807070 b0coes

SCOPE
007106 TST37: JSR RS PUSHS ;PUSH 4 WORDS ONTO smcx SET PRIORITY
125263 .WORD  0D02S2, 125253 secom OPERAND ou op
052525 WORD 000425, 052525 ogs
. WORD gﬂ PROC aap m;onm LEVEL
000340 _WORD ISR37, 340 133
NOP
FSUB  SP :FLORTING SUBTRACT ON THE STACK
007120 RTA37: JSR PC, POPS  ;POP m ~ANSWER"™
HLT+2 SF1 é omu T occuns'
254 R IS 254
000600 NOV 8BEGIN, SP RESTORE n£ STRCK POINTER
BR END37
007134 ISR37: JSR PC POPES ;POP ALL DATA OFF THE STACK
000600 cHP 88EGIN, SP s CHECK n-s STACK POINTER
BEQ ISR37 sBRANCH IF OK
000600 MOV 8BEGIM SP RESTORE THE STACK POINTER
emgg :STACK POINTER rgufgoatsjg
BR END37 sx'fp REST H
000340 171426 ISA37: CMPB 8340, SPSW  ;CHECK PS AFTER FIS TRAP
BEQ .46 m g ?x
HLT TER FIS TRAP NOT EQUAL TO 340
256 :THE ERROR NUMBER IS 256
006734 171416 EEE uggn:ﬂ, ANS1 cnscx Fi? TRAP RETURN ADDRESS
HLT+l FIS TRRP m WRONG ADDRESS
257 : THE ERROR NUMBER 1S 257
000212 171404 cHP #212, ANS2  ;CHECK PS BEFORE FIS TRAP
BEQ .46 * BRANCH IF OK
HLT+2 :PS AT FIS TRAP TIME NOT 212
260 : THE ERROR NUMBER IS 260
000252 171372 cHP $000252,ANS3  ;CHECK DATA FROM THE STACK
BEQ .46 : BRANCH IF OK
HLT+4 onm ON STACK (oooasa) cnnnceo
261 s THE ERROR NUMBER I
125253 171380 cMP #125253,ANSY  ;CHECK DATA FROM STACK
BEQ .46 :BRANCH IF OK
HLT+4 nm g TACK (125253) CHANGED
262 HE ERROR NUMBER 1S 262

SEQ 00S0
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179 007072 022767 000425 171346 CMP #00042S, ANSS ; CHECK DRTR FROM STACK

1797 007100 00140¢ BEQ .46 :BRANCH IF 0K

1798 007102 104006 HLT+6 :DATA_ON STACK (000425) CHANGED

{g 007104 000263 263 : THE ERROR NUMBER 1S 263

1801 007106 022767 052525 171334 cMP 8052525, ANSG CHECK DRTAR FROM STACK

1% 007114 001402 BEQ .+b ; BRANCH IF 0K

1 007116 104006 HLT+6 :OATA_ON STACK (052525) CHANGED

ig&' 007120 000264 264 TPE ERROR NUMBER IS 264

1806 007122 122767 000037 171254 END37: CMPB 837, STESTN ;CHECK THE TEST NUMBER

1807 007130 001402 BEQ .46 :BRANCK_IF 0K

1808 007132 104000 HLT :WRONG TEST! PC MUST HAVE FOULED UP.

}g?g 007134 000265 265 i THE ERROR NUMBER IS 265

1811
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007026
125253

000344
000sS:0

007026
171232

007040
171214
000344

000510
007172
000002
177452

125252

171204

171172

171160

171146

171134

i711ee

BOS

3 IR B IS I I I PN SR R AR
FSUB (LSI-11 FLOATING SUBTRACT INSTRUCTION)

TEST 40:

077652, 126263 - 1774S2,
PS(ON STRCK) = 002

25252 x=) QVERFLOM

STACK POINTER =

!llllllllllil!lllll!l*lllillillllllll!llll&llllll!ll!llillllll!l!llll!l!

SCOPE
TST40: JSR

. RORD

-WORD

. WORD

. WORD

MOV

NOP
FSuB

RTA40: JSR
MOV
HLT+2
2bb

ISRM0: JSR

a7e

HLT+4
e73

CMP
BEG
HLT+4
274

PUSHR
17?«452 126252
077652, 125253
015
ISRN0, 34Y4
85TACKD, R3
R3
PC, POPR
R3] §SP
ENDY4O
PC POPER

§SP
1344 SPSW

8STACKO, SSP
.46
$RTA4O, ANS!
.46

#8002, ANSe

.+b

#177452,ANS3
.+b

#125252, ANSH
.+b

; PUSH 4 WORDS 0"53 RgPSTRCK SET PRIORITY

SET UP R3 AS STRCK POINTER

;FLORTIM. SUBTRACT ON THE R3 STACK
; POP_THE 'RNSHER“

s SAVE_STACK POINTER (R3)

:F1S TRAP DIDN'T OCCURE

: THE ERROR NUMBER 1S 266

;POP ALL DATR OFF THE STACKS
;SAVE STACK POINTER (R3)
: CHECK PS_RFTER FIS TRAP
BQRNC IF 0K
PS RFTER FIS TRAP NOT EQUAL TO 344
THE ERROR NUMBER IS 267

; CHECK THE STACK POINTER (R3)

: BRANCH_IF 0K
:STACK POINTER (R3) NOT EQUAL TO #STACKO
; THE ERROR NUMBER IS 270

; CHECK FIS TRAP RETURN ADDRESS
: BRANCH IF OK

:FIS TRAP AT WRONG ADORESS
:THE ERROR NUMBER IS 271

; CHECK PS EEFORE FIS TRRP
:BRANCH_IF 0K

'PEERT FIS TRAP TIHE N?T 002

;CHECK DATA FROM THE STRCK
BQENCH IF 0K

*DATR ON STACK (177452) CHANGED
: THE ERROR NUMBER IS 273

; CHECK DATR FROM STRCK

:BRANCH IF 0K

:DATA ON STACK (125252) CHQNGED
' THE ERROR NUMBER IS 274

SEQ 0ase
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1868 007330 022767 0778652 171110 cHe 8077652, ANSS ; CHECK DRTR FROM STACK

1869 00733 001402 BEQ .46 s BRANCH IF 0K

1870 007340 104006 HLT+6 :DATR ON STACK (077652) CHANGED

iﬂn 007342 000275 275 : THE ERROR MUMBER 1S 275

13;5 007344 (022767 125253 171076 cMP $125253, ANSE ; CHECK DATA FROM STARCK

1874 007352 001402 BEQ .46 : BRANCH 1F 0K

1875 007354 104006 HLT+6 tDATA ON STACK (125253) CHANGED

{g;g 0073s6 000276 276 : THE ERROR NUMBER 1S 276

1878 007360 122767 000040 171016 END4O: CMPB 840, STESTN ; CHECK Tl£ TEST NUMBER

1879 007366 001402 BEQ .+b :BRANCH_IF OK

1880 007370 104000 HLT ' WRONG TEST! PC MUST HAVE FOULED UP.

iggé 007372 000277 277 : THE ERROR NUMBER 1S 277

1883
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168
1523

13-JAN-77 15:28

FMUL TEST SECTION

R III 2222 22l il et dliil e e ladlelilasad i sl st taidddstassdlellss;

TEST Mi1;

oo, i s Lol RIS

% &OBTRBCTION)

STRCK POINTER =

1888
i% I'l!ll!lll!!lllli!l!llll!l“ll“llllli!!!!l!llllllll!l!!ll!l!li!lil{ll!!
1891 007374 104400 SCOPE
1892 007376 0OMS567 006570 TST41: JSR RS PUSHR &ms ONTO R4 STACK, SET PRIORITY
1893 007402 000000 000000 .WoRD 000000, 000000 sscom TOP
{% m?g ooucluln 000000 .MORD (000000, 000000 rmsv opsngrﬂomo?TeoEgnm
1896 18 gx’Ew 000340 :% W\PER 40 85&&“ *
{gg 007420 012704 000510 MOV 8STACKD, RY smcx POINTER
1899 007424 000240 NOP
ig[o]? 007426 075024 FMUL  RY :FLOATING MULTIPLY ON THE R4 STACK
1305 DO7MM Siouer 23 o Ry s DINTER®
1904 % 1 7 00000M 17076M CMPB 800y, ggsu énvEx as (ex ? BIT)
1905 007446 001402 8EQ _+b :BRANCH IF OK
1906 007450 104000 HLT :PS NOT EQUAL TO OOM
{g 007452 000300 360 : THE ERROR NUMBER IS 300
1909 007454 (022767 000SIM 170752 CMP ssmcm $SP : CHECK THE STRCK POINTER (R4)
1910 007462 001402 BEQ +6 *BRANCH IF OK
1811 007464 104000 HLT STACK POINTER (R4) NOT EQUAL TO #STACKY
{g{g 007466 000301 30! : THE ERROR NUMBER IS 301
1914 70 m? 170742 75T nns1 c+£cx FIRST HALF OF ANSKWER
{3{2 0074;2 1o~1+ooe BE? 2 *® 1 T £

HLT+
13% 007500 000302 302 nfé e%n %R 12 302
{919 007502 %ﬁ&; 170732 ggg nnga :CHECK SECOND HALF OF ANSWER

+

1% % 104002 HLT+2 gﬁsz no* ngm T0 000000
i% 007512 000303 303 :THE ERROR NUMBER 1S 303
124 007514 122767 0000N1 170662 ENDYl: CMPB #41,  STESTN ;CHECK THE TEST NUMBER
] 5 007522 001402 BEQ .+b *BRANCH IF OK
.326 007524 104000 HLT TWRONG TEST! PC MUST HAVE FOULED UP
{3%79 007526 000304 304 ' THE ERROR NUMBER 15 304
1329
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]
{ il!!llli!&*l!!ll!l!!INIINIl“llllIlliﬁllllll!llllll!lll!!l!!ll!llll!l!lll
1 s TEST M2: FMUL u.sz 11 FLORTING un% {gsa‘rggcnom
333 : 440209,00000 * RoGdioadiiieh = A3°
qu lil!lllIll!ll!iillllllllll!l!llllll!!ilﬂlli*lllll}!lilﬂll’i!illililll{lll!
1937 007530 104400 SCOPE
1938 007532 004567 006434 TST42: TSR PUSHR  ;PUSH 4 WORDS ONTO R2 STACK, SET PRIORITY
1939 052345 123456 . WORD oséaqs 123956 ,sscono OPERAND ON TOP
i&? 00752 ; . 000000 :EiPed OPEPR °?T$°EE'JEL
1942 m7s§'8 u’mg 000340 25858 ?“&am 340 r18°$338“ *@
im 007554 012702 000510 MOV nsmcxb R2 :GET UP STRCK POINTER
1945 007560 000240 NOP
i;:g 007562 075022 FMUL R2 :FLOATING MULTIPLY ON THE R2 STACK
1948 007564 O00N767 DOB43Y JSR PC POPR  ;POP THE ANSWER
199 007570 010267 170640 MOV §SP :SAVE ~STACK POINTER"
1950 00757 122767 000210 170630 CMPB salo $PSW  ;CHECK PS (EXCEPT T BIT)
1951 007602 001402 BEQ 'BRANCH IF 0K
1952 007604 104000 HLT :PS NOT EQUAL TO 210
{g 007606 000305 305 : THE ERROR NUMBER IS 305
1955 007610 022767 000514 170616 CMP ¥STACKY, $SP : CHECK THE STRCK POINTER (R2)
1956 007616 001402 BEQ .46 : BRANCH IF OK
1957 007620 104000 HLT :STACK POINTER (R2) NOT EQUAL TO #STACKY
{gg 007622 000306 306 : THE ERROR NUMBER IS 306
1960 007624 022767 152345 170604 CHP 8152345,ANS]  ;CHECK FIRST HALF OF ANSMWER
191 007632 O00IN02 BEQ .46 :BRANCH IF OK
1962 007634 10M002 HLT+2 :ANS1 NOT EQUAL TO 152345
i%ﬁ 007636 000307 307 : THE ERROR NUMBER 15 307
1965 DO7640 022767 123456 170572 cMP $123456,ANS2  ;CHECK SECOND HALF OF ANSWER
196 007646 001402 BEQ .46 : BRANCH IF OK
1967 007650 104002 HLT+2 ANS2 NOT EQUAL TO 123456
1322 007652 000310 310 ' THE ERROR NUMBER 15 310
1970 007654 122767 000042 170522 END42: CMPB 42,  STESTN ;CHECK THE TEST NUMBER
1971 007662 001402 BEQ .46’ ennncu IF 0K
1972 007664 104000 HLT WRONG TEST! PC MUST HAVE FOULED UP.
{g‘a?'a 007666 000311 3ll 'THE ERROR NUMBER I3 311
1975
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1976

1377 lilliiilllﬂl!lilllil!ll*ll!!ill!ll!!iI'I'llli!llll!l!!ill*llllllll*lil!il!

1978 STEST 43: FMUL (LSI-11 FLORTING MULTIPLY INSTRUCTION)

1979 : 1001 25.052525 # 135753,0246M2 = 000000, 000000

1980 : = 00y STRCK POINTER = RS

igé Ill!l!!l*!!llllillllIl!lilll'lI'l!Ill!!lllll{llll!llllllll!l!liilll!llil!

1983 007670 104400 SCOPE

1984 007672 004567 006274 TST43: JSR PUSHR  ;PUSH 4 WORDS ONTO RS STACK, SET PRIORITY

1985 007676 135753 024642 . WORD 136753 024642  ;SECOND OPERAND ON T

1986 007702 100126 052526 MORD 100125052525 :FIRST OPERAND ON aomn

1987 000117 - WORD *ﬁ P“°¢§§_22“ m*mm LEVEL

1988 007710 016442 000340 -WORD APER, 340 'FIS

{% 007714 012706 000S10 MOV #STACKD, RS :SET UP STACK POINTER

193] 007720 000240 NOP

i% 007722 075025 FMUL RS :FLORTING MULTIPLY ON THE RS STACK

1994 007724 004767 006274 JSR PC POPR  ;POP THE ANSKER

1995 007730 010567 170500 MOV $SP GAVE “STACK POINTER™

1996 122767 000004 170470 CMPB wbq $PSW  ;CHECK PS (EXCEPT T BIT)

1997 007742 DOIN02 BEQ BRANCH IF OK

1998 007744 10M000 HLT :PS NOT EQUAL TO 0QM

1999 007746 000312 312 :THE ERROR NUMBER 1S 312

2001 007750 (22767 000514 170456 CMP $STACKY, 5P s CHECK THE STACK POINTER (RS)

2002 007756 001402 BEQ .46 ' BRANCH IF OK

2003 007760 104000 HLT 'STACK POINTER (RS) NOT EQUAL TO #STACKY

mm 007762 000313 313 ' THE ERROR NUMBER IS 313

2006 % 005767 170446 157 ANS | : CHECK FIRST HALF OF ANSWER

2007 001402 BEQ 4B :BRANCH IF OK

2008 007772 104002 HLT+2 :ANS1 NOT EQUAL TO 000000

233?3 007774 000314 <JC : THE ERROR NUMBER IS 314

2011 007776 00S767 170436 15T ANS2 : CHECK sscono HALF OF ANSWER

2012 010002 001402 BEQ 46 *BRANCH IF

2013 010004 104002 HLT+2 ANS2 NOT EounL 70 000000

aegig 010006 000315 315 : THE ERROR NUMBER IS 315

2016 010010 122767 000043 170366 ENDY3: CMPB wa STESTN ;CHECK THE TEST NUMBER

2017 010016 001402 BEQ +' :BRANCH IF OK

2018 010020 104000 HLT :WRONG TEST! PC MUST HAVE FOULED UP.
010022 000316 316 ' THE ERROR NUMBER IS 316

NNB
00

-
—OJP
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2022
gga !il!*llllil!lllll!I!l!!l!HilI»l!l!llllll!l!llll!lllllillillllllil*l*li*
'TEST 4M: FMUL (LSI-11 F.OATING ru.npu INSTRUCTION)
2025 ; 321512 161616 # oomsapé ,000000
2026 Oy STACK POIN
2027 !I!!lllllll»llllillllIlll!I!llllll!llil!lll*llll!l!lilli!!lllllllll!il!!
: 010024 104400 SCOPE
010026 004567 006140 :  JSR RS PUSHR  ;PUSH 4 WORDS ONTO R3 STACK, SET PRIORITY
010032 0000S2 125252 WORD  0000S2, 125262  :SECOND OPERAND ON T
010036 161616 161616 "WORD 161616, 161616 rmsr OPERAND ON aoron
010042 000217 . WORD %P ngc;gage qunm LEVEL
010044 0l6442 000340 - WORD ER, 340 °F
010050 012703 000510 MOV #STACKD, R3 :SET UP STACK POINTER
2037 010054 000240 NOP
2038 010056 075023 FMUL  R3 sFLOATING MULTIPLY ON THE R3 STACK
2040 010060 004767 006140 JSR PC POPR  ;POP THE ANSWER
2041 010064 010367 170344 MOV §SP :SAVE “STACK POINTER"
2042 010070 122767 000204 170334 CMPB nam $PSW  ;CHECK PS (EXCEPT T BIT)
2043 010076 001402 BEQ BRANCH IF OK
2044 010100 104000 HLT 'PS NOT EQUAL TO 204
20845 010102 000317 317 : THE ERROR NUMBER 1S 317
armE 010104 022767 000SI4 170322 CMP 8STACKY, $SP +CHECK THE smcx POINTER (R3)
2048 010112 001402 BEQ pea ' BRANCH IF
2049 010114 104000 HLT smcx POINTER (R3) NOT EQUAL TO #STACKY
% 010116 000320 320 : THE ERROR NUMBER 'S 320
2052 010120 005767 170312 ST ANS | : CHECK FIRST HALF OF ANSWER
2053 010124 001402 BEQ 46 :BRANCH IF 0K
2054 010126 104002 HLT+2 'ANS1 NOT EQUAL TO 000000
2055 010130 000321 321 : THE ERROR NUMBER IS 32!
2057E: 2 010132 00S767 170302 ST ANS2 : CHECK SECOND HALF OF ANSWER
2058 010136 001402 BEQ e tBRANCH IF OK
2059 010140 104002 HLT+2 *ANS2 NOT EQUAL TO 000D0QO
% 010142 000322 322 : THE ERROR NUMBER 1S 322
2062 010144 122767 000044 170232 END44: CMPB  #4M, STESTN ;CHECK THE TEST NUMBER
2063 010152 001402 BEQ 46 ' BRANCH IF OK
2064 010154 104000 HLT : WRONG TEST! PC MUST HAVE FOULED UP.
010156 000323 323 ' THE ERROR NUMBER IS 323
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2068

2069 li!l!llllllllll!l!Illwll!llilll!lilllllllilllllll!ll!ll{!l!lllll!!llllll

2070 STEST 4S: FMUL (LSI-11 FLORTING MULTIPLY INSTRUCTION)

2071 : 176452, 125252 # 041500,000000 = 177777,177777

2072 : PS = 210 STACK POINTER = SP

292'7\!73 lil!illlllIl!IlﬁllllllIllIl{li!llll!lllillll!l!llllllli!llllllllli!!lll

207S 010160 104400 SCOPE

2076 010162 004567 005632 TSTYS: JSR PUSHS  ;PUSH 4 WORDS ONTO smcx SET PRIORITY

2077 010166 041500 (000000 WORD oqlsoo 000000  :SECOND OPERAND ON TOP

2078 010172 176452 125252 WORD 176452125252 :FIRST OPERAND ON SOTTOM

2079 010176 000357 .MORD 357 : PROCESSOR PRIORITY LEVEL

eoemx 010200 016442 000340 .WORD  TRAPER, 340 'FIS TRAP VECTOR

2082 010204 000240 NOP

meoaa 010206 075026 FMUL  SP :FLORTING MULTIPLY ON THE STACK

2086 010210 004767 00SBEYM JSR POPS  ;POP THE ANSWER

2086 010214 022706 000600 CHP caécm SP : CHECK THE STACK POINTER

2087 010220 00I40S BEQ TSA4S : BRANCH IF 0K

2088 010222 012706 000600 MOV sBEGIN, SP RESTORE STARCK POINTER

2089 010226 104000 HLT 'STRCK POINTER FOULED UP

2090 010230 000324 324 ' THE ERROR NUMBER IS 324

2091 010232 000422 BR ENDYS :SKIP REST OF TEST

2093“5 010234 122767 00021C 170170 TSAYS: CMPB  #210, SPSW  ;CHECK PS (EXCEPT T BIT)

20 010242 001402 BEQ C+6 ' BRANCH IF OK

2095 010244 104000 HLT 'PS NOT EQUAL TO 210

mzoqa 010246 000325 325 : THE ERROR NUMBER IS 325

2098 010250 022767 1.7777 170160 CMP 8177777 ANS1  ;CHECK FIRST HALF OF ANSWER

2099 010256 001402 BEQ .46 : BRANCH IF OK

2100 010260 104002 HLT+2 nusx NOT EQUAL TO 177777

gigé 010262 000326 326 : THE ERROR NUMBER 1S 326

2103 010268 022767 177777 170146 CMP 8177777 ANS2  ;CHECK SECOND HALF OF ANSWER

2104 010272 001402 BEQ 46 : BRANCH IF OK

2105 010274 104002 HLT+2 :ANS2 NOT EQUAL TO 177777

Si% 010276 000327 327 : THE ERROR NUMBER IS 327

2108 010300 122767 C(OOO4S 170076 END4S: CMPB  #45,  STESTN ;CHECK THE TEST NUMBER

2109 010306 0DOI402 BEQ .+b ' BRANCH IF OK

2110 010310 104000 HLT 'WRONG TEST! PC MUST HAVE FOULED UP.

S}ié 010312 000330 330 ' THE ERROR NUMBER 15 330

2113
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cl 15 lll!llllllillillilllli!l!lill!llllllllll!!lll!lﬂlllli!lilil!i!lillililll
2116 'TEST 46: FMUL (LSI-11 FLCATING MULTIPLY INSTRUCTION)
2117 ; 124262, 125252 # 114100,0C000] = oooaoo 000000
5119 PS = 200 STACK POINTER =
Elég l!Ill!!!!llilII*!llli!lllllll!i!l!llIlllll!l!lllllllllll!l!iilll!!l!iil
1
2121 010314 104400 SCOPE
2122 010316 004567 005650 TST46: JSR RS, PUSHR  ;PUSH 4 WORDS ONTO Rl STACK, SET PRIORITY
2123 010322 114100 00000l WMORD  11%100,000001 :SECOND OPERANO ON TOP
sxsg 818353 126252 - WORD éggasa 125262 'FIRST OPERAND ON BOTOM
1 1 " WORD : PROCESSOR anonxrv LEVEL
2126 010334 016442 000340 "WORD TRAPER, 340 :FIS TRAP VECTOR
g}gg 010340 012701 000510 MOV #5TACKD, R 'SET UP STACK POINTER
2129 010344 000240 NOP
g{g? 010346 075021 FMUL Rl FLORTING MULTIPLY ON THE R1 STACK
2132 010350 004767 00SESO JSR PC POPR rg .
2133 016354 0i0167 170054 MOV §SP snvs TRCK orursn
2134 010360 122767 000200 170044 CMPB uabo $PSW  ;CHECK PS (EXCEPT T 8IT)
2135 010366 001402 BEQ :BRANCH IF OK
213 010370 104000 HLT :PS NOT EQUAL TO 200
g{gg 010372 000331 331 : THE ERROR NUMBER IS 331
2139 010374 022767 000514 170032 CMP ESTACKY, SSP ;CHECK THE STRCK POINTER (R1)
2140 010402 001402 BEQ .46 BRANCH IF OK
2141 010408 104000 HLT srncx POINTER (R1) NOT EQUAL TO #STACKY
s{:g 010406 000332 332 : THE ERROR NUMBER IS 332
144 01041 7 000200 170020 MP 000200, ANS K FIRST HALF OF ANSMWER
siid Bigiie BsTiRe w % $ ERRGEH TF-0K
2146 010420 104002 HLT+2 :ANS1 NOT EounL 10 000200
g{:g 010422 000333 333 : THE ERROR NUMBER IS 333
2149 010424 005767 170010 ST ANS2 : CHECK SECOND HALF OF ANSKER
2150 0iON30 001402 BEQ 46 :BRANCH IF OK
2151 010432 104002 HLT+2 !ANS2 NOT EQUAL TO 000000
g{% 010434 000334 334 : THE ERROR NUMBER IS 334
2154 010436 122767 000046 167740 END¥6: CMPB  #46,  STESTN ;CHECK THE TEST NUMBER
2155 DipN44 001402 BEQ . +6 'BRANCH IF OK
2156 010446 104000 HLT 'WRONG TEST! PC MUST HAVE FOULED UP.
S{EE 010450 000335 335 : THE ERROR NUMBER IS 335
2159
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2160
3125 !lll!llll!!l!l!!lll!li!i!lil!lll!Iillllill!l!lllll!llll!Illlll!lllllill
1 :TEST 47: FSUB (LSI-11 FLOATING SUBTRACT INSTRUCTION)
2163 : 109000 105004 - 104000, 104000 = 100401, 000000
2164 ; = 210 srncx #oxnrsn = PC
s.}gg li!llllll!lllllill!!l!lll“ll!lilll!ill!l!!lll!l!i!li!!!lll*!{Hillll!l
ei67 oiouss 1owgg§ 00566 TSTY? §ggas PUSH? y ONTO STACK, SET PRIORITY
Sigg { g PR B . 5?32H0F STACK
51;5 gﬁg 383% 134838 R IBABE0 10380 PSRN ORERARG 0N BOTTOM
2l 104 _WORD 262 ' PROCESSOR PRIORITY LEVEL
51;3 010474 016442 000340 .MORD  TRAPER, 340 'FIS TRRP VECTOR
| 10500 NOP
51;§ 81-:&v 8925?9 FSUB  PC :FLOATING SUBTRACT ON FOLLOWING 4 WCRDS
2177 010504 104000 STK4?: %nqooo §E§§t§ co«;2§z {04000
5178 BiTR 1RO 184838 A B e rer, 100v01
gigtln 010512 105004 105004 : BEFORE FSUB, msom RFTER, 000000
2182 010514 004767 54 JSR PC POP?
2183 313?20 122767 000210 167704 cMPe 210, sPSW cuscx"ss (EX EPT T BIT)
aieu oiosas 001402 asg .+ annncu IF 0K 5
§i§§ 1 583892 555 "?RﬂsauﬂanER ig 336
2188 010534 022767 104000 167674 cHP sxgwooo,nns1 :CHECK FIRST HALF OF INPUT DATA (STK47)
i
o183 iR TRAGES BES.2 BRONCH 1F 86y 1o 104000
gigé 01054 337 :THE ERROR NUMBER 15 337
2193 010550 022767 104000 167662 CMP 104000, ANS2 ;CHECK SECOND HALF OF INPUT DATA (STKY47+2)
2194 010556 001402 BEQ .46 aanncu IF 0K
2195 010560 104002 HLT+2 NOT EQUAL TO 104000
s{gg 010562 000340 340 ERROR NUMBER 15 340
2198 D10SEM 022767 100401 167650 CMP $100401, ANS3 cuecx rxasr HALF OF ANSWER
e, 0{05;5 005402 EE$+q +6 n 3 * E TO 100401
558? 81 76 68083? 351 HE RSOR Nﬂﬁbsn 1S 341
2203 010600 005767 167640 ST ANSY sisouo HALF OF ANSWER
2208 010604 001402 BEQ . +6 BR ncu
2205 010606 104004 HLT+Y *ANSY NOT EQUAL TO 000000
2206 010610 000342 342 : THE ERROR NUMBER IS 342
2208 010612 122767 000047 167564 END47: CMPB  #47, $TESTN ;CHECK THE TEST NUMBER
2209 010620 001402 BEQ .+6 ' BRANCH IF o«
5510 818253 040 HLT : WRONG Tsar MUST HAVE FOULED UP.
ezié 1 034 343 ' THE ERR Nune R IS 343
2213
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llllllll!lllll!l!!llllllilllll!lill!!llllil!lllllii!lil!i!lil!!lllll!l!
: TEST S0: FHUL (LSI 11 FLORTING MULTIPLY Iusmucnom
: §34600, 973601 ¥ L0000sATNPER = BROY0L00
ll!l!ll!l!lkl!lilllllllll!!!lill!illlll!li!!l!ll!!lllli!lll!llliIli!*l{

818?5 104400 §o¢=€

1 004S67 00SS10 TSTSO: JSR PUSH?  ;PUSH 4 WORDS ONTO STACK, SET PRIORITY

010634 010660 uoao srkso :TOP OF STACK

010636 104000 104000 104000, 104000  ; SECOND OPERAND ON TOP

010642 134600 073601 CWORD  134600.073601 ;FIRST OPERAND ON BOTTOM

8105 000246 uogg ;ﬂ PROC%SSOR Pfqoam LEVEL

m;s 016442 000340 RAPER, 340 136

010654 000240 NOP

010656 075027 FMUL  PC :FLORTING MULTIPLY ON FOLLOWING 4 WCRDS

010660 104000 STKSO: 104000 :SHOULD CONTAIN 104000

010662 104000 104000 :SHOULD CONTRIN 104000

010664 134600 134600 :BEFORE FMUL, 134600; RFTER, 000401

010666 073601 073601 :BEFORE FMUL. 073601: AFTER, 000000

010670 004767 00SS00 JSR PC POP?  :POP THE ANSHER

010674 122767 000200 167530 CMPB  #200, SPSW  ;CHECK PS (EXCEPT T BIT)

010702 001402 BEQ . +6 +BRANCH IF OK

0i0704 104000 HLT :PS NOT EQUAL TO 200

010706 000344 39y : THE ERROR NUMBER 1S 344

810710 2767 104000 167520 CMP #104000,ANS]  ;CHECK FIRST HALF OF INPUT DATA (STKS0)

10716 001402 BEQ .+b 'BRANCH IF 0K

010720 104002 HLT+2 nusx NOT EQUAL TO 104000

010722 0O0O345 345 :THE ERROR NUMBER 15 345

010724 (022767 104000 167506 CMP £104000,ANS2  ;CHECK secom HALF OF INPUT DATA (STKS0+2)

010732 001402 BEQ .+b :BRANCH IF

010734 104002 HLT42 s ANS2 NOT EounL 70 104000

010736 00OM6 346 : THE ERROR NUMBER 1S 346

010740 022767 000401 167474 cMP $000401,ANS3  ;CHECK FIRST HALF OF ANSWER

010746 DOING2 BEQ .+b BRANCH IF 0K

010750 10400 HLT+4 :ANS3 NOT EQUAL TO 000401

010752 000347 347 : THE ERROR NUMBER IS 347

10754 005767 16746M ST ANSH - CHECK sigom HALF OF ANSKWER

10760 001402 BEQ 46 : BRANCH

010762 104004 HLT+Y4 :ANS4 NOT EQUAL TO 000000

010764 000350 350 : THE ERROR NUMBER IS 350

010766 122767 0000S0 167410 ENDSO: CMPB  #50,  STESTN ;CHECK THE TEST NUMBER

010774 001402 BEQ 46 :BRANCH IF OK

010776 104000 HLT WRONG TEST! PC MUST HAVE FOULED UP.

011000 00035] 351 : THE ERROR NUMBER IS 351

- ——— i — —
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2270 s TEST 51 (LSI-11 ru.on mu:.npbE Rgnsmucnom
2271 ; 12 & 114100 z2)
2272 ; PS(ON émcx) = 212 smcx POINTER = RO
225773 l!!i!l!llli!lllil'li'll!iil‘lll!llll!l!llll!lliil!illl!!ilil«l!lll!llillli«l
2275 011002 104400 SCOPE
2276 011004 004567 005162 TSTS1: JSR RS PUSHR  ;PUSH 4 WORDS omo RO STACK, SET PRIORITY
2277 011010 114100 000000 .WORD 114100, 000000 gsggw OPEW
2278 011014 024262 125252 .WORD 024252 125262 ON eonon
2279 011020 000305 .WORD 305 Paocessoa anonm LEVEL
2280 011022 011054 0000S? .WORD ISRS1, 0S7 n?
2281 011026 012700 000510 MOV 8STACKO, RO UP RO ns smcx POINTER
2283 011032 000240 NOP
22852294 011034 075020 FMUL RO :FLORTING MULTIPLY ON THE RO STACK
2286 011036 004767 005162 RTAS!1: JSR PC, POPR  ;POP THE “ANSKWER"
2287 011042 010067 167366 MOV RO, §SP :SAVE STACK POINTER (RO)
2288 01104 104002 HLT+2 :FIS TRAP DIDN’T OCCURE!
2289 0110s0 000352 352 : THE ERROR NUMBER 1S 352
aagg? 011052 000463 8R ENDS 1
2292 011054 004767 00S174 ISRS1: JSR PC POPER  ;POP ALL DATA OFF THE STACKS
2293 011060 010067 167350 MOV §SP :SAVE STACK POINTER (RD)
2% 011064 122767 000057 167340 CMPB ao$7 §PSW  :CHECK PS RFTER FIS TRAP
2295 011072 001402 BEQ :BRANCH IF OK
229 011074 104000 HLT PS AFTER FIS TRAP NOT EQUAL TO 057
2297 011076 000353 353 :THE ERROR NUMBER IS 353
2299 011100 022767 000510 167326 CMP $STACKO, $SP ; CHECK n: smcx POINTER (RO)
2300 011106 001402 BEQ pva BRANCH
2301 011110 104000 HLT smcx pomrsn (RO) NOT EQUAL TO #STACKO
2302 011112 0003S4 asy THE ERROR NUMBER IS 354
2304 DI1114 022767 011036 167314 CMP SRTAS1, ANSI  ;CHECK FIS TRAP RETURN ADORESS
2305 011122 001402 BEQ . +6 ‘BRANCH IF ?x
2306 011124 104001 HLT+1 :FIS TRAP AT WRONG ADDRESS
2307 011126 000355 355 : THE ERROR NUMBER 1S 355
2309 011130 022767 000212 167302 CMP 8212, ANS2  ;CHECK PS asrons FIS TRAP
2310 011136 001402 BEQ .+6 'BRANCH IF 0
2311 011140 104002 HLT+2 :PS AT FIS mnp TIME NOT 212
%335 011142 000356 356 : THE ERROR NUMBER IS 356
2314 OI1lMM 022767 114100 167270 CMP #114100,ANS3  ;CHECK DATR FROM THE STACK
231S 011152 001400 BEQ .+b : BRANCH IF OK
2316 011154 104004 HLT+4 :DATA ON STACK (114100) CHANGED
gg% 011156 000357 357 : THE ERROR NUMBER IS 357
2319 011160 005767 167260 ST ANSH : CHECK DATA FROM STACK
2320 011164 001402 BEQ 46 :BRANCH IF OK
2321 011166 104004 HLT+4 :DATR ON STACK (000000) CHANGED
ggaaea 011170 360 360 : THE ERROR NUMBER IS 360
2324 011172 022767 024252 167246 CMP 8024252,ANSS  ;CHECK DATA FROM STACK
2325 011200 001402 BEQ 46 :BRANCH IF OK

SEQC 00&2
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609006

l
022767
001402

104006
000362

122767
001402
104000
000363

125252 167234

000051

167154 ENDSI:

%1

cHp
8EQ
HLT+6
362

CHPB
BEQ
HLT
363

MOS

8125252, ANSB
.46

#51,
. +b

STESTN

QTRESQ TRCK (SEHESS) CHRNGED

; CHECK DATR FROH STARCK

s BRANCH IF 0

DRTR ON STRCK (125252) CHANGED
; THE ERROR NUMBER IS 362

;CHECK THE TEST NUMBER
s BRANCH_IF 0K

HRONG TEST! PC MUST HAVE FOULED UP.

: THE ERROR NUMBER 15 363

SEQ 0063

-
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2340
el
a234e
S3QB

344

2345
2 i g
2349 0llevd 041500
€350 011250 076452
2351 011254 000105
235¢ 011256 011304
2353
2354 011262 000240
2355 0llesM 075026
2356
2357 011266 004767
2358 311272 104002
2359 011e™ 000 64
2360 011276 012706
236l 011302 000464
2362
2363 011304 004767
2368 011310 022706
e365 011314 00]140S
236 011316 012706
23%7 011322 104000
2368 0l1324 000365
2369 011326 00045
2370
2371 8{1330 12?367
o his A
e37™ 011342 000366
2375
2376 011344 (022767
2377 011352 001402
2378 011354 104001
2379 011356 7
2380
2381 011360 022767
2382 011366 001402
2383 011370 104002
e384 011372 000370
2385
2386 011374 022767
2387 011402 001402
= L &
c
2390
2391 011410 022767
2332 011416 001402
2393 011420 104004
e3M 011422 000372

17-JAN-77 15:1M

15:28

OO4SSY
000001
125252

000357

004566

004602

000600

000357

011266

000002

041500

000001

167074

167064

167052

167040

167026

NOS

PAGE Sb
TEST FLORTING MUL. INSTRUCTION WITH OVERFLOW

£ SHUHSRIHIEIEIH IS U000 00 00 S 00030 00000 00 B3 0000 003000000000
FMUL_(LSI- 11 FLORTING MULTIPLY INSTRUCTION)

: ggSON 9*535?22‘0831

lll!llll!illlllllllll'l!llhlﬂlHll!ll!ill!lllil!!ll!ll!!l!llllll!llllll!l

:TEST 52:

TSTSC: ?gSPE

HORD
. WORD
.WORD

NOP
FMUL

RTRS2: JSR
HLT+2
364
MOV
BR

ISRS2: JSR
CMP

BEQ
MOV
HLT
365
BR

ISRS2: CMPB
BEQ
HLT

366

CMP

BEQ
HLT+l1
367

CMP
BEQ
HLT+2
370

CMP
BEQ
HLT+4
371

CMP
BEQ
HLT+Y4
372

PUSHS
mlsoo 000001

uggqsa 125262

ISRG2, 357

SP

PC, POPS

8BEGIN, SP

ENDS2
POPES

ceécln, SP

ISA52

8PEGIN, SP

ENDS2

8357, SPSW

.46

BRTAS2, ANSI

.46

8002, ANS2

.46

#041500, ANS3
. +b

#000001 , ANSY
. +b

1 =) RFLOW
K POINTER = SP

;PUSH 4 WORDS ONTO STACK, SET PRIORITY
:SECOND OPERAND ON TOP

:FIRST OPERAND ON BOTTOM
: PROCESSOR PRIORITY LEVEL
:FIS TRAP VECTOR

;FLOATING MULTIPLY ON THE STACK

;POP THE “ANSHER™

sFIS TRAP DIDN'T OCCURE!
:THE_ERROR NUMBER IS 36Y4
SRESTORE THE STACK POINTER

:POP ALL DATA OFF THE STACK
;CHECK THE STRCK POINTER

i BRANCH _IF HEK
:RESTORE THE STACK POINTER

: STRCK POINTER FgU%EDagE
M

;CHECK PS RFTER FIS TRAP

E:RHETsﬁ F?g TRAP NOT EQURL TO 357
s THE ERROR NUMBER IS 366

CHECK FIS TRAP RETURN RDDRESS

gﬁgRﬂs R? WRONG ARDDRESS

THE ERROR NUMBER IS 367
{CHECK PS BEFORE FIS TRAP
s BRANCH_IF

0K
:PS AT FIS TRAP_TIME NOT 002
: THE ERROR NUMBER 1S 370

; CHECK DRTA FROM THE STRCK
iBRANCH IF OK

:DATA ON STACK (041500) CHANGED
: THE ERROR NUMBER 15 371

:CHECK DATA FROM STRCK

s BRANCH IF 0K

:DATA_ON STACK (000001) CHANGED
: THE ERROR NUMBER IS 372

SEQ 0064
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23% QOlived 022767 076452 167014 cHe 8076452, ANSS ; CHECK DATA FROM STACK

2397 011432 001402 BEQ .46 s BRANCH IF 0K

23938 011434 104006 HLT+6 :DATA ON STACK (076452) CHANGED

2399 01143 000373 373 ; THE ERROR NUMBER 15373

c40l 011440 022767 125252 167002 cHP 8125252, ANSE ; CHECK DATR FROM STARCK

c4de O0l1446 001402 BEQ . +b : BRANCH IF 0K

403 011450 104006 HLT+b ;DRTA ON STACK (125252) CHANGED

cSHON 011452 00037 374 ; THE ERROR NUMBER 1S 374

cW0b 011454 122767 000052 166722 ENDS2: CMPB 152, STESTN ;CHECK THE TEST NUMBER

407 011462 001402 BEQ .+b i BRANCH_IF 0K

c408 011464 104000 HLT s WRONG TEST! PC MUST HAVE FOULED UP.

09 Oll46s 000375 375 : THE ERROR NUMBER 1S 375

2Ry

Pt Puna
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412

2'413 l«lllil"l!lll!!llllliIlilllﬂilllillllilllllllllllllllllllll!llllllllllll

2414 ' TEST S53: FOIV (LSI-11 FLOATING OIVIDE xusmucnom

2415 : umsa 126251 / 1 sa 1252? %7777

2416 : ACK POINTER =

g’iqi; llil!l!ll!lllilillll!ll!l“l§ll!llllI!!ll!!ll!!!lllill*llllllilil!lilli

2419 011470 104400 SCOPE
011472 004567 DOM47Y T5T53: JSR PUSHR  ;PUSH 4 WORDS omo RO STACK, SET PRIORITY

2421 011476 127652 125252 . WORD 12?552 125262  :SECOND OPERAND ON

2422 011502 167452 126261 JWORD 167452125261 :FIRST OPERAND ON aonon

2423 011506 000111 "WORD 11l ; PROCESSOR anomrv LEVEL

224 011510 016M42 000340 "WORD TRAPER, 340 'FIS TRRP VECTOR

Qg 011514 012700 000S10 MOV 8STACKY, RO 'SHECK STACK POINTER

2427 011520 000240 NOP

aaqg 011522 075030 FOIV RO :FLOATING DIVIDE ON THE RO STACK

2430 011524 0ON767 DO447Y JSR PC POPR  ;POP THE ANSWER

2431 011530 010067 166700 MOV $SP :SAVE “STARCK POINTER"

2432 0115 105767 166672 1578 spéu :CHECK PS (EXCEPT T BIT)

2433 011540 001402 BEQ :BRANCH IF OK

2434 011542 104000 HLT :PS NOT EQUAL TO 000

Sq"?,‘g 0115W4 000376 376 :THE ERROR NUMBER IS 376

2437 01154 022767 000SI4 166660 CMP #STRCKY, $5P :CHECK THE STACK POINTER (RO)

2438 011554 001402 BEQ .+b BRANCH IF 0K

2439 011556 104000 HLT *STACK POINTER (RG) NOT EQUAL TO SSTACKY

aam 011560 377 :THE ERROR NUMBER IS 377

2442 011562 022767 077777 166646 CMP 8077777 ,ANS1  ;CHECK rmsr HALF OF ANSWER

2443 011570 001402 BEQ .+b 'BRANCH IF OK

2444 011572 104002 HLT+2 'ANS]1 NOT EQUAL TO 077777

ma«s 011574 000400 400 : THE ERROR NUMBER IS 400

2447 011576 022767 177776 166634 CMP 8177776,ANS2  ;CHECK SECOND HALF OF ANSWER

2448 011604 001402 BEQ _+6 :BRANCH IF OK

2449 011606 104002 HLT+2 :ANS2 NOT EQUAL TO 177776

223559 011610 000401 401 : THE ERROR NUMBER IS 40!

2452 011612 122767 000053 166564 ENDS3: CMPB  #53,  STESTN ;CHECK THE TEST NUMBER

2453 011620 001402 BEQ .46 :BRANCH IF OK

2454 011622 104000 HLT 'WRONG TEST! PC MUST HAVE FOULED UP.
011624 000402 402 ' THE ERROR NUMBER IS 402

455
2456

&
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g?g llil!l!!*llll!llllllIlllilll!llilill!llllllll!lll!ll!lilllillllilllll{!
2460 s TEST SY: roxv (LS 1 FLORTING oxvx NSTRUCTION)

Sigé : n ig §7 177777

wa%q . I!Illill!llllllilll!!!!l&“lllllllll!l!lll!llllllll!l!ll!lllll!!l!H»ll!
2465 011626 104400 SCOPE

2466 011630 004567 00416M TSTSY: JSR PUSHS  ;PUSH 4 WORDS ONTO smcx SET PRIORITY
267 01163 027652 125253 . HORD ua?ssa 126263  :SECOND OPERAND ON TOP

268 011640 167482 126262 .WORD 167452126262 :FIRST OPERAND ON BOTTOM

2469 0116%4 000300 .WORD 300 :PROCESSOR PRIORITY LEVEL

aa:o';? 01164 016442 000340 "WORD  TRAPER, 340 FIS TRAP VECTOR

2472 011652 000240

223773 011654 075036 FOIV  SP :FLOATING DIVIDE ON THE STACK

2475 011656 004767 004176 JSR POPS  ;POP n-? ANSKER

2476 011662 022706 000600 CMP uetcm SP :CHECK THE STACK POINTER

2477 011666 001405 BEG TSASY :BRANCH IF OK

2478 011670 012706 000600 MOV 8BEGIN, SP RESTORE STACK POINTER

2479 011674 108000 HLT STRCK POINTER FOULED UP

2480 011676 000403 403 ' THE ERROR NUMBER IS 403

2481 011700 000422 BR ENDSM :SKIP REST OF TEST

eqaa”a 011702 122767 00021C 166522 TSASH: CMPB cam $PSW  ;CHECK PS (EXCEPT T BIT)

2484 011710 001402 BEQ +6 ' BRANCH IF OK

485 011712 104000 HLT :PS NOT counL 70 211

EW’awae. 011714 0OONOM 40u : THE ERROR NUMBER IS 404

2488 011716 022767 177777 166512 CMP 8177777 ANSI :CHECK FIRST HALF OF ANSWER

2489 011724 001402 BEQ . +b *BRANCH IF OK

2490 011726 104002 HLT+2 :ANS1 NOT EQUAL TO 177777

aaqgé 011730 000405 405 : THE ERROR NUMBER IS 405

2493 011732 022767 177777 166500 cMP 8177777 ,ANS2  ;CHECK SECOND HALF OF ANSWER

2494 011740 001402 BEQ pea :BRANCH IF OK

2495 011742 104002 HLT+2 :ANS2 NOT EQUAL TO 177777

22339 011744 000406 406 : THE ERROR NUMBER IS 406

2498 011746 122767 0000SY 166430 ENDS4: CMPB  #5Y, $TESTN ;CHECK THE TEST NUMBER

2499 011754 (001402 BEQ 46 : BRANCH IF OK

2500 011756 104000 HLT ' WRONG TEST! PC MUST HAVE FOULED UP.
5558%_ 011760 000407 407 : THE ERROR NUMBER IS 407

2503
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% l!!lli!lll!lll!l!l!l!lll!ll!iil!lllnlllli!!i!lli&llllll!!ll!llil!l!lli!l
*TEST SS: FOIV (LSI-11 FLOATING DIVIDE msogg%mm
; 25ese / 0200

% 465255} BB pbEreER = AS

210 I"lll!iil*ll!l!i#l!llllllll&llllllllllllllI!llll!ll!!l!l!ll!llllllllilll

2611 011762 104400 SCOPE

gig o“% 004567 ?gqsgoa TSTSS: Jag ngsqg Pugg"g WORDS ou(r)g stgp STACK, SET PRIORITY

2514 gum ?5’8?3 1982 -WO 03??5 195262 ??Rsr o%smoton BOTTOM

2615 012000 000217 - WORD :PROCESSOR PRIORITY LEVEL

2516 012002 016442 000340 - WORD mpsa 340 'FIS TRAP VECTOR

gig 012006 012702 000510 MOV 8STACKD, R2 IGHECK STRCK POINTER

219 012012 000240 NOP

gﬁg 012014 075032 FOIV  R2 :FLOATING DIVIDE ON THE R2 STACK

2522 012016 0ON767 004202 JSR PC POPR  ;POP THE ANSKWER

2623 012022 010267 166406 MOV §SP :SAVE “STARCK POINTER"

2524 012026 122767 000210 166376 CMPB saio §PSW i CHECK PS (sxcm BIT)

2625 0120M 001402 BEQ *BRANCH IF

2526 012036 104000 HLT :PS NOT sm 10 210

2627 012040 000410 410 :THE ERROR NUMBER IS 410

2629 012042 022767 0O00SIM 166364 CMP 8STACKY, $SP : CHECK THE smcx POINTER (R2)

2530 012050 001402 BEQ .+b ' BRANCH IF

2631 012052 104000 HLT smcx POINTER (R2) NOT EQUAL TO #STACKY

25322533 012054 000411 411 : THE ERROR NUMBER IS 41l

263N 012056 022767 100200 166352 CMP #100200, ANS1 : CHECK FIRST HALF OF ANSKER

2635 012064 001402 BEQ .46 BRANCH IF 0K

253 012066 104002 HLT+2 ANS! NOT EQUAL TO 100200

2637 012070 000412 412 : THE ERROR NUMBER IS 412

2639 012072 005767 166342 TST ANS2 : CHECK szcono HALF OF ANSWER

2540 012076 001402 BEQ . +6 BRANCH IF 0

2641 012100 104002 HLT+2 ANS2 NOT EounL 70 000000

23235 012102 000413 413 : THE ERROR NUMBER IS 413

2544 012104 122767 0000SS 166272 ENDSS: CMPEB S5, STESTN ;CHECK THE TEST NUF3ER

2645 012112 001402 BEQ .46 : BRANCH IF OK

2546 012114 104000 HLT WRONG TEST! PC MLST HAVE FOULED UP.

gzg 012116 000414 414 : THE ERROR NUMBER I, 414

2649
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104400
140670
000000
000105
016442
012703

000240
075033

004767
010367
122767
001402
000415

022767

000416

001482

104002
000417

00S767
001402

000420
122767

2040

000421

004044
123456
080000

000340
000S10

00404
166250
000004

000514

166216

166206

000056

FOB

s IO R R R R RN R R R
FOIV (LSI-11 FLORTING DIVIDE INSTRUCTION)
; 000000, 000000 # 140670, 123456 = 000000, 000000

STACK POINTER = R3
li!l!l!!l!!!llI'*l'llllllll!i!lill!lil!!lllllll!illlllll!llllllll!Il!l*li

s TEST Sb:

PS = OOy

SCOPE
TSTSe: JSR

. HORD

. WORD

. WORD

. WORD

MOV

NOP
FDIV

JSR
MOV
166240 CHPB
BEQ
HLT
Yis

166226 CMP
BEG
HLT
416

TET
BEQ
HLT+2
417

TST
BEQ
HLT+2
420
166136 ENDSE: CMPB

BEQ
HLT

42l

PUSHR
140670 123456
oggooo 000000

1
TRAPER, 340
8STACKD, R3
R3

PC POPR

§Sp
aubw $PSW

#STACKY, SSP
.+b
ANS1

ANSE
.+b

356 $TESTN

'

; PUSH 4 WORDS ONTO R3 STRCK, SET PRIORITY
:SECOND OPERAND ON_TOP

: FIRST OPERAND ON BOTTOM

: PROCESSOR PRIORITY LEVEL

:FIS TRAP VECTOR

'SHECK STACK POINTER

;FLORTING DIVIDE ON THE R3 STACK

HE RANSKER
SRVE TRCK PO NTER“
K S (EXCEPT T BIT)
: BRANCH

F 0K
:PS NOT EOURL T0 00
! THE ERROR NUMBER IS 415

;CHECK THE STARCK POINTER (R3)

ERQNC Ps ?K
TRCK POINTER (R3) NOT EQUAL TO #STACKM

; THE ERROR NUMBER 1S 416

SHsﬂg FI?ST HALF OF RANSKER

:ANS1 NOT EQUAL TO 000000
THE ERROR NUMBER IS 417

; CHECK SECOND HALF OF ANSWER
:BRANCH IF 0K
:ANS2 NOT EQUAL TO 000000

; THE ERROR NUMBER IS 420

;CHECK THE TEST NUMBER
:BRANCH_]F 0K
WRONG TEST! PC MUST HAVE FOULED UF.

: THE ERROR NUMBER IS 421

- —

SEG D089
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DVKACB MACY1l 27(1006) 17-JAN-77 15:14 PRGE 62 SEGC 0070
DVKRCB.P11] 13-JAN-77 15:28 FDIV TEST SECTION
5%
2597 3 SIS T ST 303 I 0 T B3I I S I R R R
2598 TEST S7: FOIV (LSI-11 FLORTING DIVIDE INSTRUCTION)
2599 : 102500, 146000 - 104000, 104000 = 036700, 000000
2600 : PS = 200 STACK ﬁomsn = PC
sggé !u"uunuuiuluuuunnuunnuuuunuunuunuuuuu
2603 012254 104400 SCOPE
cb0M (012256 004567 004062 TSTS?: JSR PUSH?  ;PUSH 4 WORDS ONTO STRCK, SET PRIORITY
2605 0l226e 012306 .WORD STI'( 7 TOP OF STACK
c60b 012264 104000 104000 .WORD 104000, 104000 SECOND OPERRND ON TOP
2607 (012270 146000 .WORD 102500 146000 F IRST RAND ON BOTTOM
2608 0lee?™ MWORD 357 PROCESS PRIORITY LEVEL
26092810 012276 0l6M4e 000340 .WORD  TRAPER, 340 FIS TRAP VECTOR
cbll 012302 000240 NOP
eble 012304 075037 FDIV PC s FLORTING DIVIDE ON FOLLOWING 4 WORCS
2613 012306 104000 STKS7: 104000 SHOLLD CONTARIN 104000
2614 012310 104000 104000 SHOU.D CONTAIN 10*6000
eblS (l2312 102500 102500 SEF% FD%V 102500; RFTER, 036700
ggig 12314 146000 146000 F FDIV 1%000 RFTER 000cao0
cbl8 012316 004767 004052 JSR PC POP?7 ;POP THE ANSHER
619 012322 122767 000200 166102 CMPB 0200, $PSUW CHECK PS (EXCEPT T BIT)
2620 012330 001402 BEG .46 BRRNCH
e6el 012332 104000 HLT PS NOT EOURL
eegaeg 012334 000422 Yee Tl-£ ERROR N.hBER IS Yee
e62d (012336 022767 104000 166072 CMP #104000, ANS1 :CHECK FIRST HALF OF INPUT DRTR (STKS7)
262S (0l 001402 BEQ .46 BRRNCH IF 0K
cbeb 012346 104002 HLT+2 nNSI NOT EQUAL TO 104000
ese’? 012350 000423 423 : THE ERROR NUMBER IS 423
2629 012352 022767 104000 166060 CMP #104000, ANS2 «CHECK SECOND HALF OF INPUT DRTAR (STKS7+2)
2630 012360 001402 BEQ .46 BRQNC H IF 0K
eb3l 012362 104002 HLT+2 RNSE NOT EQUAL TO 104000
% 012364 000424 424 THE ERROR NUMBER IS 4¢ed4
e 012366 022767 036700 166046 CHP 8036700, ANS3 s CHECK F IRST HALF OF ANSWER
b3 012374 001402 BEQ .46 :BRANCH IF 0K
eb36 012376 104004 HLT+Y4 sANS3 NOT EQUAL TO 036700
2637 012400 00042S 42S THE ERROR NUMBER IS 425
2639 012402 005767 166036 TST ANSY s CHECK SECOND HALF OF RNSWER
eb40 012406 001402 BEQ .+b BRRNCH IF 0K
cb4l 012410 104004 HLT+4 RNSH NOT EQUAL TO 000000
sg:g Oledle 000426 426 THE ERROR NUMBER IS 426
cb¥4 QOleMlN 122767 0000S7 165762 ENDS?7: CMPB 857, STESTN ;CHECK THE TEST NUMBER
cb4S 0Oleve2 001402 BEQ +b’ BRQNCH IF 0K
eb4e 0Oleved 104000 HLY NRONG TEST! PC MUST HAVE FOULED UP.
Eeg:g 0ledee 000427 42?7 THE ERROR NUMBER IS 427
2649
2650

2651 CHERENERRENREENNEREREREERERRRERRRRRRRREREFE R R RRRER R R EE R RRRRRRRRRLERRRE
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| DVKRCB.P11  13-JAN-77 15:28 TEST FLOATING DIV. INSTRUCTION WITH UNDERFLOW
2652 : TEST 60: FDIV (LSI-1} FLOATING DIVIDE INSTRUCTION)
2653 : 025252, 125251 7 065252, 125252 ==) UNDERFLOW
2654 : PSTON 8TACK) = 0Ol2 STACK POINTER = Rl
52552 i!ll!lli!lIlll!llll!llillnh»l!lll!!illllilllll!!lllllllllllllllllll!llil«l
2657 012430 104400 SCOPE
assg 012432 004S6? 003S3M TSTe0: JSR PUSHR  ;PUSH 4 WORDS ouro Rl STACK, SET PRIORITY
2659 012436 065262 125262 . HORD ossesa 125262 :SECOND OPERAND ON TOP
2660 Ol2w42 025262 125251 WORD 025252125251 ;FIRST OPERAND ON BOTTOM
2661 012494 000015 "WORD 015 : PROCESSOR PRIORITY LEVEL
2662 012450 012502 000300 WORD ISRe0, 300 'FIS TRAP VECTOR
g&gﬂ 012454 012701 000510 MOV 8STRCKO,R! :GET UP R1 RS STACK POINTER
2665 012460 000240 NOP
5229 012462 075031 FOIV Rl :FLOATING DIVIDE ON THE R1 STACK
2668 012464 004767 003534 RTA60: JSR PC, POPR  :POP THE “ANSKER™
2669 012470 010167 165740 MOV RI §SP 'SAVE STACK POINTER (R1)
2670 012474 104002 HLT+2 tFIS TRAP DIDN’T OCCURE'
2671 012476 000430 430 ' THE ERROR NUMBER IS 430
Sg;g 012500 00046Y BR END60
2674 012502 004767 003546 ISR60: JSR PC, POPER  ;POP ALL DATR OFF THE STACKS
2675 012606 010167 165722 MOV Rl §SP :SAVE STACK POINTER (RI)
2676 012512 122767 000300 165712 CMPB 8300, SPSW  :CHECK PS RFTER FIS TRAP
2677 012620 001402 BEQ .+6 : BRANCH IF OK
2678 012522 104000 HLT :PS_RFTER FIS TRAP NOT EQUAL TO 300
2679 01258 000431 431 : THE ERROR NUMBER 1S 43I
2681 012626 022767 000SI0 165700 CMP 8STACKQ, 5P : CHECK THE STACK POINTER (RI)
2682 012S3M 001402 BEQ e ' BRANCH IF OK
2683 01263 104000 HLT :STACK POINTER (R1) NOT EQUAL TO #STACKO
2684 012540 000432 432 ' THE ERROR NUMBER IS 432
2686 012542 022767 012464 165666 CMP $RTABO, ANSI :CHECK FIS TRAP RETURN ADDRESS
2687 012650 001402 BEG .46 :BRANCH IF OK
2688 012552 104001 HLT+1 ‘FIS TRAP AT WRONG ADDRESS
gggg 012554 000433 433 :THE ERROR NUMBER IS 433
2681 012556 022767 000012 165654 CMP 8012, ANS2  ;CHECK PS BEFORE FIS TRAP
2632 012564 001402 BEQ _+b *BRANCH IF OK
2693 012566 104002 HLT+2 :PS AT FIS TRAP TIME NOT 012
gggg 012570 000434 434 : THE ERROR NUMBER IS 434
269 012572 022767 065252 165642 CMP 8065252, ANS3  ;CHECK DATA FROM THE STACK
2697 012600 001402 BEQ .+b :BRANCH IF OK
2698 012602 104004 HLT+4 :DATA ON STACK (065252) CHANGED
5933 012604 00043S 435 : THE ERROR NUMBER IS 43S
2701 012606 022767 125252 165630 CMP $125252,ANSY  ;CHECK DATA FROM STACK
2702 012614 001402 BEQ _+b :BRANCH IF OK
2703 012616 104004 HLT+Y4 :DATA ON STACK (125252) CHANGED
g;gg 012620 0OON36 436 : THE ERROR NUMBER IS 436
2706 012622 022767 025252 165616 CMP 8025252,ANSS  ;CHECK DATA FROM STACK
2707 012630 001402 BEG 46 :BRANCH IF OK
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2708
2709
2710
2711
2’le
2713
2714
271§

12632
126N

012636

17-JRAN-77

13-JRAN-77 15:28

104006
000437

022767
001402

i

122767
001402
104000
0CO441

125251

000060

15:14 PRGE bM

106

TEST FLOATING DIV. INSTRUCTION WITH UNDERFLOMW

165604

165524 END6O:

HLT+6
437

(o) o
BEQ
HLT+6
Y40

cMPB
BEQ
HLT
441

8125251, ANSE
.46

860,
. +b

STESTN

;DRTR ON oaTRCK (025252) CHANGED

IS 437

; CHECK DATA FROM STRCK-
:BRANCH IF 0K

:DATA ON STACK (125251) CHANGED
: THE ERROR NUMBER IS 4u0

;CHECK THE TEST NUMBER
:BRANCH_IF OK

:WRONG TEST! PC MUST HAVE FOULEC UP.

: THE ERROR NUMBER IS 441

SEC 0072
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| DVKACB.P11  13-JAN-77 15:28 TEST FLOATING DIV INSTRUCTION WITH OVERFLOW
. 2722
2723 Iili!illll!!lll!ll!l!llll"l!!l!llllil!l!llllllll!!ll!il!l!ll!llll!lli!l
3724 ' TEST 61; FOIV (LSI-11 FLOATING DIVIDE INSTRUCTION)
2725 : 067452, 125252 / 127652, 125252 ==> OVERFLOW
2726 : PS(ON .é.mcx) = 202 STACK POINTER = R4
22??2287 lillllll!lllll!!ll!l!!!llilll!l!ll!ll!ll!l!!!l!illl!ll!l!lillll!llllil}l
2729 012666 104400 SCOPE
2730 012670 004567 003276 TSTel: JSR PUSHR  ;PUSH 4 WORDS ONTO R4 STACK, SET PRIORITY
2731 oiesn 127652 igsss - WORD 12335 igggg rgscorT\o OPERAND gn nggo"
5335 31% 13838 232 548&58&8 m?ogm LEVEL
2734 012706 012740 000357 'WORD ISRel, 357 ‘FIS TRAP VECTOR
msm 0i2712 012704 000510 MOV $STACKO, RY :SET UP R4 AS STACK POINTER
2737 012716 000240 NOP
2738 012720 (075034 FOIV Ry :FLORTING DIVIDE ON THE R4 STARCK
em” 012722 004767 003276 RTAGL: JSR PC, POPR
2741 012726 0I0M67 165502 MOV RS’ $SP snvs s ncx men (RY)
2742 012732 104002 HLT+2 :F1S TRAP oxou T OCCURE®
2743 012734 000442 442 :THE ERROR NUMBER IS 442
577345 012736 000464 BR ENDB 1
2746 012740 004767 003310 ISRe1: JSR PC POPER  ;POP ALL DATA OFF THE STACKS
2747 012744 010467 165464 MOV $SP :SAVE STACK POINTER (RY)
2748 012750 122767 000357 165454 CMPB c3$7 $PSW  :CHECK PS RFTER FIS TRAP
2749 012756 001402 BEQ ,emucu IF oK
2750 012760 104000 HLT :PS RFTER FIS TRAP NOT EQUAL TO 357
2751 012762 000443 443 ' THE ERROR NUMBER IS 443
2753EE 012764 022767 000510 165442 CMP ¥STRCKO, $SP cnecx THE STACK POINTER (RY4)
2754 01 oma% BE e 3 ?E
5;'553 1 6&4 HL mcx POINYER (RY) nor EQUAL TO #STACKOD
2% 1 44 444 'HE ERROR NUMBER IS 44y
7 7 4 ¥RTRG1, AN K F TURN RODR

% ﬁiﬁ 85?3 012722 165430 SE'E R 61, ANSI SBENC I? wnp RETURN ESS

13010 104001 HLT+1 !FIS TRAP AT WRONG RDDRESS
2761 013012 000445 445 : THE ERROR NUMBER IS 445
5323 013014 022767 000202 165416 CHP 8202, ANS2  ;CHECK PS BEFORE FIS TRAP
2764 013022 001402 BEQ .46 : BRANCH IF OK
2765 013024 104002 HLT+2 :PS AT FIS TRAP TIME NOT 202
57729 013026 4496 !THE ERROR NUMBER IS 446
2768 013030 022767 127652 165404 CHP 127652 ,ANS3  ;CHECK DATA FROM THE STACK
2769 013036 001402 BEQ .46 ' BRANCH IF OK
2770 013040 104004 HLT+Y4 'DRTA ON STACK (127652) CHANGED
2771 013042 000447 4y§7 ' THE ERROR NUMBER IS 447
37?3E 013044 022767 125252 165372 CMP $8125252,ANSY  ;CHECK DATA FROM STACK
o774 013052 001402 BEQ 46 'BRANCH IF OK
2775 013054 104004 HLT+4 'DATA ON STACK (125252) CHANGED
2776 013056 000450 450 :THE ERROR NUMBER 1S 450
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2778 013060 022767 067452 165360 CcHP 8067452, ANSS ; CHECK DRTR FROM STRCK

2779 013066 001402 BEQ .46 :BRANCH IF 0K

€780 013070 104006 HLT+0 :DATA ON STACK (067452) CHANGED

2781 013072 000451 451 : THE ERROR NUMBER 1S 451

€783 013074 022767 125252 165346 CMP 8125252, ANSB ; CHECK DATA FROM STRCK

€784 013102 001402 BEQ .+b ' BRANCH IF OK

€785 013104 104006 HLT+6 DRTR ON &TRCK ( &35852) CHANGED

% 013106 000452 452 ;T

2788 013110 122767 000061 165266 ENDEl: CMPB %61, STESTN ;CHECK TI-E TEST NUMBER

2789 013116 001402 BEGQ .+6 :BRANCH_IF 0K

e790 013120 104000 HLT :WRONG TEST! PC MUST HAVE FOULED UP.

s;gél’ 013122 000453 453 : THE ERROR NUMBER 1S 453
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DVKRCB.P11  13-JAN-77 15:28 TEST FLOATING DIV. INSTRUCTION FOR DIVIDE BY 2ERO
7M™
e795% llllll!llill!!ll!l!I!I'llll!!!!!lil!lllllllll!!l!ll!lllllillll!!illllllii
27% STEST 62: FOIV (LSI-11 FLOARTING DIVIDE INSTRUCTION)
2797 : 052525, 052525 / 100126, 125252 ==> DIVIDE BY ZERO
2798 : PS(ON STACK) = 013 STRCK POINTER = RS
2799 l!!'llll!*!llllI'!l'lll!li!!‘i!&!i!!lill!il!lill!lilli!il*i!llllll!llllllH»
2801 013124 104400 SCOPE
2802 013126 004567 003040 TSTe2: JSR PUSHR  ;PUSH 4 WORDS ONTO RS STACK, SET PRIORITY
2803 013132 100125 125252 . HORD 100125 125252 ,sscom OPERAND
2804 013136 052525 (52625 . WORD osasas,osasas ' FIRST OPERAND ON non
2805 013142 000047 .WORD 047 : PROCESSOR PRIORITY LEVEL
2806 0131¥4 013176 000113 "WORO ISR&2, 113 :F1S TRAP VECTOR
2807 0131S0 012705 000510 MOV 8STACKO, RS :SET UP RS RS STACK POINTER
2803 013154 000240 NOP
gﬁ) 013156 075035 FOIV RS :FLOATING DIVIDE ON THE RS STACK
2812 013160 004767 003040 RTAB2: JSR PC, POPR  ;POP THE "RANSKER"
2813 013164 010567 165244 MOV RS, §SP SAVE STACK POINTER (RS)
2814 013170 104002 HLT+2 'FIS TRAP DIDN’T OCCURE®
2815 013172 000454 45y :THE ERROR NUMBER 1S 454
gig 013174 000464 BR END&2
2818 013176 004767 003052 ISR62: JSR PC POPER  ;POP ALL DRTA OFF THE STACKS
2819 013202 010567 165226 MOV §SP :GAVE STACK POINTER (RS)
2820 013206 122767 000113 165216 CMPB ula SPSW  ;CHECK PS mcn FIS TRAP
2821 013214 001402 BEQ :BRANCH IF OK
2822 013216 104000 HLT :PS RFTER FIS TRAP NOT saum. T0 113
2823 013220 000455 455 : THE ERROR NUMBER IS 4SS
2825 013222 022767 000510 165204 cMP 8STACKO, $SP :CHECK THE STRCK POINTER (RS)
2826 013230 001402 BEQ .46 :BRANCH IF OK
2827 013232 104000 HLT : STACK POINTER (RS) NOT EQUAL TO #STACKO
2828 013234 000456 456 : THE ERROR NUMBER IS 456
2830 01323 022767 013160 165172 CMP SRTR62, ANSI  ;CHECK FIS TRAP RETURN RDDRESS
2831 013244 001402 BEQ 46 tBRANCH IF OK
2832 013246 104001 HLT+1 :F1S TRAP AT WRONG ADDRESS
2833 013250 000457 457 :THE ERROR NUMBER 1S 457
283 013262 (22767 000013 165160 CMP 8013, ANS2  ;CHECK PS BEFORE FIS TRAP
283% 013260 001402 BEQ pea :BRANCH IF OK
2837 0162 104000 HLT+2 :PS AT FIS TRAP TIME NOT 013
2838 013°°4 000460 460 : THE ERROR NUMBER IS 460
2840 013266 022767 100125 165146 CMP 8100125,ANS3  ;CHECK DATA FROM THE STRCK
2041 013274 001402 BEQ .46 : BRANCH IF OK
2842 013276 104004 T4y 'DATR ON STRCK (100125) CHANGED
2643 013300 000461 { : THE ERRGR NUMBER IS 461l
2845 013302 (022767 126252 165134 CMP 8125252,ANSH  ;CHECK DATA FROM STACK
284 013310 001402 BEQ .+b :BRANCH IF OK
2847 013312 104004 HLT+4 :DATR ON STACK (125252) CHANGED
2848 013314 000462 462 ' THE ERROR NUMBER IS 462

%

SEG 0075
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DVKACB MACY1l 27(1006) 17-JAN-77 15:14 PAGE 68 SEG 0076
DVKRCB.P11 13-JAN-77 15:28 TEST FLOARTING DIV. INSTRUCTION FOR DIVIDE BY ZERO
%0 lgg E?lag 0S252S 165122 CMP 8052525, ANSS :CHECK DATA FROM STACK
é 1 4 BEQ .46 B NCH IF 0K
13326 104006 HLT+6 DQTR ON STARCK (OSESF.’S) CHRANGED
2853 013330 000463 463 : THE ERROR NUMBER IS 463
2855 013332 022767 052525 165110 CMP 8052525, ANSB ;CHECK DATA FROM STACK
g 8133‘%0 001402 BEQ .+6 BRQNCH IF 0K
13342 104006 HLT+6 DQTR ON STACK (0S2525) CHANGED
éagssg 013344 000464 464 TI-E ERROR NUMBER IS Y464
e860 013346 122767 000062 165030 ENDb2: CMPB 862, STESTN ;CHECK THE TEST NUMBER
286l 013354 001402 BEQ .6 *BRANCH_IF 0K
2862 01336 104000 HLT HRONG TEST! PC MUST HAVE FOULED UP.
%ﬂ 013360 000465 465 THE ERROR NUMBER IS 465
2865
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2873 013362 104400

%
:

i
i

004767
0227

122767
001402
104000
000470

022767
001402
104001
000471

022767

FEEEERR

000 0000 0000

2
© cooo oooo opooooo Soooo oo
8BRS 440 REEEENS daiE B
8
A

8
3

LR

J5ie 001402
3514 104002
3516 000472

3520 022767
3526 001402

3532 000473

BRBEUUURREU
N SRR E 5
0000 000

17-JAN-77 1S5:14 PRGE 69
TEST FLOATING DIV. INSTRUCTION FOR DIVIDE BY ZERO

15:28

002430

000311

002442

002456

000311

013412

000213

C00006

164750

164740

164726

164714

NOb

5 BB SO 0000030000 0000000 0 SO0 030310 B I 3303 B B I3 03033 B B
FOIV (LSI-11 FLOATING OIVIDE INSTRUCTION)

TEST 63:

TSTRI:

RTARG3:

ISR63:

ISRB3:

I T L A A

lllilll!!!l!l!llllllllllihI'llllllllilﬂllil*.llllll!llilll!llllllililil!i

SCOPE
JSR

HORD

BEQ
HLT+2
472

CMP
BEQ
HLT+4
473

PUSHS
088822 23456
525
i§5aa 31l
5P
PC, POPS
8BEGIN, SP
ENDB3
POPES
oaécxn, SP
15A63
8BEGIN, 3P
END&3
#311, SPSW
.+b

#RTAB3, ANSI
.+b

$213, ANSe

. +b

#000006, ANSJ
.+b

PUSH 4 WORDS ONTO ?TRCK SET PRIORITY
FIRST OgERRHD ON BOTTOM

FIgC;RZgRVER§SgITY LEVEL

;FLORTING DIVIDE ON THE STRCK

; POP THE “ANSHER™

:FIS 1RAP DIDN’T OCCURE!

: THE_ERROR NUMBER IS Y66
tRESTORE THE STACK POINTER

;POP ALL DATA OFF THE STARCK
: CHECK THE STRCK POINTER

s BRANCH

RESTORE THE STACK POINTER
iSTACK POINTER FOULED UP

: THE ERROR NUMBER IS 467
:SKIP REST OF TEST

;CHECK PS _AFTER FIS TRAP

BRQNCH IF 0K

:PS AFTER FIS TRAP NOT EQUAL TO 311
THE ERROR NUMBER IS 470

;CHECK FIS TRAP RETURN ARDORESS
;BRANCH IF OK

:FIS TRAP_AT WRONG RDDRESS

: THE ERROR NUMBER IS 471

; CHECK PS BEFORE FIS TRAP

; BRANCH_IF OK
'PS AT FIS TRAP TIME NOT 213
s THE ERROR NUMBER IS 472

s CHECK DATA FROM THE STACK
:BRANCH IF OK

:DATA ON STACK (00000B) CHANGED
THE ERROR NUMBER IS 473

SEQ 0077




DWRCB MACY1l 27(1006)

OVKRCB.P11 13-JAN-77 15:2

2322 013534 022767
5 Dlmw 10004
29335 01%246 60047H
e32? 013550 022767
2328 013556 001402
2329 013560 109092
sgg? 013562 000N
2332 013564 022767
€333 013572 001402
2934 013574 104006
335 013576 000476
2336

337 013600 122767
2338 013606 001402
2339 013610 104000
2940 013612 000477

123456 164702

100052 164670

052525 164656

000063 164576 ENDB3:

17-JAN-77 15:14 PAGE 70
8 TEST FLORTING DIV. INSTRUCTION FOR DIVIOE B8Y ZERC

liEBQSB,RNSH ; CHECK DQTQOFROH STACK

cHp
BEQ
HLT+Y
474

CMP
BEQ
HLT+b
475

cMP
BEQ
HLT+6
476

CMPB
BEQ
HLT
4?27

BO7

: BRANCH
:DATA ON STACK (123“56) CHQNGED
: THE ERROR NUMBER IS 4

IIEOOSE,QNSS ; CHECK DATR FROMONG TK
.+

:BRANCH IF_OK
?ﬂTR ON STRCK (ID?ESE) CHANGED
RROR NUMBE

OEEESES,RNS& ; CHECK DRTQOEROH STACK

863,
46

i BRANCH IF
:DATA_ON STACK (DSESZS) CHANGED
: THE ERROR NUMBER IS 476

STESTN ;CHECK THE TEST NUMBER
:BRANCH IF OK

‘WREST! PC MUST HAVE FQULED UP.

: THE ERROR NUMBER IS 477

SEQ 0078
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DVKACB MACY1l 27(1006) 17-JAN-77 1S:14 PRGE 71 SEQG 0079
DVKRCB.P11 13-JAN-77 15:28 TEST OF ALL FIS AT ONCE

2943

e an ll!Il!!l&lllli!lilllll!!l"lli!l!l!lillllll!llllllllillli!lll!lllllllli
2945 TEST 6Y: TEST ALL INSTRUCTION TOGETHER

2946 : 032107 065432 # ONSH70, 123456

2947 : 134343, 107070 4 -=——=c=cccccccocnoacmaacaacana- = 137201, 115230
2948 ; 3262, 125252 - 040616,016161)

2949 : PS=010, STACK POINTER n4

2950295 ; I»lill!lll!llliilll!l!!lll“!!l!illii!lll~lll!ll!ili!lll!ll!l!i!!ll!ll«l«ll

1

2952 013614 104400 SCOPE

2353 013616 012704 000532 TSTEY: MOV 8STAK10, RY :GET STACK POINTER

23BN 01322 0127w 107070 MOV 8107070, -(R4)  ;LORD DATA ONTO STACK

2955 013626 012794 134343 MOV 8134343, -(RY)

236 01363 01274 065432 MOV 8065432, - (RY)

2957 013%3% 0127v4 032107 MOV £032107, - (RY)

2958 013642 0127W 123456 MOV 812456, - (RY)

2359 01364 0l127v4 045670 MOV 8045670, - (RY)

2960 013652 0lo7v4 125252 MOV 8] ,-(RY)

2%]1 01365k 0127v4 136252 MOV 8] ' =(RY)

2362 01362 01274 016161 MOV 8016161, -(RY)

2963 013666 0127W4 0N0616 MOV $040616, - (RY)

2964 013672 MTPS 814N :SET PROCESSOR STARTUS

2965 013672 106427 .MORD  106400!..C

zawi 013676 000240 NOP

2968 013700 075014 FSUB  RY : 136262, 126252-040616,016161=140616,017434
299 013702 0750 FOIV RM : 045670, 123456/ 140616, 01 7434=145246 , 047065
2970 013704 075024 FMUL  RM :032107, ossqaamsa%.mmss 137201, 106137
2871 013706 075004 FAROD  RM : 134343, 107070+137201 , 106137=137201, 115230
2973 013710 MFPS  SPSW :SAVE FINAL PS

2974 013710 106767 .MORD 106700!..C

2975 013714 (42767 000020 164510 BIC 820 $PSW  ;CLR T-8BIT

2976 013722 012467 164510 MOV (R4)+, ANSI :SAVE FIRST HALF OF ANSWER

2977 013726 012467 164506 MOV (RY)+. ANS2  ;SAVE SECOND HALF OF ANSWER

2978 013732 O010M67 164476 MOV RY §SP :SAVE STACK POINTER

2979 01373 12276+ 000010 164466 cuP8 s0l0, SPSW  ;CHECK PS (EXCEPT T BIT)

2980 013794 0014G BEQ 46 'BRANCH IF OK

2981 013746 104000 HLT :PS NOT EQUAL TO 010

2982 013750 000S00 500 : THE ERROR NUMBER IS 500

z’taewEE 013762 022767 000532 1644SM CMP $STAK10, SSP : CHECK THE STACK POINTER (RY)
2985 013760 001402 BEQ .+b : BRANCH IF 0K

2986 013762 104000 HLT :STACK POINTER (RY) NOT EQUAL TO THE
2887 01376M 000S01 c01 : THE ERROR NUMBER IS 501

2988 : RODRESS OF STRK1O

2990 013766 022767 137201 164442 CMP 137201, ANS1 : CHECK FIRST HALF OF ANSWER

2991 013774 001402 BEQ .46 *BRANCH IF 0K

2992 013776 104002 HLT+2 'ANS1 NOT EQUAL TO 137201

2993 014000 000502 502 : THE ERROR NUMBER IS 502

2995 014002 022767 115230 164430 CMP $115230,ANS2  ;CHECK SECOND HALF OF ANSWER

29% 014010 001402 BEQ L+ *BRANCH IF OK

2997 014012 104002 HLT42 *ANS2 NOT EQUAL TO 115230

2998 014014 000503 503 ' THE ERROR NUMBER IS 503
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OVKARCB MACYLl 27(1006) 17-JAN-77 15:14 PAGE 72 SEG 0080
DVKARCB.PI1 13-JAN-77 15:28 TEST OF ALL FIS AT ONCE

2399

3000 81‘0016 122767 000064 164360 ENDB4: CMPB sb4, STESTN ; CHECK THE TEST NUMBER

3001 OQl4024 001402 BEQ .46 ; BRANCH _IF 0K

3002 014026 104000 HLT +WRONG TEST! PC MUST HAVE FOULED UP.

3003 014030 000504 SO4 : THE ERROR NUMBER IS SO

3004
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DVKRCB.P11

BER

e
OO NV L W) —
3

g

048 14200

3050 014206
3051 014210
014212

3054 0Ol42ld
3055 (0142

023 Bluss

3059 014230
3060 014236

104400
012737
012737
004567

070707
146314
000143
016442

106427
012702

P
i
s
000S0S
000464

004767
010267

AGTa82

104000
000S06

022767
001402

7
R
1 l
000510
022767
001402
104002
000S11
022767
08&402

004

12

i

17-JRAN-77

0i4i24 000004
000340 000006
002116

0lblbl
143434

000340

177777

002112
164316

002124
164300

000340 164270

177777 164256

014106 164244
0001S! 184232
070707 164220

0iblbl 164206

EOY

1S: 14 PARGE 73

RDDRESS ERROR TEST

¢ SHIHHHHHEE I 3 RN HHHHHHE R R A R R R R R R R R R SRR R
s TEST 65: TEST THAT STACK POINTER ADORESS ERROR CRUSES RBORT

INSTRUCTION = FROD STRCK POINTER =
llll!!!lll!ill!lll!lli!llill!!l!ll!l!!llll!!llliii!lilll!!!ll*l!!!!l!lil

SCOPE
TSTES: ggx u snss g:g +SET UP ADDRESS TRAP VECTOR
Jagn 07 207, OTE?HR :PUSH 4 WORDS ONTO R2 STACK, SET PRIORITY
Iuong 146314, 143434 ?ESS“°oSE§auo ON eo?gon
CWORD 143 PROCESSOR PRIORITY LEVEL
.WORD  TRAPER, 340 ? CTOR
MTPS 8143 se PROCESSOR STATUS
.WORD  106400!..C
MOV 8177777 R2 :SET UP R2 RS STACK POINTER
NOP
FADD  R2 :FLORTING RDD ON THE R2 STACK
RTRGS: JSR PC, POPR ;POP_THE "ANSWER™
MOV Re. §5P : SAVE STACK Po;nrsn (RE)
HLT+2 IS TRAP DIDON'T OCCURE!
505 TH£ ERROR NUMBER IS 505
BR ENDBS
ISR6S: JSR PC, POPER  ;POP ALL DATA OFF THE STACKS
MOV R2, §SP :SAVE STRCK POINTER (R2)
ga uago $PSW SEECK P? RFTER RDR. ERR. TRAP
HLT :PS AFTER TRﬂP NOT EQUAL TO 340
506 ' THE ERROR NUMBER IS 506
CMP 8177777, 85P :CHECK THE STACK POINTER (R2)
BEQ .+b *BRANCH IF OK
HLY srncx POINTER (R2) NOT EQURL TO 8177777
567 'THE ERROR NUMBER IS 507
CMP 8RTABS, ANS! K FIS TRAP RETURN ADDRESS
s Y% i BRRNCH 1P Ok
HLT+1 'FIS TRAP nr WRONG RDDRESS
510 : THE ERROR NUMBER IS S10
CMP #151, ANS2  ;CHECK PS BEFORE FIS TRAP
BEQ .+b : BRANCH IF OK
HLT+2 PS AT FIS TRAP TIME NOT 151
511 : THE ERROR NUMBER IS 511
CMP ¥070707,ANS3  ;CHECK DATA FROH THE STACK
BEQ . +6 : BRANCH IF
HLT+4 :0ATA ON ST cx (070707) CHANGED
512 THE ERROR NUMBER IS 512
CMP 8016161, ANSH SHECK onrn rnon STACK
BEQ .+6 RANCH 1

]

SEG 008l
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DVKRCB.P1!

0J4240
0l424¢e

DIYe
014252
0142s4
014256

014260
014266
014270
014272
014274
014302
014304
014306

17-JAN-77 15:14 PRAGE 74
RDDRESS ERROR TEST

13-JAN-77 15:28

104004
000S13

022767
001402
104006
000Si4

022767
001402
104006

000S1S
122767
001402
104000
000516

146314

4343

000065

164174

164162

164102 ENDBS:

HLT44
813

cmMP
BEQ
HLT+6
Sy

cMP
BEQ
HLT+6
515
CMPB
BEQ

HLT
516

FO?

#146314, ANSS
. +b

#143434, ANSH
.+b

$65, S$TESTN
46

;DATA ON STACK (016161) CHANGED
THE ERROR NUMBER IS S13

; CHECK DATA FROM STRCK

:BRANCH IF OK

:DATR ON STACK (146314) CHANGED
:THE ERROR NUMBER IS Sl14

; CHECK DATA FROM STRCK

'BRANCH IF 0K

‘DATR ON STACK (143434) CHANGEL
: THE ERROR NUMBER IS 515

s CHECK THE TEST NUMBER

BRQNCH IF _OK

' WRONG TEST! PC MUST HRVE FOULED JP.

: THE ERROR NUMBER 1S 516

SEG 0082
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S SIS 00 B 00 I 0 O I I I R S R 3
TEST THAT STRCK POINTER RDDRESS ERROR CRUSES RBORT

STACK POINTER = RS

Il*lil!ll!!illll!ll‘llll!iiililllll!llll‘ll‘llilllllllllll!lllll!llllilll!l

DVKRCB MACY1l 27(1005 17-JAN-77 1S:14 PAGE 75

DVKARCB.PI1 13-JAN-77 15:28 ADDRESS ERROR TEST

07?7

3078

3079 ‘TEST bb:

ﬁ? INSTRUCTION = FMUL
3082

3083 0184310 104400 SCOPE

3084 014312 012737 014402 000004 TSTBH: MOV #ISREE, W4
3085 014320 012737 000340 000006 MOV 8340, 96
3086 014326 004567 001640 JSR RS PUSHR
3087 014332 065432 123456 LWORD 065432, 123456
3088 01433 037654 032107 .WORD  037654,032107
3089 014342 000202 .WORD 202

3090 014344 016442 000340 .WORD  TRAPER, 340
3091 (14350 MTPS #8202

3092 014350 106427 .WORD  106400!..C
wesm 014364 (012705 160000 MOV 8160000, RS
3095 014360 000240 NOP

maoqs 014362 075025 FMUL RS

3098 014364 RTABG: MFPS  SPSW

3099 014364 06767 .WORD 106700!..C
3100 014370 010567 164040 MOV RS, §SP
3101 014374 104000 HLT

3102 014376 000S17 617

3{843 014400 000434 BR ENDB6b

3105 DI4402 00N767 D01646 ISRe6: JSR PC POPER
3106 014406 010567 164022 MOV §Sp
3107 014412 122767 000340 164012 CMPB 0340 SPSW
3108 014420 O00IN02 BEG

3109 014422 104000 HLT

SH? 014424 000S20 520

3112 014426 022767 160000 164000 CMP £160000, §5P
3113 Ol4434 00I402 BEQ . +b

3114 014436 104000 HLT

giig 014440 000521 52l

3117 014442 022767 Ol14364 163786 CMP BRTRB6, ANS!
3118 014450 001402 BEQ .+b

3119 014452 104001 HLT+1

315? 014454 000Se2 522

3122 0I4456 022767 000210 16375 CMP oam ANS2
3123 Ol446M 001402 BEQ +6

3124 014466 104002 HLT+2

gig 014470 000523 523

3127 014472 122767 000066 163704 ENDbb: CMPB  #66, $TESTN
3128 014500 001402 BEQ .+6

3129 014502 104000 HLT

3130 014504 000524 524

;SET UP ADDRESS TRAP VECTOR

;PUSH 4 WORDS ONTO RS STACK, SET PRIORITY
s SECOND OPERAND ON TOP

:FIRST OPERAND ON BOTTOM

: PROCESSOR PRIORITY LEVEL

:FIS TRAP VECTOR

:SET PROCESSOR STATUS

;SET UP RS RS STACK POINTER

;FLORTING MULTIPLY ON THE RS STACK
; SRVE THE PSHK

; SAVE STACK POINTER (RS)
:F1S TRAP DIDN’T OCCURE!
: THE ERROR NUMBER IS 517

;POP ALL DATA OFF THE STRCKS

' SAVE STACK POINTER (RS)

:CHECK PS_AFTER ADR. ERR. TRAP
:BRANCH IF 0K

:PS AFTER TRAP NOT EQUAL TO 340
: THE ERROR NUMBER 1S 520

; CHECK THE STACK POINTER (RS)

:BRANCH_IF OK

STQCK POINTER (RS) NOT EQUAL TO #160000
; THE ERROR NUMBER IS S21

;CHECK FIS TRAP RETURN ADDRESS
:BRANCH IF OK

tF1S TRAP AT WRONG ADDRESS

: THE ERROR NUMBER 1S 522

;CHECK PS BEFORE FIS TRAP

i BRANCH_IF 0K

tPS AT FIS TRAP TIME NOT 210
: THE ERROR NUMBER IS 523

; CHECK THE TEST NUMBER

*BRANCH_IF OK
:WRONG TEST! PC MUST HAVE FOULED UP.

' THE ERROR NUMBER IS 524

SEG 0083
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DVKACB MACYIl 27(1006) 17-JAN-77 15:14 PAGE 76 SEG 0084
DVKRCB.P11  13-JAN-77 15:28 ADDRESS ERROR TEST
3}31 U{:Sﬂ& 012737 000006 DOCOOM Eo; 3% N RESTORE TIME-OUT VECTOR
§{§§ 14 803957 888883 164010 nﬁv 83, TIMES  ;REDUCE NUMBER OF ITTERATIONS
313S l!lllii!!li!!l!!ll!ll{!l!l{iiilll!llllllllllill!l!!llllliiill!li!il!l!i
313% TEST 87: TEST THAT FIS ABORTS PROPERLY WHEN INTERUPTED
3137 ; 035700 143235 + 000177, 134543 = 035700, 143235
3138 S STACK POINTER = Rl
3139 l!l§lilliiili!lillllll!l!lillIIIli!l!l!lll!!!!l!l!lili!lil!illili}llll!
140
3141 014526 104400 SCOPE
3145 014530 132737 000OCO40 000421 T1STe7: BITB c:gégcgsnvn
3143 014336 0011 BNE + :EXIT THIS TEST IF BIT 5 OF SENVM IS HIGH
3144 014540 013704 00OSH46 MOV J8TTYOUT, R4
3146 0INSYd 012724 014646 MOV 8ISR67, [R4)+ ;SET UP TELEPRINTER INTERUPT VECTOR
314 014550 012714 000340 MOV 8340, ' (RY)
3147 014554 032737 004000 000422 BIT #SW1],398SUREG ; TEST FOR ITERATIONS
3142 014562 001005 BNE &2 BRQNCH ro AVO 52 HANG UP
3148  D1458M 830004 000473 TYPE, TURN+1 RETURN+1 REPLACED WITH THE ADDRESS OF RETURN
3150 70 TYPE cnnaxncs RETURN, LINE FEED
3151 014570 012767 014576 163672 MOV c +6, LADS  iRESET LOOP ADORESS
3152 014576 004567 001370 18: JSR PUSHR  ;PUSH M4 uonos ONTO Rl STACK, SET PRIORITY
3153 014602 000177 134543 . WORD 000177 134543 ge Oggs ON TOP
3154 014606 035700 143235 "WORD 035700143235 IRST OPERAND on BOTTOM
3155 014612 000143 .WORD 143 : PROCESSOR anonxrv LEVEL
3156 014614 016442 00034C 'MORD  TRAPER, 340 'FIS TRAP VECTOR
3157 014620 01270 000510 MOV #STACKD . R :SET UP STACK POINTER .
3158 014624 012767 000030 163702 MOV 830, TENP
3123 014632 112777 000100 163710 MOVB  #100, @STPS  ;SET TTY INTERUPT ENRBLE
3161 01440 075001 RTR&?: FADD Rl :FLORTING ADD ON THE STACK
3162 0j4642 024141 CMP -(R1), ~-(Rl1) :RESET THE STRCK POINTER FOR NEXT PASS
g{ga 0i46M4 000775 BR RTAB?" :REPEAT UNTIL INTERUPTED
3165 01464 105077 163676 ISR67: CLRB  $TPS :CLEAR THE INTERUPT ENRBLE
3166 0I4652 022716 014640 CMP 8RTREZ, (SP) ' CHECK IF xnrenupr AT FIS INSTR.
3167 014656 001421 BEQ 38 BRANCH IF IT
3168 014660 022766 014640 00000 CMP SRTA67, 4(SP)  :CHECK FOR INTERUPT WITH T-BIT SET
3169 014666 001420 BEQ ys§ *BRANCH IF IT DID
3170 0i4670 112777 000015 163654 1S: MOVE 815 3STPB  ;CONTINUE TO TYPE "CR”
3171 014676 105777 163646 13 1STB  38ThPS :(00P HERE UNTILL DONE BIT COMES ON
3172 014702 100375 BPL 28
3173 014704 112777 000015 163640 MOVB 815 3$TPB  ;TYPE ANOTHER “CR"
3174 0I4712 012777 000100 163630 MOV 8100, 3STPS  SET TTY INTERUPT ENABLE
3%;2 014720 000002 RTI
3177 014722 0OM767 001326 3s: JSR PC, POPER  ;SAVE ALL THE STUFF ON THE STACK
gi;g 014726 000403 B8R 5§
3180 014730 022626 4$: cMp (sp)+ (SP)+  ;RESET THE STACK TO IGNORE THE TRACE TRAP
3181 014732 004767 001322 JSR POPER!L :POP ALL THE STUFF OFF THE STACK
3182 014736 005746 cs: 157 -rép) *SAVE PSW FOR FUTURE RTI
3183 014740 01274 014640 MOV $RTAL?, - (SP) :PLACE THE RTI RODRESS BACK IN SP
3184 014744 022706 000574 CMP $BEGIN-4, 5P :CHECK THE STACK POINTER
3185 014750 0G1407 BEQ 6§ BRANCH IF OK
3186 014752 010667 163456 MOV SP, $SP :SAVE FOR TYPING




DVKACB MACYll 27(1006)

DVKACB. P11
3187 014756
3188 014782
3189 0I4786Y
3190 014766
3191
3192 014770
3193 Q1474
3194 015002
3195 015008
319% 015006
3197
3198 015010
3199 015016
3200 015020
3201 015022
3202
3203 015024
3204 015032
3205 01503
3206 01503
3207
3208
3209 015040
3210 01504
31i 015050
3212 015082
3213
3214 015054
3215 015062
3216 015064
3217 015066
218
3219 015070
3220 015076
3271 015100
3292 015102
3223
3224 015104
295 015112
326 015114
3277 015116
3228
3229 015120
230 015124
323
22 015126
3233 015130
2™ 01513%
2 0i5l4
2% 01514
3237 015144
3238 015144
3239

13-JAN-

012706
104000

00052S
000457

010167
122767
001402
104000
000S26

022767
001402
104000
00gs27

022767
001402
104001
000530

022767
001402
104004
000S31

022767
001402
104004
000532

022767
001402
104006
000533

022767
001402
104006
000S34

005367
001261

022626
122767
001402

106427

17-JAN-
7 15:28

000574

163440
000344

000s10

014640

000177

134543

035700

143235

163410

000067

77 1S:

163430

163416

163404

163374

163362

163350

163336

163246

1Y

MOV
HLT
525
BR

bSs: MOV
CMPB
BEQ
HLT
526

CMP
BEQ
HLT
5e7

CMP
BEQ
HLT+!1
530

cMP
BEQ
HLT+4
g3l

CMP
BEQ
HLT+4
532

CHP
BEQ
HLT+6
833

cHP
BEQ
HLT+6
S34

ENDG7: CMP

107

PRGE 77
INTERUPT ABORT TEST SECTION

$BEGIN-Y,SP

END&?7

Rl
8394,
.+b

$SP
$PSU

#STRCKO, $SP
. +b

SRTRE7,
. +b

ANS1

¥000177, ANS3
. +6

8134543, NNSY
. +b

#035700, ANSS
. +6

$143235, ANSH
.+b

TEMP
18

(SP)+,

%67,
.46’

#340

106400 .

(SP)+
STESTN

.C

;RESTORE THE STACK POINTER
:STACK POINTER FOULED UP

' THE ERROR NUMBER IS 525
:SKIP REST OF TEST

; SAVE STRCK POINTER

:CHECK PS AFTER INTERUPT

:BRANCH IF 0K

:PS_AFTER INTERUPT NOT EQURL TO LVLR
; THE ERROR NUMBER 1S

; CHECK THE STACK POINTER (R1)
:BRANCH_IF 0K

: STACK POINTER (R1) NOT EQUAL TO #STACKO
: THE ERROR NUMBER IS 527

;CHECK FIS TRAP RETURN ARDDRESS
:BRANCH IF OK

‘FIS TRAP AT WRONG RDDRESS

: THE ERROR NUMBER 1S 530

;CHECK DATA FROM THE STACK
:BRANCH IF 0K

:DATA ON STACK (000177) CHANGED
: THE ERROR NUMBER IS 531

; CHECK DATR FROM STRCK

s BRANCH IF OK

:DATA ON STACK (134543) CHANGED
: THE ERROR NUMBER IS 532

; CHECK DATA FROM STACK

:BRANCH IF 0K

DRTR ON STACK (035700) CHANGED
; THE ERROR NUMBER IS 533

; CHECK DATA FROM STACK

:BRANCH IF _OK

tDATA ON STACK (143235) CHANGED
; THE ERROR NUMBER IS 534

;STAY IN THE LOOP FOR 30 TIMES

;RESTORE STACK POINTER TO SO0

:CHECK THE TEST NUMBER

BRQNCH IF 0K

*WRONG TEST! PC MUST HAVE FOULED UP.
:THE ERROR NUMBER 15 535

SEC 008s

]
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DVKACB MACYI1 27(1006) 17-JAN-?? 15:14 PRGE 78 SEG 0086
| DVKACB.P11  13-JAN-77 15:28 INTERUPT RBORT TEST SECTION
. 3240
341 lllﬂll'lQlll!ll!lﬂ!ll!l!l!ll!llilﬂlllllllI!llllllll!lillll!!ll!!l!lil*ll*ll
5 TEST O e R eSS
3245 llli!lil!lll!ili!lll!llllllllll!!lIlll!ll!*lllllliliiI!!!!!ilillllil!li
3247 015150 104400 SCOPE
gs:g 813125 737 0000MO 000421 TST?0: BITB aqo asssnvn
181 11 BNE NO?0+2 EXIT THIS TEST IF BIT § OF SENVM IS HIGH
3250 015162 013708 0O00S46 MOV a.rrvouv RY
251 015166 012724 015270 MOV 8ISR70, R4)+ ;SET UP TELEPRINTER INTERUPT VECTOR
3262 015172 012714 000340 MOV 8340, ' (RY)
3263 015176 032737 004000 000422 BIT sSWil,38SSWREG ;TEST FOR Irennrxons
3254 015204 00100S BNE 18 'BRANCH TO AVOID HANG UP
3255 015206 000004 000473 TYPE, RETURN+! 'RETURN+1 CAN BE REPLACED WITH THE ADDRESS OF RETURN
3956 170 TYPE CARRIAGE RETURN, LINE FEED
3257 015212 012767 015220 163250 MOV 8.4+6, LAOS RE T LOOP SS
3258 015220 DONS67 000746 18: JSR RS PUSHR 4 WORDS ONTO RO STACK, SET PRIORITY
3269 015224 OM0200 000000 .WORD 040200, 000000 sscono OPERAND ON TOP
260 015230 107070 070707 .WORD  107070.070707 :FIRST OPERAND ON BOTTOM
261 01523 000100 "WORD 100 PROCESS PRIORITY LEVEL
262 015236 016442 000340 "WORD TRAPER, 340 FI XE
3263 015242 012700 000510 MOV 8STACKD, RO up STACK POINTER
3264 015246 012767 000030 163260 MOV 830, TEMP
3265 015254 112777 000100 163266 MOVE #1080, 3STPS  ;SET TTY INTERUPT ENABLE
32@9 015262 075020 RTA70: FMUL RO :FLOATING MULTIPLY ON THE STACK
3268 015264 024040 CHP -(RD), ~-(RO) RESET THE STACK POINTER FOR NEXT PRSS
3069 015266 000775 BR RTA70’ 'REPEAT UNTIL INTERUPTED
3271 015270 10S077 163254 ISR?0: CLRB  aSTPS :CLEAR THE INTERUPT ENABLE
3272 015274 022716 015262 CMP $RTA70, (SP) :CHECK IF INTERUPT AT FIS INSTR.
3073 015300 001421 BEQ 38 :BRANCH IF IT DID
3274 015302 022766 015262 000004 CMP 8RTA70, 4(SP)  ;CHECK FOR INTERUPT WITH T-BIT SET
3275 015310 001420 BEQ 4§ *BRANCH IF IT DID
gg;; 015312 112777 000015 163232 1S: MOVB 815 3STPB  ;CONTINUE TO TYPE =CR"
015325 108777 163224 28: 1STB  a8TPS :LOOP HERE UNTILL DONE BIT COMES ON
3278 015324 100375 BPL 28
3279 815325 12777 000015 163216 MOVB 815 3STPB  ; TYPE ANOTHER “CR™
3280 01533 012777 000100 163206 MOV 8100, Q@STPS ISET TTY INTERUPT ENABLE
3281 015342 000.02 RTI
3283 015344 004767 0J070M 33: JSR PC, POPER  :SAVE ALL THE STUFF ON THE STACK
3284 015350 000403 BR 13
3286 015352 022626 4§: CMP (SP)+, (SP)+ RESET THE STACK TO IGNORE THE TRRCE TRAP
3587 812323 767 000770 ISR PC POPERI :POP ALL THE STUFF OFF THE STA
88 0l 746 5%: 37 -(SP) :SAVE PSW FOR FUTURE RTI
3289 815362 géa7ws 015762 MOV 8RTA70, - (SP) : PLACE T”E RTI nog ? ; Encx IN SP
3230 015¥%6 022706 0O7.57M CMP $BEGIN-Y,5P SCHECK T STQCK oINTE
335321* %53537472 8%:0; 63034 353 ss {BRANCH |
3243 015400 0127 500574 MOV tBﬁGIN-H,SP 3 $ORSRTHE §"3cx POINTER
309 015404 104000 HLT :STACK POINTER FOULED LP
3295 015406 00CS36 536 :THE ERROR NUMBER IS 536
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3296 015410 000u4Se
3297
3298 01Sv4le 010067
81?“16 6827 7
154 14
3301 O0l1S426 104000
3302 0ISN30 000537
3304 01SM 7
3305 0154 881402
3306 015442 104000
3307 015444 000S40
3308
3309 01544 022767
3310 015454 DNI40e
3311 015456 104001
3312 015460 000541
3313
3314
3315 015462 022767
3316 015470 001402
3317 015472 104004
gg{g 015474 000S42
3320 015476 00S767
ggSé 815502 001402
155084 104004
3323 015506 O000S43
1551 7
ot Bizeid G5
3327 015520 104006
%ggg 015522 000S4y4
3330 015524 022767
3331 015532 001402
3332 015534 104006
3333 015536 000S4S
33
333S 015540 00S367
gggg 015544 00i¢26e
3338 015546 022626
5 4eg g
3341 15528 104
3342 015562 000546
3343 015564
3344 015564 106M27

3345

163016
000344

000s10

015262

040200

162742

107070

070707

162770

000070

163006

162774

162762

162752

162730

162716

162626

15:14 PAGE 79

KO?

INTERUPT RBORT TEST SECTION

BS:

END70Q:

BR

MOV
CcMPB
BEQ
HLT
S37

CMP
BEQ
HLT
S4C

CHP
BEQ
HLT+!
541

CMP
BEQ
HLT+4
S4e

TST

HLT+4
543

CHP

HLT+6
G4

CMP

HLT+6
S4S

DEC
BNE

CHP
CNPB

HLT
S46
MTPS
.WORD

END70

RO
8344,
.+b

$SP
SPSW

#STARCKO, SSP
.46

SRTR?70,
.+b

ANS1

#040200, ANS3
.+b

ANSH
. +b

#107070, ANSS
.46

%070707, ANSB
. +b

TEMP
1S

(SP)+,
870,
.46

340

106400! .

(SP)+
STESTN

.C

; SKIP REST OF TEST

SRVE STACK _POINTER
SHE P? RETER INTERUPT

PS RFTER INYERUPT NOT EQUAL TO LVLA
; THE ERROR NUMBER IS 537

SEENE THF 8KRCK POINTER (RO)

:STACK POINTER (RO) NOT EQUAL TO #STACKOD
: THE ERROR NUMBER IS 540

; CHECK FIS TRRP RETURN RDORESS
;BRANCH IF OK

:FIS TRAP AT WRONG ADDRESS

: THE ERROR NUMBER 1S 541

;CHECK DATA FROM THE STACK
:BRANCH IF 0K

:DATA ON STACK (040200) CHANGED
: THE ERROR NUMBER 1S 542

; CHECK DATA FROM STRCK

:BRANCH IF 0K

:DATA ON STACK (000000) CHANGED
s THE ERPOR NUMBER IS 543

; CHECK DATA FROM STRCK
SBRANCA IF OK

DQTQ ON STRCK (107070) CHANGED
! THE ERROR NUMBER IS 544

; CHECK DATA FROM STACK
:BRANCH IF 0K

:DATA_ON STACK (070707) CHANGED
: THE ERROR NUMBER IS 545

;STRY IN THE LOOP FOR 30 TIMES

;RESTORE STACK POINTER TO SQ0
:CHECK THE TEST NUMBER

: BRANCH_IF 0K
WRONG TEST! PC MUST HAVE FOULED UP.

THE ERROR NUMBER IS S4b

SEG 0087
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INTERUPT ABORT TEST SECTION

DVKR(CB.P11 13-JAN-77 15:28

B QISR R R

3398 015602 005014

MOV
MOV
CLR

LO7

0377, TIME
RY, arTY
(R4)

—— e ——— -

SUT 'EET NUMBER OF ITERATIONS TQ 377

+ RESTORE

Ty INTERUPT VECTOR

—— e — - e - ——

SEG 0088
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3350

3351

3352

3383

3354

3355

3356

(o3

3360

3361 015604

3362 015604 104400
=i o
3 Bised o3

3366 015622 000001

3367 Q15624 003015

3368 015626 012737

3369 015630 000001

3370 015632 015622

3371 015634 000004 015664
3372 015640

3373

3374 01S6N0 013700 000042
3375 015644 001405

3376 01S64% 00000S

3377 015650 004710

3378 015652 000240

3379 015654 000240

3380 015656 000240

gggé 81 000137 000600
3383 015664 005015 047105
3384 015672 040520 051523
3385 015676 ;77 377
3386 015702

3387

3388 015630 000001

- o —

162566

020104
000

-y
PqEJr’
INTERUPT RBORT TEST SECTION

S JH3HIEIIEIE I I I I
.SBTTL ENO OF PRSS ROUTINE

. #]NCREMENT THE PRSS NUMBER (SPRSS)
;;*vps UEND pHESH
: #IF THERES A MONITOR GO TO IT

#]F T ISN'T JUMP 10 BEGIN
;:iE E%Exg 02 nsﬂ T0 H8VEER BELL INDICATE THE "END OF PRSS" LOCATION

CHANGED TO 7.

1S:14 PAGE 8]

SEOP:

?ﬁgPE SPASS ; ; INCREMENT THE PRSS NUMBER
Bég ?ég?EOO,SPQSS ;EESN'T ALLOW A NEG. NUMBER

oP?
SEOPCT: .WORD |
BGT SDOAGN ; s YES
MOV (PC)+,3(PC)+ ; ;RESTORE COUNTER

SENDCT: .WORD 1
SEOPCT
TYPE  ,SENDMG . s TYPE “END PRSS"
SGETY2:
MOV 2342, RO ::GET MONITOR RDDRESS
BEQ SDOAGN s :BRANCH IF NO MONITOR
SENDRD: TSR PC, (RD) {1 CHET R TOR -
" NOP : ! CAVE ROOM
NOP ; ;FOR
SO0RGN NOP $TACT1L
B, JSBEGIN - s RETURN
SENDMG: .ASCII (15> (12> /END PRSS/
SENULL: .BYTE -1,-1,0 . :NULL CHARACTER STRING
-EVEN
ENDCT: 1

SEQ 0089




NO?
¢
DVKACE MACYLI 27(1006) 17-JAN-77 15:1Y SEG 0090

PRGE 82
DVKRCB.P11 13-JAN-77 15:28 END OF PRSS RCUTINE

33%3389 H S 0638 9 398 9598 36 96 36 98 98 34 3% 06 98 9 95 98 98 98 3 91 96 9 9 9 3 9630 06 9 36 9% 20 36 9 3 3 9 98 9 3 9% 098 % 309 5 9% 0% 3% 3 3 % % 3% % %
3391 .SBTTL SCOPE ROUTINE
1 737 000NMO0 000422 SCOPES: BIT 8SW08, 8SSWREG ;KILL LDUB OR LOOP ON SPEC. TEST
1a7% B By e
3335 015712 123767 000422 16246Y4 CHPB ausgﬂsc,msm :ON RIGHT TEST?  #SW7-0%
33% 015720 00143l BEQ OVE
3397 015722 737 0M0O00 000422 1S: BIT 8SH1Y4, JESSWREG ;LOOP ON TEST
3398 015730 001023 BNE KITS
3399 015732 032737 00NM000 000422 BIT 8SW11, 38SSWREG ;KILL ITERATIONS
400 015740 001412 BEQ SvYLADS
M0l 015742 105767 162535 TSTB  SICNT
02 01574 001404 BEQ 2§ :BRANCH IF FIRST
403 015750 126767 162662 162525 CMPB Tmi's,sxcm : DONE ?
MO 015756 001010 BNE KIT ' BRANCH IF NOT
M0S 015760 112767 000001 162515 28: MOVE 81, SICNY :FIRST ITERATION
v W T B O
348?, 81% 8&6332 RTI ' ;aeman
MI0 016000 105267 162477 KITS: INCB  SICNT
34{1 oisoml 005767 162460 OVERS: gsg %3030 ‘ :FIRST ONE?
8315 81&13 8‘1]5?2 162452 MOV Lnbs.(s) : FUDGE RETURN RDDRESS
33:}; 016016 000002 RTI tFIXES PS
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3416
3417
3418

;

TETE TR R LR L S e

016060
016060 106767
016064 042767
016072 012604
016074 012667
016100 012667
016104 010667
016110 000114
J451
016112
0ielle 106767
016116 012604
016120 012667
0ibled 011667
457 016130 042767
458 016136 012746
3459 016142 000002
460 0161 0126b7
61 016150 012667
M6e 016154 012667
3463 016160 012667
MeM  0l6l64 010667
3465 016170 000114
3466
™67
3468
469 016172 012704
3470 016176 0l2Se4
3471 016200 012524

000010

000010

162412
162410

162312
162310

000020
0i16144

162272
162270
162266
162264
162244

000S10

162340

162302

1S:14 PRGE 83

BOS

PUSH RND POP SUBROUTINES

s SUBROUTINE TO PUSH 4 WORDS ONTO THE STACK

PUSHS: TST (SP)+
RDD 810
MOV -(R5),
MOV -(RS),
MOV -(RS),
MOV -(RS),
AOD 810
MTPS  (RS)+
.WORD  106400!.
INC RS
MOV (RS)+,
MOV (RS)+,
JeP (RS)

;POP STRCK BY |
RS :POINT TO END OF DATA
-(S¥)  ;PUSH DATA ONTO THE STACK
-(SP)  ;PUSH DATR ONTO THE STACK
-(SP) PUSH DATA ONTO THE STRCK
-(SP)  ;PUSH DATR_ONTQ TI{ STQCK
RS tPOINT TO ENO OF DA
c iSET THE PROCESSOR STQTUS
SFISVEC ;SET UP FIS ERROR TRARP VECTOR
SFISLVL TR.‘TTRETRTUS

; SUBROUTINE TO POP 2 WORDS OFF THE STRCK
*ALSO SAVES THE PROCESSOR STATUS WORD (EXCEPT T BIT)

POPS: MFPS  SPSW
LWORD  106700!.
BIC 220
MOV (SP5+
MOV (SP)+
A
P (R4)

; SAVE PROCESSOR STATUS WORD

Si ;CLERR T-BIT
RY ;SAVE RTS ADDRESS
Sﬂgé :SAVE THE ANSHER
$SP ;SRVE THE STRCK POINTER
RETURN

; SUBROUTNE TO POP & WORDS OFF THE STRCK.

:THE FIRST TWO WERE PUT ON BY THE ERROR TRAP,
: THE LAST FOUR WERE THE ORIGINAL INPUT DARTR.
:ALSO SAVES THE PS AND STACK POINTER.

POPES: MFPS  $PSW : SAVE PROCESSOR STATUS WORD
.WORD  106700!..C
MOV (sp)+ RY :SAVE RTS ADDRESS
MOV (SP)+. ANSL :GAVE RTI RDDRESS
MOV (5P),” ANS2  :SAVE RTI STATUS
BIC 220, ANS2  :CLEAR THE T-BIT
MOV 81§, -(SP)
RTI s RESTORE THE PROCESSOR STATUS
18: MOV (SP)+, ANSI  :SAVE DATA
MOV (SP)+, ANSH
MOV (SP)+) ANSS ;
MOV (sp)+ ANSE
MOV §SP snvs SP
P 4) :RTS
: SUBROUTINE TO PUSH 4 WORDS ONTO THE STACK
PUSHR: MOV $STACKO, RY :SET RY_TO STACK
MOV (R5)+, '(R4)+ :PUT DATR ON STACK
MOV (R5)+, (R¥)+

SEQ 0091
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DVKRCB.P11  13-JAN-77 15:28 BUSH ARD POP SUBROUTINES

MN72 016202 012524 MOV (RS)4, (R¥)+

M73 016204 012524 MOV (R5)4, (R4)+

N7 016206 MTPS  (RG)+ !SET THE PROCESSOR STATUS
3475 016206 106425 MORD  106400!..C

476 016210 005205 iN0 RS

77 016212 012577 162246 MOV (RS)+, SFISVEC ;SET UP FIS ERROR TRAP VECTOR
78 016216 012577 162244 MOV (RS)+, SFISLVL ;TRAP STARTUS

79 016222 000205 RIS RS ! RETURN

481

482 :SUBROUTINE T0 POP 2 WORDS OFF THE STACK

3463 ALSO SAVES THE PROCESSOR STATUS WORD (EXCEPT T BIT)

4eS  01622M POPR: MFPS  $PSM : SAVE PROCESSOR STATUS WORD
86 016224 106767 WORD  106700!

487 016230 042767 000020 162174 BIC §55u :CLEARR T-BIT

3488 01623 016767 162252 162172 MOV smém ANS1  :SAVE THE ANSWER

3489 016244 016767 162246 162166 MOV  STACKb, ANS2

M0 016252 000207 RTS  PC

e

3493 - SUBROUTNE_TO POP b WORDS OFF THE STACKS.

49N !THE TWO OFF THE Rb STACK WERE PUT ON BY THE ERROR TRAP
3495 ! THE FOUR OFF THE SOFTWARE STACK WERE THE ORIGINAL INPUY DATA.
3% *ALSO SAVES THE PS AND STACK POINTER AFTER THE FIS TRAP.
3498 016254 POPER: MFPS  SPSW : SAVE PROCESSOR STATUS WORD
M99 016254 106767 MORD  106700!..C

3500 016260 012667 0000SE POPERL: MOV (SP)+, GAVRTS ;SAVE RIS AODRESS

3501 016264 012667 162146 MOV (5P)+, ANS1 ~ ;SAVE RTI ADDRESS

302 016270 011667 162144 MOV (SP)," ANS2  :SAVE RTI STATUS

3X03 016274 Q42767 000020 162136 BIC 820, ANS2  ;CLEAR THE T-BIT

B04 016302 012746 016310 MOV 81§,  -(5P)

3505 016306 RTI : RESTORE _PROCESSOR STATUS
%06 016310 016767 162174 162124 1S: MOV  STACKO, ANSI  ;SAVE DATA

307 016316 016767 162170 162120 MOV  STACK2, ANSH  ;

3508 016324 016767 162164 162114 MOV  STACKY. ANSS  ;

309 016332 016767 162160 162110 MOV  STACKG, ANSE

3510 016340 000137 ¥ PO+’ ! SINULATED RTS

$11 016342 000000 SAVRTS: 0

213 : SUBROUTINE TO PUSH 4 WORDS ONTO THE PC STACK

X515 016344 012504 PUSH?: MOV (RS)+, RY ;SET R4_TO STACK

X1b 016346 012524 MOV (RG)+. (R4)+ :PUT DATA ON STACK

%17 016350 012524 MOV (RS)4. (R4I+

3518 016352 012524 MOV (RS5)4, (RW+

%19 016354 012524 MOV (RG)4. (R¥I+

3520 01635 MTPS  (RG)+ 'SET THE PROCESSOR STATUS
%21 016356 106425 _WORD  10B400!..C

X2 016360 005205 iNe RS

%23 016362 012677 162076 MOV (RS)+, FFISVEC ;SET UP FIS ERROR TRAP VECTOR
XM 016366 012677 162074 MOV (RG)+, QFISLVL ;TRAP STATUS

325 Dlb3e 000205 RIS RS ! RETURN

3527 : SUBROUTINE TO POP 4 WORDS OFF THE PC “STACK™




DVKARCB MACYLl 27(10

DVKRCB.

Pli

17 JQN =77
13-JRN097 1S

106767
042767
011600
162700
0{206;
18067
012067
012067
000207

104000
000547
30000¢e

000020

000014
{62013
16004
162006
162004

162024

DO8

1S:14 PRGE B85

PUSH AND POP SUBROUTINES
;ALSO SAVES THE PROCESSOR STATUS WORD (EXCEPT T BIT)

POP7:  MFPS SPSK ; SAVE PROCESSOR STRTUS WORD
.WORD  106700!..C

BIC 20 $PSW  ;CLEAR T-BIT
MOV (SP}, RO :GET RETURN RDDRESS
SuB 81y RO POINT 10 TOP OF ~PC STACK™
MOV (ROY+, ANSI 1ST HALF INPUT oan
MOV (RO)+, ANS2 g FI
MOV RO §SP SSUME
MOV (RD)+, ANS3 snvs 1ST HALF OF ANSWER
MOV (RO)+. ANSY  ;SAVE 2ND HALF OF ANSWER
RTS PC

. ERRONIOUS TRRP SERVICE ROUTINE

TRAPER: HLT :F1S SHOULDN'T MAVE TRAPED
E?; ' THE ERROR NUMBER IS 547

END Eg ”STRCK POINTER"

SEG 3093

|
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| DVKRCB MACYLL 27(1006) 17-JAN-77 15:14 PRGE 8%
PUSH ANO POP SUBROUTINES

SRR R R R R AR R R RN RERRRRRRA RN
.SBTTL HLT ROUTINE (ERROR TYPEOUT)

| DVKRCB.P11
3548
3
5 gl
3552 016460
ggga 16464
164
JS55 016476
5 ¢
01
3558 016510
3559 016514
3560 016522
3561 016526
3562 016532
20 pis
= pg
3566 016552
3567 8{2554
3569 016222
3570 016566
3571 016570
3572 016572
3573 016600
3S7v 016802
3575 016604
3576 016610
3577

13-JRN-77

3o

=g
885

it

8
i

&

:

001001

B

15:28

000422 HLTS:

000422

161706

000422

es:

4s:

B

TYPE

EOS

fiulﬂ,alSSHREG
$BELL

RRORS
52H13,3055HREG

RE TURN
3(6)+, 38SFATAL
-(6),HLTRDS
s2, K TADS
(&) TTY
%7, PRINTR
82’ ()

SPRCE+3
PC, ERRORS
SERY

4§
J8SMSGTY
JESSWREG

.4

$SW09, J8SSWREG
.44

SICNT
KITS

; SHOULD IT RING THE BELL ON ERROR”
‘N0 - Sk 1P

tRING BELL

} COUNT_THE R_OF ERRORS
:SKIP TYPEOUT IF SET

:SKIP TYPEOUTS

;PLACE THE ERROR NUMBER IN LOCARTION SFRTAL
+ PUT RDDRESS OF INSTRUCTION ON STACK

.TYPE 3(b) IN OCTAL
! TYPE LEROING ZERO'S
!ADJUST THE RETURN ADDRESS

;GO _TO USER ERROR ROUTINE
;ARE WE RUNNING UNDER APT?
; IF NOT THEN GO TO 4§
; OTHERWISE INFORM APT

; AND LSgP
JHALT ERROR
;SKIP IF CONTINUE

;HRLT ON ERROR!
;CHECK FOR INHIBIT LOOP ON ERROR
;SKIP IF LOOP ON ERROR

;LOOP ON TEST UNTIL NO ERRORS

SEQC 0034




OVKRCB MACY1l 27(1006}
13-JAN-77

DVKRCB

3579
3580
3581
3582

3584

22

3587

25

3590
3591
3592
3593
35N

P11

016614

316658

016634

016654

117767

R
Qs
000004
105367
100370
000207

17-JAN-77 15:14 PRGE 87
HLT ROUTINE (ERROR TYPEOUT)

15:28

888898 161710

000014
000501
1616bd

FO8

CRERERERERRNEERREEERERE RN RN R LR AR R RS
.SBTTL USER ERROR ROUTINE
161610 161716 ERRORS: MOVB

ERRIS:

hov

MoV
JSR
TYPE,
DECB
BPL
RTS

JHLTADS, TYPCNT
82 TYPCNT
sHLTADS,R3

(R3)+.TTY
%? PRINTR
SPACE +4
TYPCNTY
ERRIS

PC

; TYPE COUNT IS LOW BYTE OF HLT
; TYPE SOBHT = X+S
; TOP 0 TR TO BE TYPED

; TYPE (R3)+ IN_OCTAL
; TYPE LERDING ZERO’S
: SPACE

s CHECK FOR DONE
;BRANCH IF NOT DONE

SEG 0095




DVKRCB MACY11 27(1006)
13-JAN-77 15:28

DVKRCB.P11

SRERREER

PERBER AR
DOV NLWN—O

HRRRR

017002
017004

732

RRHES
RERTRER

o

=t=]

17-JAN-77 15:14 PRAGE B8

000001 161660 PRINTR: ESVB

161652 PRINTS: CLR
177772 1616Y4S MOVS
MOV
017004 MOV
CLRB
BR
.PRL: CLRB
ROL
ROLB
ROL
ROLB
.PRF: ROL
ROLB
TSTB
BEQ
161604 INCB
161600 TST8
BEQ
000060 BISB
161567 INCB
017004 CMP

00006C MOVB
017004 TYPE

.PRBUF: .BLKW

GOS8

OCTAL WORD 8 RDDRESS TYPER

RY —(6)
8. PRBUF , RY
(4)

.PRF
(4)

TTY

(4)

TTY

(4)

TTY

(4)

(4)

. +b

.PR

PR

+6
2’0, (4)+
.PR}1

.PRL
s. ERBUF ,RY
3'0 (Y4)+
(4)
PRBUF

t6)+,RY
PC

y

gET ZERO FILL SWITCH
ggPRESS LEADING ZERO’S

: SAVE_RY

tSET POINTER TO FIRST ASCII CHAR.
: CLEAR FIRST BYTE

:ROTATE FIRST BIT

:CLEAR BYTE OF CHARACTER

:ROTATE BIT INTO C

sPACK IT

ROTRT% BIT INTO C

; PARCK

:ROTATE_BIT INTO C
iPACK _IT

:1S_IT ZERO?
:SKIP_INC

:SET FILL SWITCH
sCHECK FILL SWITCH
1SKIP BITSET

:MAKE INTO ASCII CHAR
s INC_COUNT

EHE?Y BUFFER?
sSKIP IF NOT
:LORD 1 ZERO

: NULL TERHI NATOR
TYPE IT
:RESTORE R4

: RETURN

;OUTPUT BUFFER

SEQ 0096
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DVKRCB MACY1l 27(1006) 17-JAN-77 1S:14 PAGE B9 SEQ 0097
DVKRCB.P1l  13-JAN-77 15:28 OCTAL WORD 8 RDDRESS TYPER

H&‘B? H Iy eI YT YYISEEYIITSS ISR ISRIISESIIRLISISLSLILSLEISISISR 2L

3629 .GBTTL POWER DOWN AND UP ROUTINES

3631 . POMER DOWN ROUTINE

3632 017014 012737 017136 000024 $PWRON: MOV $SILLUP, 38PWRVEC ;:SET FOR FAST UP

333 017022 012737 000340 000026 MOV 8340, JSPURVEC+2 ;:PRIO:7

3634 017030 01004 MOV RO, -{SP) ' 1PUSH RO ON STACK

%3S 017032 010146 MOV Rl -(SP) :1PUSH R1 ON STACK

%% 0170 010246 MOV R2. -(5P) : 1PUSH R2 ON STACK

%37 017036 010346 MOV R3, - (SP) : 1PUSH R3 ON STACK

3638 017040 010446 MOV R4, -(SP) : 'PUSH R4 ON STACK

%639 817042 010546 MOV RS, -(5P) : *PUSH RS ON STACK

%490 0170 010667 000072 MOV SP' $SAVRE : 1SAVE SP

%41 017050 012737 017062 000024 MOV $SPURUP, I8PWRVEC' ; ;SET UP VECTOR

%42 017056 000000 HALT

gg:a 017060 000776 BR -2 . - HANG UP

ggqs 1 Y i?ﬁ%ﬁﬁ U505°UTINE AVRE, SP GET SP

364 81;825 86?52? 8888?0 CLR i AVRE’ ' WAIT LOOP FOR THE TTY

%48 017072 005267 000044 18: INC $SAVRE : 'WAIT FOR THE INC

3649 317053 001375 BNE 1S :1OF  WORD

3650 017100 012605 MOV (S5P)+,RS :1POP STACK INTO RS

%51 017102 012604 MOV (SP)+ RY : :POP STACK INTO RY

3652 017104 012603 MOV (5P)+.R3 : 'POP STACK INTO R3

3653 017106 012602 MmOV (5P)+ R2 : :POP STACK INTO R2

3654 017116 012601 MOV (SP)+ Rl 1 1POP STACK INTO RI

3655 017112 012600 MOV (SP)+ RO $1POP_STACK INTO RO

56 017114 012737 017014 000024 MOV $$PWRON, 98PWRVEC' $:SET UP THE POMER DOWN VECTOR

d57 017122 012737 000340 000026 MOV 8340, S8PURVEC+2 ;:PRIO:?

%58 017130 00000Y TYPE ;ksponr THE POWER FAILURE

3659 017132 017194 $PWRMG: .WORD  SPOWER ' POMER FRIL MESSAGE POINTER

3660 017134 000002 RTI

3661 017136 000000 SILLUP: HALT s+ THE POWER UP SEQUENCE WRS STARTED

3662 017140 000776 ER -2 !} BEFQRE THE POWER DOWN WAS COMPLETE

3663 017142 000000 $SAVRG: O t'pUT THE SP HERE

3664 017144 DOSOIS 047520 042527 SPOMER: .RSCIZ < 15)<12)>“POWER"

3665 017152 000122

3666 .EVEN




108
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DVKRCB.P11 13-JAN-77 15:28 ASCIZ TYPE OUT ROUTINE

3667
%68 s ¥ TYPE OUT ROUTINE
3669 i =eececcssscecccc--
3

Bb72 s ¥ THIS ROUTINE 1S USED TO TYPE RSCIZ MESSRGES
£

2154 737 000040 000421 STYPE: BITB 40, J8SENVM ' HRS T ONSOLE QUTPUTS BEEN SUPPRESSED?
gg;g 817122 1087 NE 35 +IF SO HEN EE*URN FROM THE SU OUTEN VIR 3%
377 017164 010046 MOV RO,-(SP) s OTHERW 1 SE stg RO
3678 017166 017600 000002 MOV 32{SP), RO ;GET THE ADDRESS OF THE RSSCIZ STRING
3679 017172 112046 2s: MOVB (RO)+,~(SP) +PUSH THE CHRRACTER TO BE TYPED ONTO STARCK
3680 017174 001005 BN 4$ ;BRANCH IF IT IS NOT THE TERMINATOR
3681 01717% 726 TS (SP)+
3682 017200 012600 MOV (SP)+,RO ;OTHERWISE RESTORE THE STARCK AND RO
3683 017202 062716 000002 33: RDD lE,(Sb) ;ADJUST THE RETURN PC
gﬁgg 017206 000002 RTI ;AND RETURN
3686 017210 1058777 161334 43: TST8 aSTPS : 1S THE PRINTER AVAILABLE?
3687 017214 100375 BPL 48 : IF_NOT _THEN LOOP HERE
3688 017216 112677 161330 MOVB (SP)+,33TPB :0UT PUT THE CHARACTER
3689 017222 000763 BR 23 :AND GO BRCK

3690 000001 .END

SEC 0098
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DVKRCB.P1!

Y

ke

EEE

LR ]

e

hs
3

L

:

i
R

i
:

:
B

AMTYP3=
AMTYPY=

3
8
T
&

:

000440

000442
000444
000446

17-JRAN-77

3388

3389

118

109

114
115
106

el ol )
Qe—=o—-
I e—

15:14 PRGE 92

JO8

CROSS REFERENCE TRBLE -- USER SYMBOLS

31
3584

3044
314
926

1632

2309

3849

3l

2840

1008

i

40 447
1137

106
Mg g
3203 3309

406 452
1070 1142
1729 1781
244? 2493
3442 3456#
1075 1147
3054 3209
1152 1791

e el

49
120

q
gt
3441 #

438
120
185
2539
3457%
1786
3315
1863

338

839
1249
bah3
3455#

o4y

1e54
1919

585
1800
3288
3488#*

530
130S
1965
2629
350c#
2198
3506#
2257

3%

631
1346

SEE

35S0 #
63&
1351
201l
2691
SO3*
252
3536#
23.9

2778

677
1397

3925
3535#
682

402
5?7
2763
3536+
2314

2391
2850

SEG 0099

723
1443

S48

728
1448
2103
2835
2386
2639

2927
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DVKRCB.Pl1] 13-JAN-77 15:28 CROSS REFERENCE TRBLE ~-- USER SYMBOLS
3064 3219 3325 4o  3508%

RANSE 0004S0 1648 46 1018 1090 1162 1801 1873
3?603 3?83 3330 3463%  3509%

RAPRIOR= % 100

RSWREG= 000000 100 116

ATESTN= 000000 100 107

RUNIT = 000000 100 110

AUSHR = 000000 100 117

RVECT1= 000000 100

RVECT2= 000000 100

BEGIN 000600 206 cles 435 437 N81 483 711

1121 1125 1187 1283 1085 1380 1382
Eggg 2360 2364 2366 2476 2478 2886

3

ENOCT 015630 33888

ENDI 001040 273s

ENDIO 002254 59Ss

END11  0O024ie Byls

ENDI2 002550 6874

END13 002702 716 7338
ENDIY 003036 762 7798
ENDIS 003176 8254

END16 003350 879%

END17 003602 907 951
END2 001200 3198

END20 00M032 986 1023%
END21 004270 1051 1095s
ENDZZ2 004522 1122 1130 11674
END23 00Mb62 12138

END2Y 005016 1259

ENDSS 005152 1293 13104
ENDS® 005310 13568

END2?  OOSH44 1390 1407
END3 001334 3658

END30  00S604 14538

END31  0OS744 14998

END32 006104 15458

END33 006242 15918

END3M 006376 16374

END3S  DO6S34 16838

ENC36 006670 1717 17344
END3? 007122 1761 1769 1806%
ENOM 001470 HYils

ENO40 007360 1834 18788
ENDML 007514 19248

END42 007654 19708

ENO43 010010 20168

ENDMY 010144 20628

END4S 010300 2091 21084
END46 010436 2154s

ENOM? 010612 2208s

ENDS 001622 Y40 4578
ENDSO 010766 20628

ENDS]1 0Oll222 2290 2334s
ENDS2 011454 23sl 2369 24064

SEQ 0100

2932

983
2086
3293




DVWARCB MARCY!1l 27(1006) 17-JAN-77
DVKRCB.P11 13-JAN-77 15:28
ENDS3 011612 2452
ENDSM 011746 M8l o498 s
ENOSS (012104 25444
% 012240 259018
0ic4lN 2bu4 e
ENDb 001754 486 S03s
ENDBO (012652 o672 2716
END6]1 013110 74 2788
END6E2 013346 2816 28608
END63 (013600 2887 2895
ENDEM 014016 30008
ENDES Ql4e™M 3030 3073
END6E Qlv472 3103 3127s
END67? 015126 3143 3190
END? 002114 5498
END70 015546 3249 329%
ERRORS (000462 1678  3653#%
ERRORS 016614 3564 35848
ERRIS 0166 35878 3592
FISLVL 000466 1698 3430#
FISVEC 0O0046M4 1688  3429*
HT = 104000 S68 255
357 362
484 490
592 597
720 725
827 8S6
938 943
1025 1049
1134 1139
1241 1246
1363 1358
1486 149]
1593 1619
1726 1731
1832 1840
1921 1926
e0M9 20Sy
2156 2185
2288 229%
2378 2383
c48sS 2490
2592 ebel
703 e708
2790 sy
26899 2904
3028 3036
3119 Jlc4
3304 3306
HLTRDS 000430 1508 151
HLTS 016450 218 35508
I1SRe0 003710 982 3888
1 004376 1126 11328
1 006776 176S 17711
I1sAse 011330 2365 23718
I1SA63 013454 2891 28978

1S:14_ PAGE 94

LO8

CROSS REFERENCE TARBLE -- USER SYMBOLS

ApaY

nn
ﬁuw%
—CJ
O N0 D D -

O

= VDO NOUN L
STy 1 Nt
(Ta[ VIV 14V oo

) 0= 0=t =0 Pt Pt Pt P P s
SRR REFO

prorn
w&;Io—-
Or— L0

H2
£

BNp RS s

0= 0t et Pt Pt Bt e B e
O— W NWwowwn

85
én—o—-

SEC 0101
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DVKRCB.P11 13-JAN-77 |
ISR17 003436
ISR20 003664
ISR21  00M120
ISR22  00M3S2
ISR3? 006752
ISRMG 007210
ISRS1  0110SM
ISRSe  01130M
ISRe0 012502
ISR61l 012740
ISRe2 013176
ISR63  0IMN3I0
ISRES  OivleM
ISREE 014402
ISRE?  Dl4b46
ISR70 015270
KITS 016000
LADS 000470
N = 000071
OVERS 016004
016254
POPERl 016260
POPES 016112
POPR 0lb2e4
POPS 016060
POP7 016374
PRINTR 016656
PRINTS 016666
PUSHR 016172
PUSHS 016020
PUSH7?  0lE344
PWRVEC= 000024
RESTRT 000222
RETURN 000472
RTA17  0OM20
RTAR20 0036
RTA21 004102
R22  00M33M
RTA37 0067M
RTA40 007172
RTRS 11
RY 1
RT 1e4bY
RTRe1 012722
RTRe2 013160
RTAE3 013412

17-JAN-77 15:1

9098

4 PRGE

95

MO8

CROSS REFERENCE TABLE -- USER SYMBOLS

12198

S55s
12658

2594

3105

803
1902
J4B85s
1706

793
1892
3086
1697

1748

1047
1994

208s

1037
1984

2076

6938
14138

27948

34988

1191
2040

2357

1181

34698
2348

SEG 0102

7398
14598
21148
28668

1237
2132

247s

1227
alee

2466




DVKAC8 MACYLLl 27(1006)
13-JAN-77 15:28

DVKRCB.P11
RTRGS 14106
RTR6H 14364
AT
SAVRTS 016N
SAVTPS 000506
SCOPE = 104400
SCOPES 015702
SPRCE  000M7S
STRCKO 000510
STRCK1= 000511
STACKZ2 000Sle
STACKM 000S1Y
STRCKE 000516
STRCKB8 000520
STRK10 000532
STK16 003244
STKN?  010S0M
STKS0 010660
STKS7? 012306
SVLADS 015766
SH08 = 000400
SW{0S = 001000
SHI0 =

SHdil =

SKi2 = 010000
SHi3 = (020000
SHIN = ONOOOO
SH1S = 100000
e B
TRAPER 016442
TSA13 002640
TSAlY

TSRS 005106
TSR27  00S400
TSR36 006624
TSA4S 0102
TSRS 001560
TSASY 011?0%
TSR6 00171
TS71 000722
7STI0 00213
TSTI1 00ee7e

17-JAN-77

i
]
3l6ls
32678
JS00#
1778
678
792
1581
216

220

3044
3117
3163
3263
3511

1S:14 PAGE 96
CROSS REFERENCE TRBLE -- USER SYMBOLS

3168
3274

332
964
1650
2347
3iM!

292
1232
2035
3157

350
1576

3253

32b4#*
3346#%

1277
2034
3262

NO8

3183 3203
3289 3309

’8 42y 470 516
1036 1108 1180 1226
1696 1747 18189 1891
2419 2465 251l 2557
3247 3362

338 384 Se2 568
329 1426 1472 1518
ie7 2e8l 2299 2425
198 3263 3304 3469

3% S34 580
1622 1668 1909 1955

3399

33854
3403
429 47S 52l 567
1328 1374 1425 1471
2080 2126 2173 2227
35444

700
1420
207S
2801

898
1825
2681

1244
2437

751
1655

2562

SEQ 0103

746
1466
212l
e8/3

916
1843
2735

797
1701

2609
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DVXRCB.P11 13-JAN-77 15:28 CROSS REFERENCE TRBLE -- USER SYMBOLS
IST12 002430 6558
IST13  002S66 7018
IST14 002720 7978
TSTIS  0030SY 7938
IST16 00321M 8398
IST17 003366 893s
1872 001356 c87¢
15720 004620 %S
TST21  0O40SO 10378
1ST2e 004306 1109s
15723 004540 11818
ISTe4 004700 12278
15725  00SO34 12738
1STee 005170 13244
15127 005326 1375‘0
15713 061216 3334
IST30  00S46e 14218
1ST31  00Sk22 14674
1ST32 005762 15138
15133 006122 15598
IST™ 006260 16058
IST3S  006uIY 16518
IST36 006552 16978
15137 006706 17488
TISTY 0013Se 3798
IST40 007140 18208
TSTYl 007376 18928
IST42 007532 19388
TIST43 007672 1984s
ISTW 010026 20308
ISTMS 010162 20768
IST46 010316 claes
ISTY7 010454 21684
1STS 001506 4258
1STS0 010630 c2ezs
ISTS1 011004 22768
15152 0Ol1240 23488
IST53 011472 24c0s
ISTSY 011630 c4ebs
TSTSS 011764 cslcs
I1STS6  QOl2lee 25588
1STS7 012256 260U
1ST6 001640 Y4718
IST60  0Ol243e cbS8s
I1ST6l 012670 27308
1ST6e 013126 28024
1S163 013364 2874
ISTed 013616 2953t
TISTES 014034 30128
1STeb 014312 30848
1ST67 014530 31428
1577 001772 5178
1S770 015152 32488
TTYOUT 000S46 1918 3144 3250 3347%
TYPCNT  00O0SY0 1888 3SB4x  3585%  3591#
TYPE = 000004 768 3149 3255 3371 3552 3556 3563 3590 3bae 3658
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DVKRCB.P1! 13-JAN-77 15:28 CROSS REFERENCE TABLE -- USER SYMBOLS

YESRT  000SM2 189s el3

$APTHD 00043C 136 1424 149

sBeLL  000SO4 1768 3552

SCPUOP  00OM2S 1188

SUEVCT 000410 1098 20l

SOOAGN 015660 3367 3375 33818

SENDRD 015650 89 3377%

SENDCT 015630 33698 3388

SENDMG 015664 3371 3383s

SENULL 015676 33858

SENV 000420 114s 2e3 3565

SENVM 000421 11Se 3142 3248 3675

$EOP 015604 33618

SEOPCT 015622 33668 3370

SETABL 000M20 1138

SETEND 000430 1258 148

SF = 000SS0 788 256 2578 cbl cecs 266 2678 27l 2728 276 2774 302 3038
307 3088 3le 3138 317 3188 322 3234 348 3498 353 3548 358
359s 363 3644 368 3698 394 3958 399 400s 4O 4058 409 4108
414 4158 439 Y408 445 Y468 450 YS1s 455 4568 460 Yols 485
4868 49l 4928 496 4974 S01 S0es 506 S07s 532 5338 537 538s
S4e 5438 547 S48# SS2 So3s 578 5798 S83 S84s 588 S89s 593

- S48 538 S99 624 baSe 629 6308 b3y 6354 639 6408 644 b4Se

670 6718 675 6768 680 6Bls 685 6868 690 69ls 715 7168 721
7228 726 7274 731 7328 736 7378 761 7628 767 7688 772 7738

777 808 8l
%?s 857 gs8s  B62 8638 867 8688  B72 375:: 877 853' 882 g83s
G408 94y 4S9 9508 954 9558 976 9778 985 98es 991 9928

9% 997 100! 1002 1006 1007¢ 1011 10ies 1016 10178 1021 10228 1026
10278 1050 10Sis 1058 10S9s 1063 10648 1068 10698 1073 1074s 1078 10798
1083 1084s 1088 10898 1093 10948 1098 1099¢ 1120 11218 1129 11308 1135
11368 1140 11418 1145 11468 1150 11518 1155 11568 1160 11618 1165 11668
1170 11718 1196 1197¢ 120! 12028 1206 12078 1211 12128 1216 12178 1242
12438 1evy? le4Bs 1252 12538 1257 12588 1262 12638 1292 12938 1298 12998
1303 13048 1308 13098 1313 1314 1339 13408 134 13458 1349 13508  13SM
1355 1359 13608 1389 13908 1395 13968 1400 14018 1405 14068 1410 14118
1436 14378 1441 14428 1446 14478 1451 {4528 1456 14578 1482 14838 1487
14888 1492 14938 1497 14988  150¢ 1503s 1528 1529s 1533 15348 1538 15398
1543 1S44s 1548 15498 1574 15758 1579 15808 1584 1585s 1589 15908  ISM
15958 | ib2ls 1625 16268 1630 16318 1635 16368 1640 16418 1666 16678
1671 16728 1676 16779 1681 16828  ib86 1687% 1716 17178 1722 17238 1727
17288 1732 17338 1737 17388 1759 17608 1768 17698 1774 17758 1779 17808
1784 17858 1789 17908 1794 179Ss 1799 1800 1804 180Ss 1809 18108 1833
18348 1841 18428 1846 1847s 1851 18528 1856 1857% 186l 18628 1866 18678
1871 18728 1876 18778 1881 18828 1907 1908% 1912 19138 1917 19188 1922
13238 1927 1928¢ 1953 19548 1958 1959¢ 1963 19648 1968 19698 1973 19748
1999 c000s 2004 20058 2009 20108 2014 20158 2019 20208 2045 s
c0S1s 2055 20ses 2060 20bls 2065 206bs 2090 2091s 2096 20978 2101 2l02s
2106 21078 2lll elliss 2137 21388 2142 21438 2147 clyss 2152 21538 2157
21588 2186 21878 2191 2l32s 2196 21978 2201 2202 206 2078 2211 ccles
eeH0 cedls 2245 cc4es 2250 22518 2255 22568 2260 ccbls 2265 ocbbs @2
22908 2297 2298s 2302 2303s 2307 23088 23l¢ 2e313s 2317 23Jl8s 2322 2323s
2327 23c8s 2332 23338 2337 23388 2359 23608 2368 23698 2374 23758 2379
c380s 2384 23858 2389 23908 239 2395s 2399 e400s 2404 240Ss 2409 24108
2435 243bs 2440 c44le  u4s 24468 2450 24Sls 2455 24568 e4sl 24Bls 2486
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!

| 2 ik S
eSMs 2622 26238

S, B 0,

2761 27628

S, g o83
230ls 2305 23068
S X3 e

3067 30688 3072
3i2ls 3125 31268
3212 32138 3217
33038 3307 33088
3342 33438 3545

SFATAL 000402 1068  3S57#
T42 015640 3372
= 000003 14 15
SHIBTS 000430 1438
SICNT  000S03 1748 3401 3403
SILLUP 017136 3632 36618
sMAIL 000400 1048 144 148
$MBADR D004 32 1448
SMSGRD  0OOM14 1118
$MSGLG 000416 112s
g A - .
s #* 4
SPAS 36 1468
SPOMER (017144 3659 36648
SPSW 000432 1528 153 X,

SPURDN (17014 2ls 36328 3656
SPWRMG (017132 36598
SPWRUP 017062 3641 36468
$SAVRG 017142 3640% 3646 3647%
SSETUP= 000020 828 3363
$SP 000434 1548 155 25c#
680 620
1192% 1198 1238+#
1576 1616% 1622
2001 2041% 2047
75 2669% 2675k
3033% 3039 3100#%
3537%
SSTUP = 177777 g82s
$SvPC = 001000 878 92
SSWR = 160000 14 158 3356
SSWREG 000422 1168 3147 3253
STESTN 000404 1078 229% 273

3348
262?

808
14

3383

299

1617
229
2979
3532#

573"
2628t
S50

27?1
2
2916.

30931
3076
31314
322e
33134

3410%

345
988
bb3
371
3034

DOS

99
CROSS REFERENCE TABLE -- USER SYMBOLS

57k
e¢b3e
Lty

e77¢es

3575#

528"

26338

55200
2776'
5883
c32ls
€993
3048s
3102
31908

3227
33198

4y
1132
177}
2483
3107

44

810
1432%
1837#%
2293*
2753
3192#

3383
3399

1167
1806

488
1193
1838
25e4
3193

350
904 %
1438
1843

c81l3%
3198

3660
3550

S03
1213
1878

529
1239
1904
2570
3299

390#*
910
1478%
1903#
243l %
2819#%
3290

3554

1259
1924

575
1295

2619
3438+

b2l
1336
1996
2676
3439+

3572

b4l
1356
2016

667
1392
2042
2748
3453#

X
10S4+

1955
es

2984
443

687
1407
2062

SEG 0108

2538s
2533
2b48s
e?
27578
2791
c844s
2900
29368
3029
30638
3120
32078
3302
33348

718
1433
2093
2820
3486#%

S74#

1570%
1997«
cSbx
3027%
464 %

733
1453
2108
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215y 2208 eebe 2334 2406 eyse 2498 2544 2590 2644 2716 2768 2860
2937 3000 3073 31e7 3233 3339 3395 3406%

STN = 000001 NS

$TP8 000S

Se 1938 2es 3170% 3173% 3276% 3279% 3688+

$TPS 000SS0 192¢  3159%  316S% 3171 3174%  3265% 3271% 3277 3280% 3686

S$ISTN 000434 1458

S 017154 2ly 36758

SUNI 000412 1108

SUNITM 000440 1478

SUSHR 000424 1178

= 0l7224 8ls 82 87 g8s 308 928 %63 132 1338 135% 1378 1498 1518
1538 1558 1578 159s 1614 199 210 +h 258 264 cb9 274 300

305 310 315 320 346 351 356 361 366 392 397 402 407
Y12 Y43 448 453 458 489 494 499 504 S30 535 S40 S4S
cs0 576 581 586 591 596 622 627 b3e b37 b4e 668 673
678 683 688 719 724 729 734 765 770 775 780 811
816 821 826 855 860 865 870 875 880 912 917 922 927
932 937 942 47 952 989 994 999 100M 1009 1014 1019 1024
1056 1061 1066 1071 1076 1081 1086 1091 1096 1133 1138 1143 1148
11583 1158 1163 1168 11 1199 1204 1209 1214 1240 1245 1250 1255
1260 129% 1301 1306 1311 1337 1342 1347 1352 1357 1393 1398 1403
1408 1434 1439 1444 1449 1454 1480 1485 1490 1495 1500 1526 1831
1536 1541 1546 15872 15877 1582 1587 1892 1618 1623 1628 1633 1638
1664 1669 1674 1679 1684 1720 1725 1730 1735 1772 1 1782 1787
1792 1797 1802 1807 1839 1844 1849 1854 1859 1864 1869 1874 1879
1905 1910 13915 1920 1325 1951 1956 1961 1966 1971 1997 2002 2007
2012 e01? 2043 2048 2053 2058 2063 2094 2099 104 109 2l 2140
2145 2150 2155 2184 2189 2194 2199 ecO4 2209 238 43 2248 2253
2258 2263 2295 2300 2305 2310 2315 2320 2325 2330 2335 2372 2377
2382 2387 239 2397 c402 c40? 433 2438 2443 2448 2453 2484 2489
2434 2439 2525 es 2535 2s40 2545 2571 2576 2581 2586 2591 2620

30
2b2s 2630 2635 2e40 2645 2677 2682 2687 2692 2697 2702 2707 2712

32388 32394 3300 3305 3310 3316 332l 3326 3331 3340 33448  334Ss
3383 33868 33888 33898 34278 34c8s 34388 34398 34S3s  JUSHS 34758 34768 34Bbe
J4878  3499s 8 3S2ls 3522 3S31s 35328 3568 3570 3573 3596 3611 3614
3619 36268 3643 3662

.BIT = 177777 Ys 36 37 38 39 40 41 42 3550 3554 3572

.PR 0O00S44 1908 3595 3597#%# 3598% 3blex 3613 3616%

.PRBUF 017004 3600 3618 3622 36264

.PRF 016724 3602 36084

.PRL 016712 36038 3617

.$X = 000430 1324 137

..A = 016374 Sgg?: ggg?: 30208 3092% 30998 32388 3344s  3427% 34388 34S3s 347SE  34Bbs 3499

..B = 016400 29658 2966 23748 2975 30208 3021 3092% 3083 3099s 3100 J238s 3239 334448
3345 gq 78 34¢8 34388 3439 3J4S3s 3454 34758 3476 3486s 3467 34998 3500
35218 See 35318 3532

..C = DOOO®? 29658 29748 30208 3092 30998 3238¢ 33444 3427# 34388 34S3¢ 3475 34B6® 34994

- mm— —
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. ABS. 017224 000

ERRORS DETECTED: O
DEFAULT GLOBALS GENERARTED: 0

DVKACB, DVKRCB/SOL /CRF =DVKACB. SML . DVKACB. P11
RUN-TIME: 47 62 4 SECONDS

RUN-TIME RATIO: 267/114=2.3

CORE USED: 41K (82 PRGES)




